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+% Just as a mountaineer climbs a mountain — because it is there, so
a good mathematics student studies new material because
itisthere. — JAMES B. BRISTOL «

7.1 gfar (Introduction)
f3eioH® I8E Sdiefee € AABU I I I3 J 18BAT & Jde
T BT AUdH Ju= YITTH3 996 ©F Hafas w3 fen 3gt et
U T E%TS € ITaT J9aT Sl feT € BT HS YIS HY |
fesfeaas aBs, 8T € I0e 575 fwd 439 © 439eH §
ygTH3 d96 W3 for € 439e® ©f dIeaT dds € Hafas
AN CERE

e fa ffx e5a f fan »izas | ST faedaness T
nau3 | € 99 fig I ews € 3dtefew ' S99, 3 fea
geg3t yas Goerd fame fa | egda fdg 3 1’ fearafenr
J 3Tt At @%& f U3T 99 Aae 77 ? €T AT @86 fAagsT Fo=c
®et fegT fap e%s @7 © Sdtefes @ gu feg yrug dfemr G .W. Leibnitz
3, ferraws & ygt Seefe i@ E g 19T, € F fw (1646-L719)
5% feg Ag Y3t dtefes yru3 0% 95, €56 v wid3 feafedns nye@er w3 y3t
Sdlefes uzT a9s <t fou fafonr feafeares gaa mye@er 7 | fen 3t <t vfas g3
M TE3T e w@Et I 18ewes AT i fan us G SRz T 33T st SarusT i<, 3t
ged3t yras §'ser I &t wirt €7 us 3 €1 =ng & Afest u3T d9 Aae ot ? fem 3gt et
TUI MUt "I 319 MHBT IS me et I, i feafeas ot fafonr d<t T | fesfeaas
I&E o feaH I& f&uT TgaiT HRfast € 7% 996 € 93aT ar &a3tAT J |

(a) A€ eB& T Jdlefew U3 IS, 3T BH eB5 § U3T A5 T AT,

(b) &3Pt HI3T € 39913 B € I &% fWT U39eH U3™ A& ©F HAlAS |

Sudaz &t mifret fesfeaast € € gut &% Y93 gaetit 75, M& 3 fesfeaes
w3 A3 fesfeae® | feust €57 € fedsT gu fesfeaes s My @er J|
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&3 feafearas M3 MH3 feafeaos € Wu ffa 19w J fAn & a&s &t Hfsa yiw
T gy &9 afenr mfer I fAn & Aifis feafeas & fefarrs w3 fematifdar € set
fea »&t vimrg € gy <9 fammg d13T I | miagm™s, i3 w3 AgrfeasT fas fa Su-
Y 439" It §g3 39T St fegeny wefast § 7% d9s € BTt AW feafeaes &
I AST A T

fen mferfe f&9, WAt WruE My § md3 M3 AW fesfeaes w3 Gust € 99
He® gret 3 feafedans et Iaatar & wifors 39 AfHa Jutar |
7.2 fesfeaas & feedsins € @%< € gu f&9 (Integration asthe Inverse
Processof Differentiation)
fsedanms €t @2 fafonr & fesfeaas afde a5 | fan eos e fsedains U™ o495 ©t ar
3 Ag e8% T 3diefew e IfemT I w3 fen e u& nidu's T HSfed e%s U™ ads & St
ferar fapr 3 | fem fafon & fesfeaans At yst 39tefes faar AreT I

Mg I foitm Gergast 3 fegg adiE |
WA Aree gt far %(Sinxhcosx .. (D)
g(_j e ,
ix\3 =X .. (2
; 4 e = 3
M3 ix = e .. (3

At Sy IF fa milaes (1) fS9 %6 cosxe®a sinxer 3dtefe= 7 | fen § wirt

fem 3g7 St afde of fa cosx wr Yt Fdtefew (7t fesfeae®) sinxT Ifer3gt (2) w2
3
(3) 578 X W3 & T yAFRefee (7 feafeams) aiee X? wE e F I fea it
32 gae gt fan <t sw3fea A C, fan § s e85 Hiewm Afer 3, v S9lfe= fieg
I m3 fer st ot (1), (2) w3 (3) & I faw gu S foy rae Tt
3
%(sinx+C)=cosx, %(%+C):XZM§%(€X+C)=€‘

few 3gt mit Sue I {9 QUdas eBaT € wet-3diefew AT feafeaes fedue adt
T& | s (ST fegst evst f&9° 909 88 © nicfaes midt-3dtefew os, fAust § wrt
Tr3fed Aftet € AMo ST mes CE JeT ST H® g d YU3 Jd Aae JF | fedt aas
I fa C & feufanat new afde g5 | vAs f&g Cfea tanfles 9, e s S aes o
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AT fe3 3¢ w5 © fefds Yyt sdtefest 7 feafeamas™ § yruz Jav 7| fammer
formua gu &9, A< fa ffa ews Flem3gr I fa %F(XF f(X),maxel (#3T®)

?mmwc,(&mww)%wiw(xﬂq:f(X),Xel
fem3gt {F+ C,C e R}, f ¥ »<ct 3diefeet € ufsgeg § sam@er g, &g C
fesfeaons € Was My 8@er J |
fEust : f8a sdtefer =& ewat e ffd mius er »igd ger T | fen § wonle =,
He 8§ g3 hfen 39T € € 56 I fAne 3diefee niges | f<o gom99 75|
fX)=g(X)-h(X), yxelenmarygz ess f =g-—h3 feggad|
3t %:f’:g’—h’ 5% /() =g X -h(X vxeluzgerJ|
7 f/(x) =0, 79 v X e | Fet (UfdasusT 57%)
A | fdg xT g9z f © gow< < oo fAeg T w3 fen wet f fea mes T
Suaaz feust © migna feg fife feawer afem J faufsgee {F+C,C e R}, f &
A Wt Sdiefest S yes dgeT I |
ge it e 52 fag, [ £ (0) dx § T e oF & far et dtfet @y ufoea &
TaAEdr IfAn & x© 993 &9 f € md3 feafeaes € gu feg ufgmr ater 7|
ﬁﬁsag‘ufévw’l‘jf(x)dx:F(xﬂCf&'u@aﬂ
b qu b Rt 3 fr = £ (), 3ot y= [ £ () O e

YT 9% BT wiAt 36 fafumt g gt/uet iR er€uat & nigar ANg AdeT 7.1 fE9
faad age It |

Aaat 7.1
Aa3/Ue/ 9N Ig
jf(x)dx f @ x ¥ 593 fesfeaes

jf(x)dxi"e“—u'f(x) fescarss




238 Jfes

[f09dx femx feafeans e 9%
fesfedge agsT feasfeda® u3T gaaT
f @r fesfeaa®s fea e»s F fAne et
F(x) =1 (X
fesfearans feafeara® uzT a9 <t fafanr
fesfeaas e mes aet <t I H3fea At fAn & Mes
B dfde IS |
At ufgst 3 It 993 HU3I=YTS BT € Sdlefest € F3T AT oF | fegst g3t &

mﬁmémgﬁéﬁmmﬁlfw#ww@ﬁﬁs
ot I fagst €t =93 vt e®at € feafeaest § usT d9s fTg gatar|

Sdi@fe= Derivatives

' d Xn+1 N
- =X
) dx[n+1j

U 39 3 AT e
d
—(x)=1
o

(i) &(sin X) =Ccos X

(iii) %(—cosx):sin X

(iv) % (tan X) = sec’x

d 2
—_— — t =
(v) dx( cot X) = cosecx

(vi) %(secx)zsecxtanx

- d
(vii) v (—cosec x) = cosec X cot X

fesfeaes (ystadtefes)
Integrals(Antiderivatives)

Xn+1
Ix”dx= +C, nz-1
n+1
jdx=x+C

Imsxdx:sn x+C

Isin Xxdx=-cosx+C
jsecz xdx=tan x+C
jcosecz xdx=—cot x+C
Isecxtanxdx:secx+C

ICOSGCXCOIXCIX=—COS€CX+C
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i) (377 %)= = | 10'_XX2 - §nx+C
(ix) %(—cos‘1 x): 1ix2 f 1Cf(x2 =—cos ' x+C
(x) %(ta\n‘1 X) = 1+1x2 flf);z =tan i x+C
(xi) % (—Cot‘1 x) = 1+1x2 jlft(z =—cot™*x+C
e SR Sy
(il %(—cos;ec‘1 x) = ;LZ " f%: —cosec 'x+ C
(Xiv) % () =€ [edx=e"+C
(xv) &('09|X|)=% j%dx=log|x|+c
(xvi) %(Iga} =a [ardx= Io"’ga+c

W@%,Wwﬁaﬁﬁﬁﬁdd% T fagq a4t aee frost f<e
Y Y eHS YIH3 95 | fea = fan <t um yis <9 fen § <t fonrs f[Sg duer sdter
g

7.2.1 3T feafeara® el fami3a fenrfamm (Geometrical interpretation of
indefinite integral)

e B8 faf () = 2x3* [ () dx=x"+C »3F C& Fu-Ju ¥5* & w8t uift fefds
feasfeaes wge ot | yag feu A9 fesfeaes frmmifsa 33 3 fead fad o5 | fem 397
y=x2+ C, &g C i feufanat »es J, fesfeaost € ffq ufseg §ean@erd1 C, &
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fefds e yE's aod it ufgee € Sy Y Heg YUz gave I | feg Ag & rarfuz gu
&3 fesfeaes 7| fon nfast feg 99 fesfeans fa Uogsr & son@er I fAam er

gdT yUd T IBE SB T

AHe 393 C=0¥ Bt g y=x figer g A fea fen 397 v Ugg s I faner fivg
HE g3 TIC=1e e, Tad y=x2+1Ua8sT y=x*§ feq feaety-ua € s & 575
Us3INd fenr fee Igeig aes I YUz getd| C=-1, € et edd y=x2— 1Ugasr

y=x® & fea feaet y-ua € a8 5%
facava feur feT 39¢1® a9s 3
yy3z gt 91 few 337 C, € 97
USTIHT HS Bt ufgerd @ 39 UaTssT
T AT y-Ud € USTIHT UH 2% T
WMI C T faeava ot & &gt 39
UgrgsT @ Ay y-ud & faerava um
5 7 | fevst logsT fE9 gy & fioza
7.1 &9 anfem fapnr T

< wint fegst UargsT & JuT x =
azwdes 3feggaae ot Ifdza 7.1
gt a> 0fgn T ifeg fifer a<
O BE S AT JIAefa Iu™ x = a
UgEsT y=x,y=x2+1,y=x2+2,
y=x'-1y=x-2%& g fdgnt
P,P, P, P, P, wfe 3 deet T|
3t fegst font fdgmt 3 %ETH'&
2a 7 | feg ean@er I fa feast Arfomt
TS | few 33T
ijdx=x2+C=FC (x)

I

\ \ BN

N - N T N

- N N

£ e 5 S

N s S s
N DN N DN

~

Xl

A

® N

BN
A
3

fggg7.1

(s s )swugraserJ fa=aaty=F_(X),C € R, € 34T x=a,3'& o< T8 fdent
I TIdT TP AUIH JUTRT AHT39 T f8F a € R fer 3 Qud3s I& f&fom ags
[f()dx=F()+C=y (5 58) =ae e ufeea § sam@er T | CT fefiz e
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WMTUS AHT3T ITEIS J9d U3 d13T 7 AaeT J | &3 fesfeaes & feat frmrfiza
e T |
7.2.2 MAF feafearast € g% 3= (Some properties of indefinite integrals)
fen Qugrar f[ee nit wE 3 fesfeses € gz et § YUz Jatar |
() I et a3t ST fsedarms W3 fesfeardns fEa ene € 8B 75 |

d

&ff(x)dx:f(x)

"3 [ /09 dx =f(x) + C, & C ey feufamat niws 1
UH'E Hs 88 fa F, f e fea ySiadiefes 9 mags

SR =109

ey [Tk =Fx)+C
d d
ferr wet &ff(x)dx:&(F(xHC)
d _
= &F(x)— f(x)
forr It ot Sue I f

f/(x) = % f(x)

w3 fer et [f0gdx =f(x) +C
e C fea feufammat e T fam § fesfeaons e s afde a5
(i) © &3 feafeans frust € Sdifee gor99 95, Tadt © fea 7t ufse § sar@e
Te 3 fen 3gr e Mid® Ia |
UHE Ha 38 f w3 gfensgieeessd I fa
d d
&jf(x)dx_&jg(x)dx

a %Uf(x)dx—fg(x)dx]zo
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A [ () dx—[g () dx=C, fifer C féear =masfea Aftmm T1 (fa€°?)
a [feoax=[g()dx+C
fo met =aa & ufgmw [ 09 dx+C,,C, <R|
A {909 dx+ C,., €, eR| foar mis 751

ferag [ 00 [g(x) dx mEm s

& ufg=a {[1(9 dx+C,C, eR| w3 {900 dx+C,.C, eR} &t
mEsaT g 3T [ () dx= [g(x) dx, fey & eam@e 77 | fam fee denfieg &
et faeg &9t T

(iii) j[f(x) + g(x)}dx:j f (X) dx+jg(x) dx

UHE e (i) 3%

%U[ £+ g ax] = £ () +9() -
THURAS U J fa
Sl ae [ge = L [1eocr I [aW o= 10+ 900 . 2

fer3grare (i) Stamatffg (1) M3 (2) sB Y3 derdfa
[(F9+909) ax=[ () dx+ [ g(x) dx
(iv) ﬁﬁ@ﬂ?&aﬁfﬂwk,%wjk f(x)dx:kjf(x)dx

wre e ()5 [k f (9 de=k ()
dx

»@%[kjf(x)dx]:k%jf(x)dxzk f(x)

fer wet e (i) et =e3 aee T ot we Tt far [k f(x) ax=k [ () dx

(v) e (i) (V) e f,f, .., f sB&t et U3 Aftorr W3 smafex Afierr=tk
k,, ..., k € &gt =t fonmua gu 13T A7 AaeT 7 fas fa Jat fiaa fapnm |



feafeaes 243

I[klfl(x)+ ko f, (X) + ...+ K, ()] dx
= o [ £,00 Ak, [ £, 09 dx ot K [ () dx
&3 3T evs Tt 3dlefes usT a9s © BEt winl #igq famns &% fem sgT e ess
& ¥9¢ It fran er Sdlfes fear Ifenm ems 7 1 831E evs &t fen 3gt et w, A fE3 38
eHs Mt Fdlefew uzT a9 € BEt ISt AiEt 7, § fadtue o feafeaons gaaT afde
IS | AT 99 @ergdat 3 AMSE I |
Gewge 1. fadlue feut €t 93" dav I¥ I6 fafunt ewst v widt 3defes uzraq |

(i) cos 2x (i) 3@+ 4% (iii) %,x;to

)

% :
(i) it & fem 397 € 8% ©F 87 d9aT grge It frAneT Sdtefee cos 2x T |

d
wAt Aree Of fa v (sin 2x) = 2 cos 2x

i _1d —i(isinZXJ
Gy COSZX—E&(SII”IZX = x|\ 2
v £ EN ~ 1 - N
fen &€t cos 2x &7 feq #iet sdlefew ESHZX JI
(i) it e fem 397 & e%a € 4H q9aT Ige Jf fan e Fdiefew 32+ 4% T
d /3 4\ _
o< &(X + X )—3x2+4x3
fem BEt 32 + 43 T At Fdtefee ¥ + x4 T
(iii)y »t A ot fa
9 ogx) =2, x> 0mF Liog (-x)] =2 (== x<0
dx X dx - X X

fegat St & fecdter 59e 3 AT frser T | %(|09|X|)=%,X¢0

fewaseh [~ ck=log|X , i fir — @ Beafeer e o
Gegae 2. Jo oy feafeams™ & usT &9 |

3_ ) 2
0) .[sz " x (ii) J.(xg +1) dx (iii) J‘(x3 +2€" —%) dx
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I8 wA YU Sew 9 ¢
j’i;ldx:jxdx—jx-z &  @EvEE)

Xl+1 X—2+1
(1+1+01J_[T+1+CZ} C,, C, feafeandns € »ws g5 |

2 -1
X X
Zic-2__cC
2 Tt 1

x2 1

=2 +=+C,-C
2 X 1 2
x* 1 os . - -
= 7+;+C,f€HC=C1—C2feawfew&!mmzrl

(i) fea

j(xg +1) dx= jxg dx + jdx

§+1
X2
= 3—+2ex—log|x|+C
—+1
2
2 3
= gxz +2€ —log|x +C

Gegae 3. Io fafunt fesfegest & U3t a9 |
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0) _[(sin X + C0S X) dx (ii) _[cosecx(cosecx+ cot x) dx

1 smx
("') J‘coszx

(I) fewr
I(smx+cosx)dx=jsinxdx+Icosxdx
= —Ccosx+sinx+C
(i) =
_[(cosecx(cosecx+cot X) dx:jcoseczx dx + Icosecxcot X dx

= —cot Xx—cosec X+ C

(iii) feg
1-sinx 1 sin X
dx = dx — dx
I COS?X -[ cos?x I Cos?X

:jseczxdx—jtan X SEC X dX
=tan x—sec X+ C

GeaaE 4. f(X) = 4¢ — 6 378 YIH3 e&a f v wdt 3diefee Fuzr a9 feg
F(0)=371

5 f(x) T fEa et 3dtefes x4 —6x T

GO %(x4—6x) = 4 -6, fem B A = F,
F(X) =x* — 6x + C, 3% =anrfenT fapur T g Cwes T

fegraforr I fa F0)=3

fen3yuzderad 3=0-6x0+C

| c=3

fen 3gT B3ter Mdt 3dtefes F (X) = x* — 6x + 3 3% Yg'H3 ffa fedus e&a 71
feyet :
(i) it Sue gt fa ae fa f evwet Sdlefee FI 3T F+C, fAg Cfeanms d, st
f g feg met Sdiefee T Ifon 3+ Ae fa niml a5 f ev et fea 3diefes FusT
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(if)

(i)

Jfes

T 3ot FIRT et S nes Az & { & mE3 widt 3diefes foy maw It fagst
F(X) +C, C e R¥ gy f&g ganfenr A7 Ager J | fegea =93 f[f9, 39 3
ffq 39 73 & HgHe daaT Agdt geT d fAr 3 Cer R yA s yuz Jer g ma
frame 53t @0 €3 3¢ e%s v fEa fedue midt Sdefer yuz gur d |

Fe-ae F§ »udt e8st fAe T ggue, swoed, 98 W3 €66, f3aeiat vz
Eue fadei3t ewat nife € gufegTamBer AT aat gevd | fen &et j f (x) dx

n - . a —_ 2 o o
U3T gI&T MUT I AreT T | §Ees : fadhue feut 5 je “dx & u3T IIET HIT
&dt T fa@fa fadtue a7& wirt €7 e%& e U3 &4t a9 Aae It fAr e 3diefe=
2 a2
e’ Jl
7ie’ fa feafearans €7 9% x, € fewr=r Jg qet I 37 feafeaas € g3 e 6 forry

5% s<lalads a9 f&w Arer 7 |1 §egds

4+1

Iy“ dy=" +C=%y5+c

4+1
mfe™ 7.1
Jo fou exat & wict 3defee (feafeamw) fadhus fedt e uzT 59|
1. sin2x 2. cos 3x 3. e
4. (ax + b)? 5. sin2x—4e*
Jot fay feafeqes § usTaqd |
1
6. [(@e¥+1)dx 7. Ixz(l—?)dx 8. [(ax® +bx+c)dx
2
1 X2 +5x° —4
2 X - N —
9. I(Zx +€)dx  10. I(«/; \&} dx 11, f 2 dx
X2 +3x+4 X3 —x?+x-1
. ITdX 13. J.de 14. I(l—x)&dx
15. J'«/;(3x2+2x+3)dx 16. I(Zx—3003x+ex)dx
17. I(2x2—3§nx+5&)dx 18. I%cx(secxﬂanx)dx
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sec? x

cosec? x

dx 20. IZ_—SS?nXdX
COS™ X

yAs 21 M3 22 [So Agt @39 erde a9 :

19. |

1
21, (&+ﬁj ot 3 ¥

1 1 2

(A) %x3+2x2+C (B) §x3+%x2+c
3 1 3 1
(© §x2+2x2+C (D) gx2+%x2+c

22. H@‘ﬁ%f(x)=4x3—x—3; farfee (=03 () J:

el 12 ) el 1
x 8 x* 8
C xt 4+ L 129 129
() X3 8 (D) X4 8

7.3 fesfeaans @t feabnt (Methods of I ntegration)
fugs gmar feg »iAt fegd frag feafeaest €f 99ur aist, 7 I e8aT & Sdlefee &%
HI&3YI=d YTUI d13 AT Aae AS | feg fadtue 3 niofes feut t, fem fee fem sgt &
%5 Fetamdistaet I Ifamer Sdiefee f I fen 3 f e fesfesms yuz gt T 1ug
fadhus 3 miurfaz feg feut 9u3 ewat & Afast <9 gg3 Aat a4t T | fer wEt fesfeamst
& yied gu ST 39Ets aae I€ Gust U3T J9s € et g 99 feubit feafiz a9 &F
7393 J | fegat f&9 Wy feubnt I fou 3 mrorfaz a5 |

1. yStHaUs gvaT fesfearans

2. wy3s f9at [T 37 oo feafeadns

3. »imt gat fesfeaans
7.3.1 YIIAgUE enaT fealedrdrna (Integration by substitution)
fen Qugmar feg mit yStharus fedt enmer fesfearans 3 fegd agfar | mae I8 X

&t ST gese B x =g () ySHEUs gae 9T e e fesfeaes _[f(x) dx g9 gu
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feg gefem AT AgET T
1= [f0)dx I femra a1

ge x = g(t) yStHaus a9 37 fa % =g'(t)

AT dx = g'(t) dt feue gt

fem 3qt 1= [F09 dx=[ f{g®)} g'(t) at

USteus gniaT feafedas € st feu 9% €8 €7 539 A8 3% Qusygy wiamet &g
fea HI3=Yas wwra 7 | fer e viear Sar@eT onnT HI3=Yds I fa Aot yStraus at
g ? it fEq fen 37T € e%s € BT ySHaus gae gt faneT 3diefes fesfeads
feg 32, faefa Jot fedbit @ergast 7% AURE 3T fariT I |

Gegge 5. Jo' fou ewat v x € gu3 <9 feafeaes aq |

4 2
() sinmx (i) 2xsinpe+1) (i) T
Jx
. sin(tan™' x)
iv) ————>
iv) 1+ %2
T
(i) wrt Aree gf fa mx g Sdefer m T 1 w3 mx = t yStwerus J9e I, 3T fa
madx = dt
. 1¢. 1 1
few et jsnwdx:—jsntdt = _——cost+C =— —cosmx + C
m m m
(i) X2+ 1T Fdiefew 2xT Ifen Bt vt X2 + 1=t T yStAgys €t <93 doe gt 3°
fa 2x dx = dt

fem wet IZxQn(x2+1)dx:Idntdt = —cost+C =—cos(x+1)+C

1

1 -1 1
(i) /x = FtEfer X 2=ﬁ T | fer et mit

1
VX=t & yHArans s agE or iy —Z&dx=dt fam a8 dx =2t

dtyuz ger |
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4 2 4 2
femmet [ /e &dx:jw = 2tan’t sec’t o
Jx
feg 3 »ml gHeT ySHEUs tant = u dae IF 3ffa sec? t dt = du

5
few et 2 [tan‘t sec’ ot =2 [u’ du = 2%+C

= étan5t+C (fa@fa u =tan t)
= étansx/;JrC(%r@‘l%rt:\/;)

4 2
few Bt Itan \/%/_iec \&dx:étan‘r’\/;JrC

THT EES tan /x =t YSHEUs g9

1
tan™'x € Sdefex 7 7 Ifern gt nit tan x = t yStHeus € =93 g9 ot

1+x

dx
1+ X2

I fa =dt

sin (tan~1x .
mijdx:Isntdt =—cost+ C=-cos(tan?x) + C
1+ X2

fesfearast € =93’ yStmaus feut f&g a3t aret T, 3 999 dav of | feast
& e fSw faat fan o= 3 =afamm ar=ar|
Itan x dx=log|sec x| + C
sn x
: 5 i tan x dx= | —— dx
»mﬂ'wa—tra'rﬁrf jcosx
cos X = t, ySHEUs &9 3fa sin x dx = —dt
I .ftanxdx:—j%:—log|t|+C=—Iog|cosx|+C

nMIgT3 Itan x dx =log|sec x|+ C
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(i) _[cot xdx=log|sinx|+C

COS X

@Wﬁﬁjcotxdx:jmdx

sin x = t y3Eus &3 IHfa cos x dx = dt
dt
I J‘cotxdx__[T
= log|t|+C
= log|sinX+C
(iii) _[secxdx=log|secx+tan x+C

Sec X (Sec X + tan x) dx
SeC X + tan X

H—.—(i;ugTﬁ-fa-, f%cxdx:f

SeC X + tan X = t ySHEUS &F  sec X (tan X + sec X) dx = dt

fg):rgs}J‘%cxdx:j%:log|t|+0=Iog|secx+tanx|+C
(iv) _[cosecxdx:log|cosecx—cotx|+c

COSEC X (COSeC X + ot X) dx
(cosec x + cot x)

A& Ut I, jm%cx dx:_[

COSEC X + cot X = t YSHEUS a9
3t — cosec X (cot X + cosec X) dx = dt

fen ot jm%cxdx:—jgz—logn|=—Iog|cosecx+cotx|+C

cosec? x — cot? x
—lo | |+C
| COSEC X — Cot X |

= log|cosec x—cot x|+ C
Gugde 6. I5 foy feafeaes § uzr a9 :
1
1+tan x

dx

0) _[sin3xcosz x dx (ii) j%dx (iii) ,[

)

37 2



fesfes@s 251
(i) feg [sin® xcosx dx = [sin® x cos’x (sin x) dx

= I (1— cos?x) cos®x (sin x) dx
t = cos X yStHEUs g4 3t fa dt = —sin x dx
fem ®et [sin?xcos’x (sin ) dx=—[(1-t*)t* di

—[@ -t*) ot :—[2—%}0

= —Ecos3x+lcos5x+c
3 5

(i) x+a=ty3meaus gds 3 dx =dt

.[ sn X dX:jsin(t—a)d,[
sn(x+a) i

femr Bet

J-sintcosa—costsina
snt

dt

cosajdt—sin ajcottdt

(cosa)t—(sina)[log|sint|+C, |

(cosa) (x+a) —(sina)[ log|sin (x+a)|+ C, |

= xcosa+acosa—(sina)log|sin (x+a)|-C,sina

sin x
fem st jm =xcosa-sinaloglsin(x+a)|+C
feg =—C, sina+ acos a, ffa 39 feufammat »es 1
COoS X dx

(iii) Il+tanx -[cosx+sinx

1J-(cosx+sinx+cosx—sin X) dx
COSX+Sin X

1J- .rcosx smx
cosx+smx
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_+_ _fcosx smx
cosx+smx - (1)
N £ L L Y
cos X+ sin X
g€ CcosX + sin x = t YIEUs d9 37 fa (—sin x + cos x) dx = dt
1= (% jogl+C -
fem =gt —JT— oglt|+ > = log|cosx+sin X+ C,
| & (1) <9 dus 3wt w@e ot
dx x C C,
J. =2+ 24z Iog|cosx+smx|+—
l+tanx 2 2 2
x 1 . C GC,
= Z+=log|cosx+sin X +—2 + =2
2 2 2 2
=§+£Iog|cosx+sinx|+c, C:&+&
2 2 2 2
| g 7.2 |
1 337 ST € yHst ST 99 €8 € feafeaes usT a3 |
2X (|ng)2 1
1. 1152 2, —— 3.
+ X X X+ xlog x
4. sin xsin(cos x) 5. gn(ax+ b) cos (ax + b)
6. Jax+b 7. XNX+2 8. X1+ 2X?
1
X
9. (4x+2)x*+x+1 10. 11. , x>0
( ) x—/x Jx+4
1 X2 1
12, (¢ =13 x° 13. 7o o3a 14. ,X>0,m=1
(2+3X ) X(Iog X)m
X X
15. m 16. g2x+3 17. o7
etan‘lx e _1 X _g 2
18. 1+ x 19. & 11 20. m
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sin~x
21. tan? (2x - 3) 22. sec? (7 — 4x) 23.
J1-x2
_aq 1
pq, 200SX=3NX oo - 26. cos/x
6cos X+ 4sin x cos?x (1—tan x) Jx

COS X

27. /sin 2x cos 2x 28. ﬁ 29. cot xlogsinx
1+sinx

sn x sin x 1
30. 1. —m 32.
1+ cos x (1+ cos x) 1+ cot x
1 tan x 1+log x)°
33. 34, N7 35. (1+1ogx)”
1—tan X Sin X COS X X

(x+1) (x+log x)2 x3sin(tan‘1x4)

36 37.

X 1+
YRS 38 M3 39 [So Agt @3g et 9= a9 :
38, J-10x9+1010XIog§dx S
X" +10*

(A) 10v—x*+C (B) 10¢+x*+C

(C) (O=x91+C (D) log (10*+ x°) + C
50, [—X  mmd

Y sin?xcos? x ‘

(A) tanx+cotx+C (B) tanx—cotx+C

(C) tanxcotx+C (D) tanx—cot2x+C

7.3.2 f3ai3t IgAHa et @93 3% fedfeardaa (Integration using
trigonometric identities)

e fesfedids fET o3 f3aeH3t e%a 73 I 05, 3T WAl feafedo® u3T a9 & st
¥ IIANAT @t 293 a9w I AL fa I& fedtnt @earaat &% AHsTomT fapnr I |
Gegge 7. Je feg §uzrad|

() [cosxdx (i) [sin2xcos3xdx iy [sin°xdx

)

37 2
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(i) I3 cos2x=2co?Xx— 1§ &€ J9 fAan &%

cos2X — 1+ cos2x

> YUz ger Il

fenr wet .fcoszxdx=% .f(1+0032x) dx = %J.dx+%.f0032xdx

= Z-i-lSinZX-l-C
2 4

. . 1 : . - .
(i) S'EFrHsrsnxcosy:E[sm(x+y)+sm(x—y)],§Gr"e’aa' (fa€)
. 1 . .
3T jsn2xc053xdx=5[jsn5xdx—jsnxdx]
1

= —[—lcos5x+cosx}+c
2]l 5

= —i cosSx+lcosx+C
10 2

(i) I3 sin3x=3sinx—4sinx3 A figer J fa
3sin x—sin 3x
4

sin®x=
for =t fsjn3xdx=§jsin xdx—lfs'n3xdx
4 4
= —Ecosx+ic033x+c
4 12

gATges : [sin’xdx=[sin’xsinxdx = [(1-cos’X) sin x dx
COSX=tdyE I —sinx dx = dt

2 t*
—jdt+jt dt=—t+§+C

fewr wet Isin3xdx=—j(1—t2)dt

1
—cosx+§cos3x+C
f2yzt : f3aeiat IImiat €t =93 Jde J¢ feg eanTfenT AT AgeT J fa 8= €39 m3®
TS|
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| mfgmm 7.3 |
1 F22 39 T YR {9 399 %6 T fesfeaas u3Taqd |
1. sin?(2x+5) 2. sin 3x cos 4x 3. CO0S 2X €Oos 4x cos 6x
4. sin*(2x+ 1) 5. sin® x cos® X 6. sinxsin 2xsin 3x
) _ 1-cosx COs X
7. sin4xsin 8x 8. 1+ coS X 9. 1+ coS X
L sin? x
10. sin*x 11. cos* 2x 12. 1+ cosx
COS 2X — C0S 20t COSX—sin X
13 —— 14, VT S50 15. tan® 2x sec 2x
COS X — COS & 1+sin2x
sin® x + cos® x C0S 2X + 2sinx
16. tan*x 17. —Q= = 18, ———— —
sin“ x cos” x cos” X
1 COs 2X
. weer N
19. Sn X cos*x 20. (cosx+sinx)2 21. sin-1(cosx)
22. 1
cos (x —a) cos (x—b)
YRS 22 M3 23 [So At @3g et 9= aq |
sin? x — cos® X4 A
23. J dx gargd I :
sin? x cos® x
(A) tanx+cotx+C (B) tanx+cosecx+ C
(C) —tanx+cotx+C (D) tanx+secx+C
e*(1+x) =
—————-0X ggrga I :
24. -[ cos’ (€*X)
(A) —cot(ex)+C (B) tan(xe) +C
(C) tan(e)+C (D) cot(e)+C

7.4 99 UH e8%&T € fesfeaa® (Integralsof SomeParticular Functions)
fen gmar f<9 »irt I5 fou Hi3=Uds feafede® A3 e faag gatar w3 fegst &t =93
7% gHd HETU3 yfed fesfeaes § usT agfar |



a+Xx
a—Xx

=Iog‘x+\/x2—a2 +C

+C

fC @) [ = log| 2t

d ~ dx
@ Jrg-ziic @ j\/ﬁ
5) J‘ﬂzsin §+C ) .[\/7 |Og‘

g miAt Budas &3t & yifez gae ot |
. . 1 1
(1) it T x2—a? (x—a)(x+a)

1lxra)-(x-a) _i[L_L}
2al (x-a)(x+a) | 2alx—a x+a

x+a}

1
= g[Iog|(x—a)|—|og|(x+a)|]+C

X+ x+a +C

dx 1
fen wet _[Xz_az _{

= iIog
2a

(2) €u3az (1) & »igHa wrt Aree gt fa
1 1 [(a+x)+(a—x)} 1[ 1 1 }
RN pLan /ALl

aZ—x (@a+x)(a-x) |~ 2a

a-x a+X

dx
ferr wet faz—xz ZaU a+x}
= 2—[—Iog|a—x|+log|a+x|]+C

——Iog +C

2a

a—Xx

(1) ffa &t =93 st aret fett &t femfipur 33 7 5 f¥g Sigt Fratt|




(3) Ha B8 x=atano3€ dx=asec?0do
asec’0do

a® tan%0 + a®

1 1

fem wet J‘xz(?:rxaz ZI

1
T a

1 X

- jde=—e+C=—mn ZiC
a a

a

(4) He 38 x=aseco3Tdx=asecotanodo

asecOtan0do

Ja? sec?0 - a’

ferr & J‘\/xzdiaz :'[

= jsecedezlog|sece+tan6|+cl

2
_ log §+,{X—2—1
a \Va

X+ VX% —a?
X++/x? —a?

(5) ¥ ®8fa x=asno3= dx=acos6 do

dx
ferr &t J‘\/az—xz _I\/

= log

= log

acoso do

a’—-a’sn®

:jde=e+c=sjn—15+c
0

+C,

—log|a]+C,

+C,ffg C=C, —log|al

a

(6) Mo 38 fa x=atan® 3€ dx=asec® do

asec’0do

a’tan®0+a?

dax
ferr & I\/x2+a2 _'[\/

= j%ce do = log|(secO + tan6)| + C,

2
X |x
—+4=*1
a \a

= log|x++/x* +a’

= log

+C,

—loglal+C,

257
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()

(8)

(9)

(10)

- Iog‘x+ X2 +a’

+C,ffgC=C, -logal

feust e 3 Sl Ta3 s B A S IS IF ST AT YU I s A fd T e Uy
7% Qualt 95 W3 THT feafeaast v u3T a9s € Bet fegst € fifut =93 a1t
AT AIEt T |

feafean |—r o v s & st

ax® +bx+c’

2 2
a+bx+c= a{x2+9x+3}:a{(x+£j +(E—b—2ﬂf$u@’a+l
a a 2a a 4a

2
ENESPN

c b
azx+2£—tat|€3f dx = dtmg——E—_kz feve ST g uzrsaeT I fa
a

c b’
(g—rJeﬁagﬁﬁaﬁa&l@”W@?&m I k2 Tgufieaes
Aerd w3 fer gt fer e g usT g AT AgeT J |

SN Y N =

J‘m T 397 ¢ feafede® § u3Td9s € BEt (7) € 3gTidr fue 9T
YHfed F397 € 93" 794 fesfeades U3 disT AT AgeT I |

/78 p,q,a, b, cMI® 75, € 37T € feafedos usTd9s € et
wHt fen 3gT &bt @ T3fed Aftet A2 B Uzt aee J 3fa

px+q=Adi(ax2+bx+c)+B=A(2ax+b)+B
X

A I B, U3T I35 € BT wiAl €8 U™ & X € JEa M3 MEST & 9978d Jue

T IAMI BT U3 BT 3 fesfeaes ufost st uzryrfea gu feg ses aer J|
d - o - . Lo
IM T feafede® e H& U3T d95 © ST wmt (9) & 3g7 wiar

Jad +bx+c
=uiar w3 fesfeaes ufost gt uzr yifea gu feg ses Aer I |
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g, Gudazs feutt & g3 Geudst € AUTfe3T 7% AHSE T7 |

=) =

Gege 8. Jo fod feafeaont §ugr a9 |

N dx
O Nz

v

J8
0 foF | o = [ X LioglX=4c [7.4(1) 575
X*-16 I x*—4*> 8 T |x+4
dx
(“) J‘ZX X _I\/l—(x—l)z
X—1=tdue 3 dx=dt
dx dt
few =t = =snt({t)+C 7.4 (5) 5%
J‘\/2x—x2 J‘\/1—t2 © 74 7]
=sin'(x-1)+C
@m&ﬁzﬁw&%&miswaﬁ

dx dx
0 I —6x+13 0 fm () I\/5x2—2x
I :
(i) g x—6x+ 13=x—-6x+3F-F+13=(x-3)*+4
f dx B 1
x> —6x+13 (x—3)2+22
)-T??E@fsrx—?;—ts* dx = dt

few met dx

1t
Bt = —tan"—+C
fem I —6x+13 jt 2,92 2 2 [7.4(3) &3]
:}tan_1X_—3+C
2 2

(i) f&3T Ifenr feasfeae® 7.4(7) € gu e | wAt fesfeards € 99 & 95 fou 3g7
foue gt
13x 10

3x? +13x—-10= 3(x2+———j
3 3
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=3H%+Eﬂz—ezf} (g3 <oar TG 3)

6 6
dx 1 dx
ferr a2t j3x2+13x—10_3 ( 13)2 (17)2
X+— | - =
6 6
13 . -
< x+€=t Jys 3 dx=dt
dx 1 dt
et [ 131073 - (17}2
6
17
1 =%
= 7109 —%+C, [7.4(i) 3]
3x2x— t+—
6 6
X+13 17
1 5 6 1, |6x-4
= —log|—2—2|+C, = —log +C,
17 7|, 18 17 17 |6x+30
6 6
—ilog -2, ¢ +ilog}
17 | x+5| * 17 3
1 3x-2 1 1
-—lo +C =C +—I —
17 9 xs5| " »wWhereC =ty olody
o- dx dx
iy i [ === -
x* — 2x \/S(Xz_j
5
1 dx
NG > (Y35 99T s=ET BE)
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1 . =~
I X—g=ta'u€3 dx = dt

dx 1 dt
IW‘EJTH
5

1 1)
:—5Iogt+ tz—[gj +C [7.4 (4) 5]

—ilog X—E+ X2 2 _2X +C
- J5 5 Y\ 5
Gewge 10. Jo fay feafeawst S Uz a9 |
J‘ X+2 3 J- X+3
) 2x° +6x+5 () V5—4x— X

v

J%

(i) H3T 7.4(9) T €t TI3 J9€ IT WA TIAEE T

X+ 2= Ag(Zx +6x+5)+B = A (4x+6)+B

& Uit € X T JISTaT M3 MIST § 99799 Jue 3 A fuser I

- 1 1
JA=1mM3 6A+B=2 g< AZZ’HB' B:E

-~

x+2 1 4x+6
2 = 2 x+—j2—
2X° +6x+5 47 2x°+6x+5 27 2xX° +6x+5

1 1 .
:ZI1+§|2 (i5 B9) - (1)

fem met |

|, 9 2¢ + 6x+5=t,Ju= I (4x + 6) dx = dt 7§ fiser &

for met I1=J‘%=I09|t|+c = log|2x* + 6x+ 5|+ C, .. (2
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- _J' dx _1-[ dx 1J‘ dx
27 )52 avlE o =5 2 2
2x* +6x+5 2° .2 4 .9 2 (X+3J +(1J
2 2 2
g +g:t,a‘u€§' dx = dt, g fiser
1 dt 1 -
| =_I 7=t 12t +C, [7.4(3) 3]
2+(1j 2x =
2 2
a 3 1
= tan™'2 X+ +C, = tan™(2x+3) + C, - (3

(2) M3 (3) dt=ed (1) R ags 3 wg fiser T

J’LZ dxzilog‘ZXZ+6x+5‘+%tan‘l(2x+3)+C,

2x> +6X+5
Mg oc=. &

4 2
(i) &3 Ifenr feasfeares 7.4 (10) & fami e T 1At fer & TaA8e 7 x4 3

x+3:Adi(5—4x—x2)+B =A(-4-2x)+B
X

5 Uit € X T JISia M3 MYsT § 99799 JuS 3 A fiser I
—2A=1m3-4A+B=3,

1
magg A=-_-m3B=1

2
f‘gﬂ-w j X+3 1JA( 4— 2X dx j
V5—4x—Xx? \/5 4x— x° \/5 4x— x?
1
= —E |1+|2 (1)

|, fSe5-4x—x=t,duc I (-4-2X) dx=dt

fomr wet |1=j( 4 2x)x j = 2t+c

J5—4x—x?



4.

13.
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= 2J5-4x—x* +C, .. (2)
dx dx
g I, = = 3 feggag
i} ’ J~\/5—4x—x2 I\/Q—(x+2)2
X+2=tdus I dx=dt
forr et |2_j\/7 +c [7.4(5) 53]
:sn‘lX;2+C .. (3
miagst (2) w3 (3) & (1) yShefuz a9s 3 g fser &

jLz—\/S—M—xZ rsin X2 c fe C=C, S
V5—4x— X2 3 2

| femm 7.4 |
YRS 1 323 39 e84 € feafeaas u3Taqd |

3x%? 1 __1
x® +1 = 1+ 4x 3 (Z—X)2+1

9—25x 1+ 2x S 1-x°

x—1 X2 sec?x

8.

x* -1 xt+a° tan’x + 4
__ 1 1 1
VX2 42X+ 2 o v 6x+5 12. V7 —6x— x>
__ 1 __ 1 1

(-)(x-2) " Brax-x P [f(x-a)(x-b)

4x+1 X+ 2 5x— 2

16.

V2% +x-3 L. Ny 18. 1+ 2x + 3x2
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6X+7 X+2 X+2
20. 21.
(x=5)(x-4) 0 Vax—x? X2 +2x+3
X+3 5x+3
22. 50— 23.
X2 —2x-5 VX2 +4x+10
URS 24 325 fo Aat € 3 St s= a9 |
24. j— g J -
X2+ 2X+ 2
(A) xtanl(x+1)+C (B) tant(x+1)+C
(C) (x+1)tarix+C (D) tanx + C

X \R
25. '[\/9x—4x2 gIEd J ¢

(A) lsjn-l(gx_e‘}c (8) 1sjn-{sx‘g}c
9 8 2 9
1. 1(9x-8 1sin_lﬂgx_’gijC
(C) 3 ( 5 j+C O 3 9
7.5 myds f3st 5% fesfearans (Integration by Partial Fractions)
P(X)

we g9 fa fea ufonw ess oy o) , € ggUeT € igur3 € gu fee ufggfaz stgr Aer g

&g P(X) M3 Q(X), 9% x f&9 gguw g5 w3 Q(X) # 0. Aefa P(X) et w3 Q(x) st w

3 ufe 7, 3T Uforw B €193 uford ess mye@er 7, aat 37 meEfog ufonw e

TR J IMSE o3 ufoiw exat § &4t @3 feut gnar Gfes ufonw ess e gu fee
P(x)

gefer 77 Ager 7| fenwn?hmm@fagmwmzr?
PO _ P(X) g8 T(x) xfeeffagsgueamz P(X)fea@ﬁguﬁwrm
Q(x) Q(X) Q(x)

J 1 AT Aree 7t fa fea ggue e fesfedes fae® a3 Afer 7, fen &et fan =t uforw
e%& T feafeass fan €93 uforiw a5 € fesfeaes €t mifir € gu feg ses wer
J | f&g mit Quat ufornw ewat € feafedns 3 feure aatdr, fAvst € g9 § ffa w3t
MI & W3t Jes3T ST JSEUSTade 3T AT AdeT I< |
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ﬁwa@hnmﬂg((x)) dX @7 & y3T g9aT 9T of, feg g((x)) foq €93 ufonw

e%s J | fEq fedt, fAn & myds 9ot &9 33 € 57 &% Afen Ater 7, € rorfesT
&5 &3 0T feafeae® & muds ufoiw esst € As © gy e fafmm aer Ag= T Ifem
@ g Ufgst ugT fettt €t AaTfeaT 7% feafeda® Ags3T a8 U3 3T AT HaeT J |
J5 faut Arget 7.2 st I, fa Sy Sv 37T € ufonw ewat & fan 39T AI® myds
fgat feg TanfonT A7 AgeT T |

(x—a) (xX* + bx +c)

Aget 7.2
a3t &:| ufenw &8s & gu myas fost & famt
. pX+q A, B
' (x—a) (x—b) x—a x-b
X+ o, B
. pX% + OX+ T A, B C
i (x—a) (x=h) (x—c) X—a X-b x-c
4 X + X+ T A  _B - C
(x—a)? (x—b) x—a (x-a)* x-b
c P +ax+r A Bx+C
. +

X—a X°>+bx+c

f&g X2 + bx + ¢ €7 %JT ISHUSIAIS &J1 13T AT AA=T |
Susazs Aast ST A, B3 Cemsfea Afimret 95, frgst & €fes fedt s ugrame ot |

THBUITIT |

- J‘(x+1) x+2)

[Arast 7.2 ()], € =93 dae JT, wAT

1 A B_ fowe ot e (1)
(x+1)(x+2) x+1 X+2




266 Jfes

feg A w3 B em3fed Afunr=t g5 | fAgst & »wt €93 fedt &% uzm g9 ot |
1=A(x+2)+B(x+1)
ST Uit € X € ST M3 MYST § g9 JuS 3 A fHzer I

A+B=0
w3 2A+B=1
fegst AfigaeT § IS q@E I AS A=1m3 B=—-1yuz e J|
1 1 -1
. A Y b N~ o a - +
fen 3qt fesfeads Jo fav gu feg yuz gev ad D (12 - X+l xe2
dx dx dx
ferr et J‘(x+1)(x+2) _-[x+1 -[x+2
= log|x+1—log|x+2/+C = Iogx—+1+C
- o9 J T x+2

feust : U3z mitage (1) R Igava J wiaars ¥ fen 39t @ qEs 7 X & A9
(§91) BT < BTt A9 T | I3 BYd Ha3 = & =93 feg eon@< € %ot aoe gt fa faar
JIfenT aas fEF ISAHT I M3 A3 = € 293 feg gane @ Bet adv I& fa faar gfemr
3us fed mitads  wag3 feg ear@e € et faaT dfomm ags x & AifHa Hat € st
Ao dI

2
X +1 o -
Gewae 12. [ e uzTas |
X —5x+6
o X2 +1
9% : fﬁﬁfemm feg €fez ufow es aat I fem &t ¥+ 1§

X2 —5X + 6 37% T Ja¢ It MI A fuwer I fa

X2 +1 5x—5 5x—5
=1+ =1+
x> —5x+6 x*> —5x+6 (x—2) (x—3)
. 5x-5 _ A B
e B8 far x=2)(x-3) x-2 x-3
A fa 5x—5=A(x-3)+B (x-2)

€& Uit € X € JISTat M3 MIST & 99790 Jue 3 g HBeT JA+B =5m3
3A+2B=5
fegst mildaet & 7% d9s 3 WAt
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feust milgaet § I8 a96 3 wAl A=—-5%3 B = 10 YUz ae J7 |

X% +1 5 10
Bet =1- +
fen x> —5X+6 Xx—2 x-3
X dx
st —d =|dx-5 —d +10| —
fen f —5x+6 f -[ X-3

=x-5log |x—2|+10|og|x—3|+C

gegee 13. j#dxngwam
X+D“(x+3)
J% : fagr 3fenr feafearas aet 7.2 (4) fea o3 I8 feafeams ot famier T 1 few
et wAt
3xX-2 _ A N B C
X+D%(x+3) x+1 (x+1)? TX+3

foye gt

Aefad 3x—2=A(X+1) (x+3)+B (x+3)+C(x+1)?
SAMR+4x+3)+B(x+3)+C(x2+2x+1)
Tt Uit € 28 IS, X € IS M3 MES Ut € 3BT a6 I A fiwer I fa
A+C=0,4A+B+2C=3m3 3A + 3B + C=-2feus milage’ & I8 d95 3 A"

fimerd A:1_1 3_75 I C:_Tll few 39t feafeards I fau gu ffgyruz e d |

4
3X-2 1 B 5 3 11
x+D3(x+3)  4(x+1) 2(x+1)? 4(x+3)
3x—2 11, dx 5 dx 11 dx
few met ff = — - s—— | ——=
x+D“(x+3) 4°x+1 27 (x+1)° 4°x+3
:1—1Iog|x+1|+ 11Iog|x+3|+C
4 2(x+1)
_ E. x+1 N 5 +C
4 X+3| 2(x+1)
2
@egae 14 X T H® U3T &9 |

X
= ’J.(x2+1)(x2+4)d



v X o -~ _ e
T (Fin(laa) TOEMI XY
. x* Y
S CC+D)(C+4) (Y+D)(y+9)
y A B
(y+1)(y+4) y+1 y+4 a‘ufe—ﬁ’ﬁ%rl
e fa y=A(y+4+B(y+1)

ST U™ € y& IIeia M3 Mu® U € 385796 S S HBer T A+B=1m3
4A +B=0,fAr 3 yuz ger I

N
A= SWB_—
PR X 1 . 4
O+ C+4)  304+D) 3(E+4)
x2dx 1p dx 4 dx
for &4 femewra™ aleatales
a2 et X
3 32 2
= L 2t X c
3 3 2
Suda3 Geruge 99 d=s Myds fIat =& fIn et yImaus i3 farnr J &7 fa
fesfeaes =8 {97 &gt | g At fea fen 39+ @ Geruds &t 999 aove of fam few
feafearas € et yStmarus feut W3 myas fos fedt § mis gu feg =afam famr 7|
3sin¢$ —2) cos
@egee 15. I( ¢-2) ¢¢wﬁw;uwa%|

5—cos’hp—4sin ¢
7% s 88 fg y=sing
3¢ dy = cosp do

J-(3sm¢ 2) cosf do— J- (y—-2)dy

ferr et 5—cos’hp—4sing 5—(1-y?) -4y
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3y 2 3y-2 o
= y = =1 12154
. y-2 A B -
I mwt (y—2)2 = y—2+(y—2)2 foue gt [Faet 72 (2) &3]
fem et 3y—-2=A(y-2)+B

5T Uit € y € IS M3 7% UST €t IBST d96 I A eer T A=3m3
B-2A=-2fARs® At A=3m3 B=4yuz Jer J|

fen wet B3ter fesfeaes o fov gu fSayuz der d|

ldy = 3j 4f

_I[y 2 (y ZY (y-2)

4
2-sn¢

+C

1 .
3log| y—2|+4(—pj+c = 3log| sinp-2|+

3Iog(2—sin¢)+2 +C (fa@fa 2 — sin ¢ IHHT TaT3HT )

4
—sing

2

X+ X+1dx 9 -

@eee 16. f—z THBEUSTAS |
(x+2) (x“+1)

I8 : fegr Ifenr feafeans e §fog ufons e8s I | ufonw e5s & wuds fat feg
I=e g [Fast 2.2(5)]1

X*+x+1 A L Bx+C
C+D)(x+2)  x+2 (C+1)
few wet X+Xx+1=A(+1)+((Bx+C)(x+2)

5T Uit € )T IS, XT ST M3 ES UST ©f 3BET 96 3 Ag e I
fdA+B=1,2B+C=1m3A+2C=1yy3 dae 77|

PP S . N 3 2
IEdé'H’HIO(dé'§U’8’dd¢3ﬂ’§ﬁWUA=g,B=g

fer 37+ feafeads Jo fov gu fifg us dev 3

,C==yug JerJ|

LN

gllR
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femr met

4.

12.

15.

2 1
X2+ x+1 3 5% 3 1(2x+1
2 = t 2 = Tl w2
X+ (x+2) 5(x+2) x*+1 5(xx+2) 5\{x°+1
2
j—zx Fxrl dx:§j o +EI 22X x+l_|‘—2 dx
(x“+1) (x+2) 5/x+2 57x°+1 5x°+1

3 1 ) 1.
:glog|x+2|+glog‘x +1‘+gtan x+C

| wifgmm 7.5 |
1321 3q ¢ ynat 9 ufonw esst e feafeaes usTaqd |
X 5 1 3 3x-1
(x+1 (x+2) C X2 -9 ©(x=1) (x=2) (x=3)
X . 2X
(x-1 (x—2) (x—3) CxP+3x+2
1—x? . X o X
X (1—2x) C(P+1) (x-1) C(x=1)? (x+2)
3X+5 2x-3 5X
N 10. 72— 570 11. 7 7 o~
X=X =—x+1 x° =D (2x+3) (x+1) (x=—4)
X+ x+1 2 3x-1
21 Bisywee M k22
! 16. — < [FE3 : MAMI T9§ X" 1 &S qET dd M3
x' -1 x(x" +1) <
X" =134 ]
COS X

17.

18.

(I—snx) (2—sinx) o3 SNX=tay]

(2 +1) (x> +2) 2X 1

(% +3) (X* + 4) T+ (P +3) 20. (x* =1
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21— [fEgie=ta]
(€ -1
yAE 22 M3 23 fEg Adt €' 3g St S a9 |
22. _[ X g9 J
(x=1) (x-2) '
(A) Iog( :g-l-c (B) log~— +C
x-1)
(C) log (Ej +C (D) log| (x-1) (x-2)[+C

23.

J' dX 2
gd™¥d J
X (X2 +1)

(A) Ioglxl—%log(x2+1)+C (B) Iog|x|+%log(x2+1)+C

1
(©) —log |x|+%|og (¢+1)+C (D) loglxl+log(¢+1)+C

7.6 »iat gvat fesfearams (Integration by Parts)
few grar fSg wint fesfeaans et e 99 feut € 99uT aatar 7 fa € e%aT & JIeaes o
feafeads a9s <9 9u3 Qutait 7|

Ao fa fea 98 x (s 88) € una v < f3eoHieas e J5 3T f3ednns &
JTaes famd migag Arg fiser J fa

e&t yfint g7 fesfede® a9s 3 Aré figer I fa

Iu dx+.|.v—dx
= fu—dx uv— fv—dx . ()

W 56 fa u=f(x)m§'(;—dz=g(x)3€
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%:f’ (X) W v = jg(x)dx
fen wet mitaae (1) & 35 fou gu <= ffiprr A7 AaeT I |
JF09g (9 ax =09 [g(x)ax—[[fg 09 dx ()] dx

I J 109 g0 dx=1(x)[g () ax—[[ () [g(x) o] o

Aomt f & ufgsT e%s M3 g & TR €85 HE BEIT 3T H39 & Jo fau gu feg
ToHTTeNT FT AT J |

T TB&T € Jcaes T fesfeads = (ufgsT €85) x (TH 56 ©r feafeads) —
[(ufost T feedan® Ieia) x (EH €86 €T feafeand®)] e feafeanws

Gewee 17. [xcosxdx ev i usTaT |
I« f (x) = x (UfTBT 88&) MI g (X) = cos x (EAT 88&) T8 »iat grat fesfedrans &%
s fizer I fa
d
jxmsxdx:xjcosxdx—j[&(x)jcosxdx] dx

= xsinx—jsinxdx =xsinx+cosx+ C
He &G famml f(X) =cosxm3 g (x) =x3< T
d
J'xcosxdx=cosxjxdx—j[&(msx)_[xdx] dx
= (cosx)x—2+jén xX—de
2 2
fem 37 it Swe T fr fewsfeara® [ xcos x dx, FB&HT JU &5 x & femrer
w3 T8 femer My fesfeaes ffT ges Aier I | fen &t ufgd evs w3 gv €8s ©F
SAEEACRNESIC LN
feuet
1. feo faaa@arJ, fa »int aat fesfedans € eBaT & dIEae® Tt ATghHT AfgghrT
g Quast &t 7, Gergeet [Vx sin x dx et afast e feg fedt dn st et
I Ifererags fea I fa fem 39t € eu €t Tu adt T famer 3dtefem /x sinxJ |
2. fours fe§ fa ev a5 e fesfeae® u3T gge Al it Jet fesfeadns e »es
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&t Afawm 7t 7 oAt g7 €86 cos x &9 feafearas § sinx + k € gy e
foue, fig k aet W9® I, I feg eantfonT faprr T fa »iat arat fesfeadns feat
Tt =93 fEg nirydt €39 U3™ J9% BTt vH €55 © feafean® ffg »es AgaT io-
wgdl J|
Ixcosxdx=x(sinx+k)—j(sinx+k)dx
= x(sin x+Kk) - [sin x dx - [k dx
= x(sin x+K) + cos x—kx+C = XsSin X+cosx+C
3. M 393 AL JEeHS XTTWI T AT xTT agu3e J 3T ot fen S ufad ess ©
gufeg 8¢ gt Ifeq =, fen 397 &f Afast f<g, fie eroT e5s Bwe faashistess
7 BWIIET S5 I<, 3T Al 87 § ufod a8 € gu ffe 8¢ o
Gegae 18. [logxdx yzras |
U% : §g 995 € BT wiAt fen 3§ € %s wr sierar sarge f&Y widiar g, fawer
Sdtefex log x T 17T log x & UfIST M3 ne® e%a | § TATeHS ¢ 7 ITHI SB5 €
feafearas x I |

fer wet [ (logx-1) ax = |ogxf1dx—j[%(|og X) [10x] dx

= log x.x—jlxdx:xlog X—x+C
X

Gegae 19. [xe'dx yzrag)

U5 x§ ufawT ess w3 e § g 88 € gu fSu w8 |
oHJ e85 & feafeaas = e

few =&t jxexdx=xex—j1.exdx:xex—eX+C

L1
Gergge 20. f)\(/j%(dx UIT T |

v . , - X
9% . He 38 ufgsT e85 = sin~1x, W3 gAT &B5 = N
- X

.- ~ . X dx ~ .
IS WAl oH 8% T fesfeda® u3T aJae I mdg's j U3T gde I
B J1-x2
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t=1—-x2dg 3e
I< dt = — 2x dx

X dx 1.dt 2
fem met jﬂ = _EIW = —Jt=—+1-x

xsin~ x
fer met sin~Ix|—v1-x (—\/1—x2)dx
‘[\/1 X ( ) I\/
—J1-x® sn" X+ x+C = x=v1-x* sn"*x+C

feamy sinix = 0 YSHEUS 996 3 M3 3¢ wEt ardt fesfedrons €t 293 dae I
<t fen feafedos § T Fi3T AT AIET J |
Gegoe 21. [e sinxdx ygrag)
U8 : e ulTsTeBs I sinx§ g 88s € gU <Y 52 | 3€ wint ot feafeaons &%
g fiser I fa

| = je’(3in xdx:ex(—cosx)+.[excosxdx
=—ecosx + |, (& 58) .. (1)
|, f€9 & 3 cosx§ FH=T UfasT »3 gaT e8s Hae 3¢ /g fser I fx
|,= €*sin x—jexsnxdx
|, e"¥® (1) fRedue 3 g fiser
| = —€* cosx+€*‘sin Xx— w3 2| = e (Sin X — Cos X)

X

fem et I=.[e"sinxdx:%(sinx—cosx)+C

fea®y : sinx & ufosT e8a M3 e & TrT 856 B 3 =t Qudas feafeaes § usT
FITATAIET |

761 [ [T+ 1 (] dx 577 & feafeamae

it T O for 1= [e [ 100+ F/00] dx = [€F () dx+ [€ () ok
= 1+ [ e /() o firar 1= [ € (x) dx .. (1)

SN =

|,fR9 f (x) 3 & & qH=a ufgs™ w3 grT e8s B¢ T #at It feafeaons 578
g fser Il =1 (X) ex—jf '(X) e*dx+C
1, % (1) f<e yStmarus 95 3 »Ht uge It



fesfeams 275
| = eXf(x)—jf'(x) ede+jeXf'(x) dx+C = e f (x) + C
fewr wet [e(f09+ fr(x)ax = e f()+C
Eegds 22. I aT|

. 1
i) |ef(tantx+
0 fetard,

)dx (i) I(X_ dx

Y

J&

() o 1=[etanx+ 1+1X2 ) dx

few et fagr 3fenr fesfeads e [f(X) +f/(X)] € gufea J|
1

- Xt -1
fem et = Jeitanxr =

1
< f(x) = tanrx, &8, 3 f'(x) = Y

)dX = e tanrix+ C

VN (P HDe o X —1+1+])
@iy fesTa I_J—(x+l)2 dx__[e [W]dx

_(xe X1
_Ie[(x+1)2 x+1) I x+1 (x+1)]OIX

Me B fr 100 =2 = [09=
X+1 (x 1)
fem et, fe3 Sfenr feasfeaes e« [f (X) + f'(X)] € Ju ffT T1

X’ +1 e‘dx= X—le +C
X+1

| wifsmmr 7.6 |
1322 3T T YHaT © eBaT T fesfeads dq |
1. xsinx 2. xsin3x 3. xXe 4. xlogx
5. xlog2x 6. x2logx 7. xsinx 8. xtantx

fewe%j

X coS 1x

V1-x?

13. tanx 14. x (log x)? 15. (@ +1) logx

9. xcos?tx 10. (sinx)? 11. 12. X sec?x
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_ x e o l+sinx
16. e (sinx+ cosx) 17. 1+ %) 18. 1+ cos X
ex[l_ij (X_3)ex e s
19. X 32 20. —(x—1)3 21. sin X
22 Sln*[ 2 j
1+ %2
UnE 23 M3 24 [So Agt @3g St S ag |
23. jXZEXSdXWﬁ’:
1 s 1 .
A) =X By —-e +C
(A) Jef+C B) 3
1 33 1 2
Cc) —€ +C D) =€ +C
© 3 (D) &+
24, .[exsecx(1+tanx)dx gIHT T
(A) e<cosx+C (B) esecx+C
(C) esnx+C (D) etanx+C

7.6.2 feafearas @bt 3% JF faAMT (Integrals of some more types)
g nimt »imt grat feasfeaans feut 3 mufez I 3¢ ym 39T € ynfed fesfeaest et
gagTdatdl IfA= fa
0) jx/xz—az dx (ii) ij2+a2 dx (iii) j\/az—xz dx
(i) "o a8 fal=[Vx"-a’ dx
WO TBS | & T SB6 Haw I8 m3 wint dt feafedons 7% A figer I |

B 2 2_1 2X
| = XA/X° —a Iz—mxdx

2 .2, .2
= xyx?-a? - dx:X\/xz—az—jX— gdx

X2
j [ _ a2
dx
xyx2—a? - [x2—a? dx—a?[——
/ I
dx

X2 —a

= X xz—az—l—azj -
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dx
Mgz 21 = xJx°-a® -—a’|——
j /X2_a2

2
o g I=.[ xz—azdx:gxlxz—a2 —%Iog‘x+\/x2—a2 +C
fen 39T En9 © fesfeast fRenas e8s | S oA ess 8 J #int adt feafeans
fedt &7 g fuser
2

(ii) _[ x2+a2dx:%x\/x2+a2 +a7|og‘ X+x% +a’

2

iy [Va?- xzdx=% x4+ 2 sntXac

feasy : feafeaes (i), (i) M2 (iii) R gH=9: x=asechH, x=atand ggr=d
M3 X=asing, YSHEUs 95 3 < feust feasfeanwst & usrdisT Am Aaer I

Gemage 23. J\/x2+2x+5dx USTIS |
9% : fors fe€ fa J.«/x2+2x+5dx:J.«/(x+1)2+4dx

+C

g< X+1l=ydue 3 dx=dy, 3€
f«/x2+2x+5dx = f«/y2+22 dy
1

4
=Y y2+4+§|09‘ y+\/y2+4‘+C [7.6.2(ii) €t =a3 58]

= %(x+1)\/x2+2x+5+2Iog‘ X+1+VX* +2x+5 ‘+C
Gegee 24. [V3-2x—x* dx uIT T |

9% : fors fe€ fa J\/S—Zx—x2 dx:_[ 4—(x+1)? dx

g X+1=ydus 3 dx=dy, 3¢

femagt I\/?)—Zx—x2 dx= .[«/4— y? dy
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=1 yy4-y? +gdn‘1%+c [7.6.2(iii) T t=a3 &5]

T2
(x+1)3-2x—x? +2$in‘1[—lej+c

N

| mifgmm 7.7 |

13 93T T YHaT € eBaT € feafedas a7 |

1 Ja-x2 2. \1-4x? 3. JIx*+4x+6

40 X% +4x+1 5. {1-4x-x* 6. Jx®+4x-5

X2

70 \14+3x-x2 8. X% +3x 0 g
UAS 10 M3 11 f[So Aat @3g et 9= aqd |
10 [V1+x* dx 599 3 :

(A) g 1+ x2 +%Iog‘(x+\/1+x2)

3
+C  (B) %(1+ x?)2 +C

3 2

© %X(lJ“XZ)z*C (D) X?\/lJr—XZJr%leog‘xw/lJrT
11, [V5-8x+7 dx mew d -

(A) %(X—4)\/x2—8x+7+9Iog‘x—4+\/m‘+c

(B) %(X+4)m+9log‘x+4+\/m‘+c

© %(X—4)\/X2—8x+7—3\/ilog‘x—4+m‘+c

(D) %(x—4)m-glog‘x_4+m‘+c

+C
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7.7 AIHF feafeara® (Definite Integral)

fug® gt oo md3 feafeaast © g9 &9 nmifens st A7 gar T W3 dF I U
eBat ¥ feafeaast € fugd gar f[Sg W& 3 feafeamst § U™ ads et oy feuhnt 3
gauT a1t I | few gmar f[ET it fan e®s € Aifia fesfeaes e nifons agtar | Fifws
fesfeas o féa fesve o g 3 R s feafearas & [ f (x) dx, s eamfenn
g ACE D, fesfeaars & €5 Fiwr w3 a, feafeass ot To8t M nu=get 71
i feafearas & 7F 3 73 @ s A 7 et Sdefee F §e wigass [a, b i¥e 32
3t AW fesfeaes evUs vz fdent 3 F © UaT € #igd g3 F(b) — F(a) © 9989
Fer T, & qu e gaerfen mer | MHS feofeaas @ fegat Sat qur @Y it Su-Fy
9997 Jatar |

7.8 a&s €t Hfsa ywa (Fundamental Theorem of Calculus)

7.8.1 439e® &8 (Area function)

it [7f(x) ok & =9 y =109, xT3, W3 && x=amF x = b9 fug 499 &
ﬁm%gu%?maﬂsfﬁlﬁ?m@[a,b]%vxs“re’rfa"gz‘r?f:f(x)dxﬁ?sa
7.3 {9 g%ar evfenm 439 € 439ew & Tong e J | feF feu vs fenm famr 9 fa x
[a,b] @& f(x)>0F 3ot ifsnr fam qas T3 soat & B8t <t # | fem afer
43d €T 43deH X € W& I fadga T

Y Y@

AR)
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THI Huet fIg »rt gfenm e 439es, x T fq &8s I 1 wAt x € fen e85 §
A(X) 3% oI ET TTIfer e®s A(X) & #Hl U39e® 856 e It M3 feg Js fau
H39 &% U3 Jer J |

A) = [ f(x)dx (D)

few ufggmr 3 mufaxs € mruag s Yiw I8 | ud wAt T frge fem e aas enfar |
fagfa fegst & Yy fev v ynsa €t 439 3 T99 J |
7.8.2 feafearas asa et ufast Hisa yHa (First fundamental theorem of integral
calculus)
YT 1:Hs 88 f g §enize® [ b 3 Bar3w e&s d M3 Ha 88 A (X)
H39eS B& J, 3T X € [a, b] AT € Tt A'(X) = (X)

7.8.3 fealeares asa et At Hisa yHar (Second fundamental theorem of integral
calculus)

AT Jot fiéq fen 39T € H3I=YTs YHT ©F fenrfir gae gt fanet AofesT 57 At
et 3dtefes €t 293" dde I¢ W3 fesfeast er Ws ygrade ot |
YN 2 Ha 38 fa §e7izas [a,b] 3 f ffa Barag a8 I M3 f e ot Sdtefe=
Faigr [ f(x)de= [F(x)]2= F (b) - F(a)
feyet
1. mEet gt w2 & fen gt eam @ ot [ 1(x) dk= (f @t Sdefes
FerQuast i b 3 H®) — (87 widt Sdtefee v Jast i a3 W®)|
2. fegyiw gg3 Quiiant I fafa feo A vz <t i usT i3 fast mitfvs fesfeaes
& u3T q9% € s fedt feet T
3. fEa W3 feafeaes usra9s fSo Ag 3 ngdt fea fen g e ess er Uz aaga™ d
frmeT 3dt=fes &3 famr feafeae® 7 | feu feedanms M3 fesfeadns € gy
& HAg3 daet J |

4 _[:f(x)dx fe9, [a, b € &5 f & @ Ygfaz W3 HIr39 I Agdt J |

1
Gegoe € 39 I HfH3 fesfeas jix(xz ~1)2 dx <t 999 95T TBI T

1
fa@fa e nigas [-2,3] € gar-1<x<1 @&t f(x) = X(X* —1) 2 gwrar
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TanTfenT faprr e85 f uﬁaﬁsm"r’j??rj':f(x)dx U3T 996 @ e
(Steps for calculating j: f(x)dx)

() &3 fesfeams | f(x) I ygrag niz 58 feg F(x) T 1fesfears »es C §
&< € Ag93s a4t I fa@fa A€ miit F(X) € Fgs 3 F(x) + C 3 fegrg gate 3t
& figer 9 fa

.[:f(x)dx=[F(x)+C]g=[F(b)+C]—[F(a)+C]=F(b)—F(a)

few 39t Mt fesfeaas e W uzT g9s &9 feufammat wigs, arfeg § AT I
(i) [FOOIS = F(b)~F(@) weram, & fa [ 1(x)dx emifs 1

g WAl g3 Gergdst 3 fegrg g9e TT|
Gegaw 25. Jo fod feafeamst & He uzT a9 |

, 3. 2 . 9 WX x dx
dx —dX
@ sz (i) I4(30—x§)2 (i) Il(x+l) (x+2)

(iv) I()Zdn32tc032tdt
I :
. - 3 2 a . 2 X3
@i) ng@farl:jzx dx ¥ fa€fa IX dXZEZF(X)

fen met fesfeaes aws € gdt Hisa yiw 7% wAt Aree I fa

27 8 19
|—F(3) F(Z)—?—ézg
(ii) )-T?ws@fsﬂ:jjlg)dx At feafeards e wiet 3dtafee usT gae o7 |

(30— x2)?

3
> 2
30-x2=t —;ruggr—gﬁ dx = dt »ag=z &dx:—gdt
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. Jx 2pdt _2/10_ 20 1 |_
fgﬂ-gg-r I—§dX=—§ t—z— 3 t —5 —§ _F(X)
(30—x2)? (30— x2)
fen Bet feafeaas ass & gt Hfga yiw 3wt Aree of fa

9

—ro-re-d | 2l 1 1] 21 1)
3| @o-x2y |, 3L@0-20 30-8] 3|3 2] w

(i) ﬁwz@h|=[2x—dx
1 (x+D (x+2)
"MYds f9& € 93" Jav I¢ WAt Arewe Jf fa
X -1 N 2
(X+1) (x+2) x+1 x+2

X dx
(x+1 (x+2)
fen wet feafeas aus & gat Hga Yo &% Arg fiuger J fa
I =F(2)—F1) =[-log3 + 2log4] —[-1og2 + 210g3]

for Bt j =—log| x+1|+2log| x+2|=F(x)

32
=-3log3+log2 +2logd = Iog(—j
27
(v) Ws®E, |1= tsdn®2tcos2tdt. ge [sin® 2t cos2t dt 3 fewrg e |
: o = 1
sSn2t=udd= T 2cos 2t dt =dug=cos2tdt = > du
foy et I§n32tw32tdt=%ju3du

- %[u“]:%sin“Zt:F(t))-T?sB@T%(
fen et fesfeaes aus € gt Hisa Yid 575

Y 1 .4 T .4 1
I=F(=)-F(Q)==[sin"=—-sin"0] ==
(4) O 8[ ) ] 3
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13 20 39 € yHat i&9 AlfH3 fesfeaest e Hs usT a9 |
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2
1, j_ll(x+1)dx 2. J.j%dx 3. jl(4x3_5x2+6x+9)dx

T

4. jjsiandX 5. _[Ecostdx 6. _[jexdx

| % q | 1 dx 1odx
8 jgcosecx X 9 IO—'—].—XZ I01+X2
n 3 xdx 12X+3
12. J.OZCOSZXdX 13. IZX2+1 J‘05X2+1

2 Bx?

16. [=22— 17, [4(2sec® x+ X3 +2) dx
-[1 x* +4x+3 IO( )

T . 2X X
18. jo(sm E—cosza)dx

0x*+4
1, . WX
20. Io(xe +S|n7)dx
Uns 21 M3 22 fAo Aat @ 3g St 9= ag |
21 jﬁ dX2 qHT T |
1 1+x
A) ~ g 2= o =
(A) 3 (B) 3 © 5
2
< d -
2 j3 szaazn
0 4+ 9x
A) = B) - C) —
(A) 5 B) 15 © >

10. j26X+3dx

(D)

T

7. Igtanxdx

J‘3 dx

), e

1 2
15. _[Oxex dx



284

Jfes

7.9 yStHays @9 AW fesfeaest & H® usT agsT (Evaluation of Definite
I ntegralsby Substitution)

fug® grar fIg vt W& 3 fesfeaas U3T 39 et 593 fetbt at 9agT 13t T Ime&3
feafearas U™ d9& € HI3=Yas feutyt T fea fedt yuStmarus feut 91

Y fedt 5 [ () dx, o7 ¥ uar aes & w5 gt ae I fi 7

1

2
3,
4,

feasfearew @ g9, Avet 3 fast fegg ga M3 y = f(X) Mgz x = g(y)
yStieus g9 3t g fe 3 dfenr feasfeaes fEa aret ugTet famd fRe ses Ae |
fesfedas »a% ot faag o3 fast &< fesfeans or, 5 9% € iau g feafeaas ag |
39 9% €t g 3 guar SHeus ad M3 €39 S i n S gu e fau |

Fer (3) 3 yuz §°37 T fesfeaes, eIt T8t it € e usT a9 3
CUTE T T8 WS 578 Joa! AT & HE €7 73 U3T a9 |

few fett & 37 5o € ®et vt Jo fad 39 #idr U Aare of | e
(1) M3 (2) $JIE T TME TEH (3) & I35 € Agd3 &4t ¢ | T feafeaas § 5=
9% € gu f&T 3t Ifepr AeT I w3 feafeaes €t iret § 52 9% »ianTd 9% ¢ aF
3t fq »imt (AT wmudt ge & fafenr a9 rate |

g fen & At Geg9st 57 AHEE IF |
Gurgae 26. jf15x4\/x5+1dx TTHFUITIT |

I% . t=x+1, U= T dt = 5x* dx
23 2 3
fem et I5x4\/x5+1dxzjxﬁdt :§t2 :§(x5+1)2
1 o[ 3T
fem et _[715x4\/x5+1dx =3 (x5+1)2:|
L -1

3

2[ s > 5 Z
=5 @+ ~(2°+1)

2[ 2 2] 2 42
=§_22_02} =§(2@_T

feasy : A9 3 ufost nit fesfeaas & gese g »i3 3T 9e8 JT fesfeads e &=t
A=t € WEHT H® 3T ade It |
He 56 t=x+13€ dt=5x'dx&c a9 fa

H<

X==13T t=0mMIAex=137t=2
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fon st fAe-fAe x,— 13 1l3qgeserd f3=-f3=°t, 0 3 2 ST BT J|

fem met f_115x4\/x5+1dx - _[Ozﬁdt
372 3 3
{tZ %{22—02} = 2(2J2_:—4gE
0

"3

1tan~tx o -

Gegas 27. J' dx W& u3Taq |
0 1+x°

wIinN

o R 1 . - .
7% e 8 fg t=tan-x, 3¢ dt=1+X2 dX. qe x=03 t=0mI A€ x=13F

t=% fen st fAd-fa2’ x, 03 1 I geser g f3&-f32°t, 09 % T TEBTTT |

1tantx 2 t2 |4 1| n? 2
eH BE J.o 1+ X2 J.O {ZL 2[16 } 32

mfgm™ 7.9
13 8 Iq € ynat ST feafeaest e He yStnaus € <93 d9e J8 U3 d9 |
1 X z 1. 4 2x
d 2 I o sin dx
on2+1 X 2. foﬂlsmd)cos o do 3. IO (1+ij

E .
J'z SN X
0 1+ cos® X

2
4. [oxlx+2dx (x+ 2= 3w dx

2 dx 1 ax 2(1 1 2%
— 7. ——— 8. ———|e“dx
J‘0x+4—x2 j—1x2+2x+5 J.l(x ZXZJ
yns 9 3 10 fSg gt @3g et S a9 |
1
—x3)3
9. fesfearas J'llwdx THE T
3 X
3
(A) 6 (B) 0 © 3 (D) 4

10, mefa f()= [ tsintdt, e ()3

(A) cosx+xsinx (B) xsinx (C) x cosx (D) sinx+ X cosx
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7.10 FifH3 fesfeaast € g9 ferma=t (Some Propertiesof Definitelntegrals)
W3 fesfeamst € a9 HISTYds fermasT=r § »Ht J&t Het 8¢ J9e J7 | feg =
A3 fesfeaast e e miAst 5% 39 feg € Gusat d=ar|

P .

0"

P .

7

X) =f(X)

1°

6

f:f(X)dX=j:f(t)dt

f:f(x)dh—fff(X)dx,wﬁas‘r j:f(x)dxzo
[PFeodx=[ f(gax+ [ f(xdx, ab,c THafed ffiprrer 5|
[P 0aek= ] f(a+b-xx

[Ttax=] "t (@a-x)dx (fowres fe@ far P, P, <t féer wm wfirst &)
jOzaf(x)o|x=j:f(><)o|x+joaf(za—x)dx

j;af(x)dx=2j:f(x)dx,g% f(2a—x) = f(x)
=0, 7efa f(2a-x)=-1(X)

(i) J‘faf(x)dx=2.f:f(x)dx,ﬂe|"o( e fang f e®s T Mgz A fa f(—

(i) I:f(x)dx=0,1‘-|@‘1%rf T TS T g3 Aefd f(—x) = (X)
fea-fea gaa mAt fegst It § yHfe3 J9e If |

P, e yHe X =ty d95 3 T I3 yuz Jevd |

P, St yie : M B8 fa ferwdt sdiefer FJ 137 feafess ass & grt ifex
et a5 A fier 3 far, 6 oot v o fa e a=b, 3t [ F() dx=0
Peryle: Wa a8 fa f eyt sdefes FJ, 3%

[ 710 dx = F(b) - F(a) ()
[T1dx = (o) - F@) e

b
| _ (9 dx = F(b) - F(c) - (3)
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(2 M3 (3) & Az 3 A fwer J fa
c b
J2H0aa [ f () dx= Fb) — Fa) =] F () x
fen 3 Ireuan P, o der 3|
P,eryre: a8 fa t=a+b—x.3€ dt=-dx. A€ x=a3e,t=bn3 A€ X
=b3et=a fev et
b a
ja f(x)dx = _jb f(a+b—t)dt

b —.
- ja f(a+b-t)dt (P,

= [*t@+b-x) dx (P, %)

P, YN'® : t = a—xJd M3 P, 3gt ofdr ST gdt = — dx,

Agx=at=0
P, yle : P, €t 293 a9¢ J€ wAT Aee I far

TE)dx = [ 100 des [ () dx
jo jo Ia

HH UH € grd fesfeaes &9 t = 2a — x y3tmaus a4, 3€ dt = — dx 3 A<
Xx=a, 3T t=amM3 A€ x=2a, € t=0m3 x=2a—-tSYyuz gev J|
fen wet graT feafeaes

[ fax = [ ta-t)ot
- j:f(za—t) dt = j:f(za—x) dx yuzg ger I

forr w6t jozaf(x)dx=j:f(x)dx+j:f(2a—x)dx

P e yue : P, €t 293 q9v 3T A fuser I far
jozaf(x)dx=joaf(x)dx+j:f(2a—x)dx - (D)

geae fa f(2a—x) =f(x),7e (1) Jo fau gufeda ges Aer J|
jozaf(x)dx=j:f(x)dx+jjf(x)dx=2j:f(x)dx

-~

W3 Ae fa f(2a—x) =—f(x),7e (1) J5 feu gufdgges Aer J|
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2a a a
jo f(x)dx = jof(x)dx—jof(x)dx=o
P, & ye
a 0 a
P, €t 293 w9¢ 3T Ag fser I fa _[_af(x)dx = .[_af(x)dx+f0 f (x) dx
A U € Ufo® fesfeas fEg t=—xdue 3
dt=—dxAe x=—a3e t=amM3 A€ x=0,3€ t=0"3 x=—tF YUz v J|

ferr et j_""af(x)dx=jfaf(x)dx+j:f(x)dx

= [THEdc[ T o (P, F) ()
() geaefa f fgedsd3e f(xX)=f(x) 3" (1) sFYUI gerdfa
jf‘af(x)dx=j:f(x)dx+jjf(x)dx=2j:f(x)dx
(i) 7efg f easss T I (X)) =—F(X) 3 (1) B YU Ier T

[ 7 feoax==[ fegax+ [ F()dx=0

2 y _
Gergge 28. j 1|x3—x|dx TS ST AT

I5 At eye o fa [-1, 013 x—x>0mF [0, 1] M ¥ —x<03F [1, 2] mT x°—
x> 03¢ WAt &% fBy Age ot fa

ji| x3—x|dx = J._Ol(xs—x) dx+.f;—(x3—x) dx+.f12(x3—x) dx (P,3)

= [0 =x) dber [ (x=) dix+ [ (€ —x) ik

{X“ XZT {XZ Xﬂl {X‘l XZT
I e I 1 e
4 2 . 2 4 o 4 2 X
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T
Gegee 29. I_“nsinzxdx TS USTET |
@
J% : At Sye I fa sin? x fea fang €8s I
T

few met IZ sin®xdx = ZIOZSiHZXdX [|:>7 (1) &3]

4

o ri(l-cos2X) . _ 3
= 2[04—dx = fo (1- cos 2x) dx

2
4 (E_Esnﬁj_ _n_ 1
= x——S|n2x0 2 5 22
Gegge 30. jnﬂdx T UST AT |
01+ cos’ X
v _ Xsinx (m—x) sin (m—x) dx
7% Mo &8 fa = P &%
N J‘°1+cosx -[ 1+ cos? (1 — X) (P, 57%)
J- (m—X) sin xdx nInSinXdX—l
" 1+cox 01+ cos? X
m Sin x dx
“aga 3 2|:T[ —2
0 1+cos”x
Np— _ J- sin x dx
0 1+ cos? x

CoOSX = tJye I —sinxdx =dt
AEXx=03T t=1»3Aex=n3et=-17|fen Bt g fHwer J fa

—m -1 dt
I=— =2 P, 5%
2 J1 14142 Ill+t2 ( 1 )
_TCJ‘l dt . 1 N 5
= 01412 S 1412 A3 %6 ( 7?;17;)

2

- [t =1 20]-x| T 0| %
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1 y _
@ewee 31. J' 1sm5xcos4xdx T NS UST T |

\J o 1 - ~ -
Im e B8 fa | = I_lsn5xcos4xdx w3 f(X) = sin® x cos* X

3T f(=X) = SN (=X) Cos* (—X) = — S x cos* x = —f (x), veeg f & o' &
Ffer®et 1= 0[P, (ii) 575

4
sin® x o -
@@aasszj e dX T HE US|
0 sin® x+ cos* x
T . 4
o . 5 sin® x
0 sin” X+ cos™ X
x sin4(g—x)
e 1=/ dx (P, &)

sin“(E— X) + cos“(g— X)

=[x cos'x (2
0 cos* x+sin*x

(1) M3 (2) §Azs I g serd fa

2 sin*x+cos® x > o
20= | 22222 Dk = | 2dx=[x]? ==
-[0 sin® x+ cos® x IO [ ]0 2
fem wet 1=z
4
Gurgae 33. ET)-T'EusTa-GW
'[ 1+\/ -
Z Z cos X dx
I% e s fa | = s_NTER T L (1
-[ 1+«/ Ig JCOSX ++/sin X @)
© cos(gg )dx
I Izjf (P.5®)
6

™ T . ™ T :
CoS| —+ - —X |+, [sin| S+ —X
35 (52



_ 3 \/sinx
= [ — (2
I Jsinx ++/cosx
(1) w3 (2) grma g mibmerTfa 2= [ =[x’ =22 =7
z L
few wet 1= =
12
Gergee 34. jflogsinxdx o % UIT &9 |
ﬁw:ﬁws@ﬁlszlogsinxdx
(5 (= s
37 I = IO Iogsm(i—xjdx_.[o log cosx dx (P,5™®)

~ = .

I, e s §Ass I A serdfa
T

2l = J.OE(IogsinXJr logcosx) dx

i

=ff(logsinxcosx+logZ—logz) dx (log2#3s w3 wege 3)
= jflogsiandx—_[flogde (fag* ?)
UfS feafeams ffg 2x=tdue 3 2dx=dtme x= 03 t= 0m3 A X= gsﬂ:n

1¢n . i
fem wet ZI—E_[OIogsmtdt—Elogz

25 . i PO :
= > ] Jlogsintdi—log2 [P, 575 fa@fr sin (x—1) = sin )

T

J?Iogsinxdx—%logZ (@B tE xf<o gwse 3)

T
| -—=log?2
5 g

fo et J'flogsinxdx = ;;IOQZ
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mfgm 7.10
A3 fesfearost € ferma=’ € 293 doe 9 1 3 19 Ia © yrs' <9 feasfeamst er
HBU3Taq |

3

1 g 52 q 5 J' Ig sin5xdx
- cos® X dx ,— ,— — 35—
J.O SXVEoSX 0singx+cosgx
> cos® xdx 5 8
4. 22" 5. X+ 2|dx 6. X—5|dx
-[0 sin® x + cos® X I*5| | IZ' |
1 I 2
7. _[Ox(l—x)“dx 8. jo4log(1+tanx)dx 9. jox\/Z—xdx
10. _[3(2Iogsinx—|ogsin2x)dx 11. J._Ensinzxdx
2
T z 2n
2. | X dx 13. |2 sin”xdx 14. [ cos® xax
01+sinx ;2“ 0
> dnx—cosx Jx
15, | 2=/ """ dx 16. log (1+ cosx) dx 17.
-[0 1+sinXxcosx J. 9 ) I x/— Ja-— x

18. [ |x-1dx

19. EHHT@%(j;f(x)g(x)dx=2j:f(x)dx,ﬂ@‘fsrf mI g f(X) =fla-x)m3
g(x) + g(a—x) = 4% gy <9 ufga iz A3 famrr T

YA 20 M3 21 IS ATt €' 3g et 9= aa |

20. Ii(x3+xcosx+tan5x+1)dxE‘r)j“'&sfrl

2
(A) 0 (B) 2 ©) n (D) 1

21. _[Elog A+3sinx dx TTHBJI
0 4+ 3cosx

3
(A) 2 B) 3 © 0 (D) =2



gea® Gegget
Gemgae 35. J‘COSGXw/1+Sin 6x dX uzT FT |

)

7% : t=1+8n6x duE I dt = 6 cos 6x dx

1
few =&t Icosz 1+sin6x dx= %J.tzdt

3 3
- 22 vc=tassnex2+C
63 9

1
, 1
Gege 36. judx Ut I
X

1
aw:m'gfrrf&mrrzrj _ dx=j X" dx
X X
I 1—%=1—x‘3=t, Ju= I %dx=dt
X X
4 : 1
(*-%4 . _ 1
few wet Ide Bjt dt
s 5
=1xét4+C=i(l—i3J4+C
3 5 15 X
_[ x* dx _
@ewgeE 37. TETCEE) U3T 9 |
4
X
I : A ffenr T (x+1)+

(x—1)(x2+1): X —x?+x-1

1

= (X+l)+—(x—l)(x2+1)

1 B A +Bx+C
< x-D(x%+1) (x-1) (+1)

T gy fdg Ean@e o

293

. (1)

(2
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1=A(+1)+Bx+C)(x-1)
=(A+B)X+(C-B)x+A-C
fen wet St urfit € grefat €t 3BT das I AS e dfa A+B=0,C-B=0m3
A—Czl,ﬁrnwung?%ﬁA:%,B:C=—%
A,Bm3 CErys (2) g y3mafus gas 3wt w@e ot fa
1 _ 1 _1 X 1
x-D O+ 2x-1) 2(+1) 20 +)) )
(3) M3 (1) &9 yStmefuz ags 3 wrt uge of fa
x* 1 1 x 1
5 =(X+1)+ -=— -—
(x=1) (x“ +x+1) 2(x-1D) 2 (x“+1) 2(x"+)

fem wet
4 2
I X2 dx:x—+x+ilog|x—l|—1Iog(x2+1)—1tan‘lx+C
(x-D (x*+x+1) 2 2 4 2

@ergge 38. j{log(logx)+%}dx UIT g |
(logx)

N ~ 1
i5 . Ms e fa I_I[Iog(logx)+(logx)2}dx

_ [tog (togx) o|x+j(loglx)2 dx

g, ufad fesfeares <o | § o e&a © gu ST &€ ot | 3e »inf gt fesfeadns
&% Ag fiwer I fa

1 dx
= xlog (I - d
| = xlog (log x) leogxx X+J.(Iogx)2
dx dx
= xlog (I -
= xlog (logx) Ilogx+f(|ogx)2 .. (1)
dx
feg Togx ,3feeaq, | §enens € gu e &2 w3 »inf gt fesfeaens a9,

fen 397 g fmer 9 fa
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dx _ X 1 (1
logx {Iogx JX{ (log x)? [xj}dx} -~ (2)
(2)m3 (1),%?@€§mﬁiﬁwfrs+

xlog (log x) — j o +j o

! % ogx ? (logx)? 3 (logx)?

xlog (log x) —$+ C

ge9s 39. H\/cotx+\/tanx] dxuzT a3 |

ET'&':H"?;';ﬁ-rF&Wr?r%rlzj‘[\/cot ++/tan }dx I\/ X(1+ cot x) dx

I tan x = t2, u=E I sec2x dx = 2t dt
2t dt
wmag3 dx = 2
1+t
1 2t
g | = t(1+—j dt
B I t2/ (1+t%)

» 1) at 1+t12 dt
_zj(t +)dt zj[(t +j1) —ZJ'[Eljzj )

+C

J2 J2
2_ J—
_ 2tan‘1[t—1J+C=«/§tan‘l(tanx 1J+c

= |=2 1 (t_lj
I ()2-\/_tan—+C\/_t

J2t J2tanx
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J- Sin 2xcos 2X dx

\9—cos*(2x)

35 i 5O fr I_J‘S|n2xc032x

\J9—cos* 2x

g< cos’ (2x) = tJus 3 3T fa 4 sin 2x cos 2x dx = —dt

few met =——.|' =——sm t +C=—lsin‘l 100522x +C
4 3

3
Qemage 41. f_21|xsin(nx)|dx T NS UIT AT |

Xxsinw x,-1<x<1 & mgt

J% . &g f(X) = |xsinnx|=
09 =1 | —xsinm x,1< X E’KE’T

I\)

3

N 1 .
few ®et lelxsmnx|dx = f 1xsnnnxdxﬂf—xsmnxdx

| w

3
1 . = .
= I 1xsmrcxdx—.[fxsmnxdx
HH U € 9=t fesfeaast e feafeaes aos 3 A figer I fa

3
3 . . =
o —xcosn X sintx| [-xcostx sinmx]
j | xsinm x|dx = +— - +—
-1 i i 1 T 4
_2 [ 1 1] 3,
- T TEZ T T TC2
n X dx o -
Geee 42. [ - ——— TS UITET |
0 a2 cos® x+b?sin? x
o n X dx n (m—x) dx
% : He &8 fa |=f , =I .
= 0 a%cos’ x+b?sin®x 79 a?cos®(n— x) +b?sin®(n - X)

(Pt =33 &™®)

_n.[“ dx In x dx
0 a?cos? x+b?sin?x ¢ 09 a?cos® x+b?sin? x
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n dx
=n,[ 2 2 z-z_l
0 a“cos” x+b“sn“ x

n dx
few met 2l=1
J‘0a2c032x+bzsin2x
Tn dx o > dx
g == =—.2|2
2j0a20052x+b25in2x 2 -[0 a®cos’® x+b?sin? x
(P, €t =93 37®)

dx
a’+cos’x+b?sin? x

ENE R AN

x
T
0 @ +cos” x+b?sin” x

(tan x= t M3 cot x= udy)

T K
. j* sec” xdx +J2- cosec” xdx
2 a’+b’tan”x 5 a®cot” x+b?

2

=nj dt _T dt
a’+b%+t? 5 a’u®+b?

1

0
1 0
{tanlm} —l{tanlﬁ}
al, ab b |,

WIS 7 '3 MOfdT §SaAB HITHH
13 24 3T T YAST € eB&T T fesfeaas dq |
1 1

L X— X2 2. JX+a++x+b

1 a
3. —F/—— [Ad3 :x=— J4] . 3
[av o2 t 3
XVaX—X X2(X4+1)4
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5x
(x+1) (X* +9)

COSX
J4-sin?x

X3

V1-x8

12.

15. cosix glogsinx
1
18.
\/sin3xsin(x+(x)
19 1-Vx
N1+ Ux
0o tant [2X
1+ X

7.

10.

13.

16.

20.

snXx e5Iogx _e4logx
sin(x—a) 8. e3|ogx_eZIogx
sin® x — cos® x 1
1-2sn’xco x - oS (X + a) cos (x+b)
e* 1
Qe @2+e) P (D) (E+4)

elo (x + 11 17, f'(ax + b) [f(ax + b)]"

2+8in2x - X2+ x+1
1+ cos2x C(X+1)% (x+2)

X2 +1[Iog (x* +1) - 2log x]

X4

24 3 31 3T T YHST € HIHS fesfeaes e" He u3T a9 |

1-sin
24, j ( dex 25

27 J‘3S|I’IX+COSX

A/Sin 2X

30. [ fsjn 2xtan Y(sin ) dx

28 [l _ 29
S ol x—x '

cos? x dx

J-% sinx cosx
0 cos® x+4sin® x

————— dx26.
0 cos* x+sn*x -[

T .
2 sinx+ cosx
J“‘ dx

0 9+16s8n2x

a1 [ [(x-1b1x-2]+|x-3)dx

35 fafnt & pifez a9 (Yas 32 337 39) |
1
32. jsziiﬂogg 33. [ xe'dx=1
1 x*(x+1) 3 3 0

34. I_llx” cos*xdx=0

35. jOZSin3xdx=§



36.

37.

J.OZZtan3xdx:1—I092

J.lsin‘lxdx=ﬂ—1
0 2

38 3 40 ¥ ynat fEg Agt €39 S ST a9 |

38.

39.

40.

j X o 7

e +e”
(A) tan™ (e) + C (B) tan? (e) + C
(C) log (e~e) + C (D) log (e +e%) + C
COS2X .
.[-—2 dx s9v§g J |
(sinx+ cosx)
A _—1+C B) | . c
) Sin X+ cosX (B) log|sinx+cosx|+

(C) log|sinx—cosx|+C (D) m

A fa+b—x) =1 (0,3 [ xf(x)dx e T

(A) a%b :f(b—x)dx (B) a%b :f(b+x)dx
©) b;z"" 7 (%) dx (D) aLzb " () o
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¢ fsedanms &t €5e fafon § fesfeaons afde g& | f3edans avs f<g, g
feq @ &3 Ifemr gur T M3 miAt fer e85 e Sdi<fe= noa3 feedans
U3 JI&T g7 I UIZ fesfeaas avs &g Aré fEq fen 37T € e%s ev u3T
e Jer J famer Sdiefe= o Ifemr gur T | fen 3gT feafeaans fea fafonr

J 7 fsedanms € 8w T
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o a f O F(= 1. 3t moit [ 100 dk=F(9 +C fenee a1 fea
feafeaas & #&3 At fenmmua fesfeaes fagr ater I g C feafeaens er
WMo J | feast Afont fesfeast f&9 ffa mos evvigg der I |
& &3 feasfedms, fmrfisa 39 3 =a9t € ffq ufeea € AMT § Targ@er &
fAgst fSe I set fa =a0 § y-Ud € &8 578 M'US ANT3T U &5 A
Jot <%, A3t 9% a yug 3T AT AT J |
¢ &3 feafeaas € gy fermar=t Ja feg g5 |
L [IF()+g (] dx= [ f(x)dx+[g(x)dx
2. forit < emsfedt fifimrm k, & wet [k () dx=k[ f (x) dx
fmer fenmum gu fee me fa £, 1, f,...f ,8Bs T, 73 k, k,..k ,
[ Ty 8,0+ Ky 5 (%) + ..ok, £ ()] dlx

=k [ £,00 dx+k, [ £,00 dx+...+k, [ £,09 dx
¢ I3 Waa/firat fesfeaes

n+l

() [xX'ox="—+C,nx-1¥mIgF [dx=x+C

n+1
(i) [cosxdx=sinx+C (i) [sinxdx=-cosx+C
(iv) Iseczxdx=tanx+C (v) steczxdx=—cotx+c

(vi) .[secxtanxdx=secx+c
. e C Wi I—dx =sin"'x+C
(vii) Imsecxco X dx=—cosec Xx+C (viii) \/1_7

dx

dx 1
: ——=-cos x+C =tan 1x+C
iy 0 e
. dx _ .. X X
(xi) I1+X2:_00t 'x+C (xii) Ie dx=¢e"+C

X

X a .
(i [atdx= o+ C ) [2ax=logf+C
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¢ My3s fgst ot fesfearans

we J4 fo fea ufons e % € gguet € nigu3 € gy 9 ufggaz
X

atgr AteT I 88 P(X) M3 Q(X), 9% x &9 ggue 96 M3 Q(X) = 0. 7 Sgu<
P(x) € w3 ggue Q(x), St w3 3 TuJd, 3t mHt P(X) § Q(X) 3% =T Jae

(F;(():()) T( )+5EX; T gy &9 fafonm 7 ma T T (x), ffa sgue

T m3 P(x) € w3 QX) € w3z 3 ufe I ggue T € I95 T (X) €T

gt 3t fa

fesfeda® MM &% U3T J13T AT AdeT I £ J5 fadtut famdt €t

Q(x) ~
MyIs gt € Azes € gu i< eamBe JT ferer fesfeams uzrdizrArAgeT |
Lo A LB
(x—a)(x-b) x-a x-b
PX+Q A B
2 (x-a) = x-a (x-a)y
PXZ + QX+ A B C
3. = + +
(x—a) (x—b) (x-c) Xx—-a X-b x-c
2
p px +2qx+r _ A N B - C
(x—a)° (x—b) Xx—-a (x—-a)° x-b
5 PX* +ax+r _ A, BxiC
© (x-a)(X®+bx+c) T x-a x2+bx+c’

&g X2 + bx + ¢ € »fdT ISHUF &4t 13 AT A< |
* YStHaus gnar fesfeaans
feafeaons € 9% &9 gea™ &3 3¢ feafeaes & fan fea Hifsa fesfeaes
ﬁm@alwwmhﬁw&awxmmwhﬁmw
uﬁwww@ﬁalmmmwmmmw
?mﬁm&mwmgsﬁwmémmwm
feut &t =93 gge 3¢ wAt I& fad wsa/firdmat fesfedast & yru3 dae It |

@) jtanxdx=|og|secx|+C (ii) jcotxdx=|og|sinx|+C
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(iii) jsecx dx =log|secx+tanx|+C

(iv) jcosecx dx = log | cosecx —cot x|+ C

* Eﬁrwﬂewmr'rfewfaam

—Iog x-a +C
X+a
a+ X dx 1 X
—Io —|+C =~tan'Z+C
- (i) J‘x2+a2 a a

=sin” 1—+C

W) |

\/7 Iog‘x+ x?—a?|+C (V) J‘\/i
(vi) I—ﬁazzlog|x+\/x2+a2|+c

¢ »iEt gt fesfeaens

fe3 3T e8at f w3 f,, @ Bt wiAt yug s9e ot far

d -
[ 100,00 dx= £,() [ f,(x) dx— {& £(0)- [ £,(%) dx}dx, WIETS &
eBaT ¥ Jeaes € feafeaas = ufosT e85 x g+ @85 w feasfeaes -
{ufgwT e f3edan® gefd x gr e%s T feafean®) e feafeaasfen set
UfgsT eBs m3 gr eBs T Bfeg S fSo fors e et 83 T IAuRe 39 3
A& fen 397 € €56 & T e84 € gy f[Tu 8T grdter J faner fesfeaes A
U3TI= |
¢ e+ () dx=[ef(x)dx+C
o fesfeams et g7 um famit
2
@) J.\/xz—a2 dx:%x/xz—a2 —%Iog‘ X+ X —a®
2
(ii) J.\/x2+a2 dx=§\/x2+a2 +a7|og‘ X+x% +a’

2
(i) [va®—x* dx=§\/a2—x2+a7sin‘1§+c

+C

+C
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(iV) J‘ dx J‘ dx
ax® +bx+c Vax? + bx+c

yirfez gu &9 fer 39t gefenm AT AaeT I |

[2 b c} l( bjz (c bZH

ad+bx+c=a| X +—X+—|=a|| X+- | +| -———

a a 2a a 4a
jp“—qu _px+qax : . .

M 2@ s bx+c m Faaitt famit € feasfeaes &
waa/firrrat gu fET fem 3§ seferT Am AaeT T |

F9aitt famnt € fesfeaas &

|

px+q=Adi(ax2+bx+c)+B=A(2ax+b)+B AMIBETHB UIT
X

IS & BT O&T Ut & JreTat €F IBaT ST Jel I |

. nmﬂ:f(x)dx & =o@, y=f(x), a<x<b, xT3 w3 ordinates x=amd
x=b T fug 439 € ¥39ew © U fIT Yz stz T IHs 56 fa [a, b] feT
xfeg fdg I 3 j:f(x) dX §39eH €56 A (X) & TIATEET J | 439 8856
T HASY A'S a%& S Hfsa Yie <% Ufeg daer J |

7.8 .2 fexsfeaes a@s € ufast Afga yie (First fundamental theorem of integral

calculus)

ufr&rl.ﬁﬁa@ﬁ%%smA(x)zI:f(x)dx,m% YV x> a, @ BE, 378
Yz digT AT 9, fig f § W39 [a, b] 3 araa Hiewr farnr 7, 3
A =f(X)Fd VY X e [a b] & B

o fesfeares aws et grt Hisa yio
He 58 fa e »ize® [a, b] 3 Yoz f, x €q Zarae e&s T 3 F fEa

e (VAN d ~ . ~ ~ ~ a
grerems I e o FO)=1(x),f Sygems xe =T

3?f:f(x)dx=[F(x)+C]2=F(b)—F(a)

fen & femarg [a,b] 3 e Ffv3 feafeaes fagr Aer g 68 amz bfesfeaws
Tt A=t muBEt 95, ad JaBt iHT w3 bg Quast ivr afde a1

—_— % —
%*



+» One should study Mathematics because it is only through Mathematics that
nature can be conceived in harmonious form. — BIRKHOFF <

8.1 gfHar (Introduction)
frr i3t i< mimt f3gwT, mrfeast, &y 9g9gw w3 Jad
T 5% 5% Y-TY 3T et i3t Has Tt nirfe € U3des
& greaT € Bet g9t v rifois &3 7| feoad des
Tt MEF M=t € &et aifel e rMgysdr e fen
Yd'd € H39 MU g€ I& | fegast nuret g3at &t morfesT
38 WAl MEF ATUd6 HAST © 4396 ©f JISET ad AAT
It 1yq fea <t feg 39 =0 gwaT fwd u3dew et gresT &
B Tel &4t 95 | fen € Bt A fesfeads a&s € a9
HIBUT €t 7ga3 J=ait |

fug® mforfe &g wAt, 79 € AT € gu fee Aifis
fesfeaast €t gieaT o AN T y = f (X), U3 M3 aeit

- - - ; A.L.Cauchy
X=aXx=bn3 XT3 &% fwd 439ex § 3™ d95 & (1789-1857)
wipHs 13T T | fer mftmfe fEg it Arads S99t & %3913, Ag® JUT=r w3 JadT, UdTasT

»3 fefsur (d=8 Haa gu) et Irut & 9 fug 439es § UST 96 © et fefafeaest €

fea uH migyGaT e niftrrs gatar | Gudas <ad fegars fug ¥39es & <t U3 9T |

8.2 AU9s a4t € M39913 439es (Area Under Simple Curves)

fue® mferrfe fE&g wrt, 73 € AT € gu 9 Alfi3 feasfeaes w3 aws & ifsa
YN € 293" Jav 9T AW fesfeaas €t aresT fae dist 7e, er vifors st 7 1o
WAt TFT Y = f(X), Xx-TT M Tt X = aM3 X = b 5% fwd 439 & U3™ J9& ©F
MHE M3 739 farns 7% J< ==t feut € gour aoe of If939 8.1 [t =ag &
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#3913 U39eH & Y3 UIF mIF &, Y
fremrer fare3t 9 Ut 5% g Rae Tt 1y y=f R
SuEt ma dx S=et @8t e feufawmrdt Ut S N
3 feg9 ad | fen &9 dA (waat Ut e
§39e8) = ydx, fig y=f(x) J1 e Y

feT ¥39e® WMuTdt 439eE MU= R ET I A x=b
for 39 & wiea fan feufanmdt Afast 3 w3 a Xeg—p - G >X
w3 b fee x T fan We &% sanferr Y fe39 8.1
AT AT Fag y=1(X), det X=a,X=b"I x-UJ &% fwd 437 € & 433eF A
&, 439 PQRSP {39 Ardbwt Uzt Uit € 439es
¥ A9 € &30 € gy 9 9 Aae IF | {93d gU Y
g wirit fem & femr 97 wom@e oh ] 1__»-d

A= [TdA=["ydx=]"f(x)

TFIX=g(y), yTomI gyt y=c,y=das fug v
Y39 €7 439eH JI& 84 H3d 2nfar YUz Ji3r Aer

JI

A= [ xdy=]"g(y)dy

y=c

G it Seh Uer 3 s aee o e fa 99982
939 8 . 2 f&9 Tawfen fapu T
fZuet : mefa feg »ils =a9 &t Afadt x-ud © Jot J, 3t fAefa fiisg 8.3 i
ganrfen faprr 3 | fa@fa &g x= a3 x=b 3T f(X) <0 fen Bt &3 T¢ =79, x-

gd M3 demt x=a x=Db
&% fwd 439 T ¥3IeH
feeava § #eT 9, udg wAt
y3de® © fAde AfviaHa H&
€F 9997 a9« It | fem set
Aofa 439e® foe=aHa T 37
wHT fere foduy W& »iags

Ubf(x)dx‘e;sﬁ'—erm

Y
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MY 3T I N g TAae T fa Taa e ¥ T x-Ud © QU I8 M3 ¥ I7aT x-Td &
Jot 3=, A= fa {937 8.4 feg wawfenr famr T 1 ffg A, <093 A, > 03, fer &€t
Tad y=f(X), xTI M3 AT x=am3d Xx=ba & W3 437 e 43 AF3T A=
A+ A, 7T yug stgT AteT I |

Y
A,

x=b
X<g X

X =da

A,
Y’ y
fosa 8.4
Evwgs 1. ¥a9d X+ y?= & TT 43IeH UIT AT |

J%: {939 8.5 fE9 &3 J¢ J99 &% fwd I¢ U39 @7 I & U43deH
=4 (&3 3¢ =99, x- Ud M3 det Ordinates x =073 X = a &% fwa 433es
AOBA T 43de®)
[fa€@far 99 x- g W3 y- Ud &= I Adfist Y
g T B|(0, a)

= 4] yox (et b B 58)
= 4j0ax/a2 —x% dx, X'¢ A@ O

fa@fa x +y?=a2F y=tVva’ - x° yuz gerd
fAe’ fa 439 AOBA ufg® fEq Suret feg nfaz
fem B8t y & usTaHa femr farnr 71 fesfeaes
96 3 &3 3¢ Ja9 &7 fufenr ¥39es I fau Y’
Jufegyuz dgerJ: fgsa 8.5

X a . x| (a & . ,.)
=4/ =VJa?-x*+ =sin? 2| = 4{| =x0+—sin"1|-0
[2 2 } {Lz 2"

a
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Y

2 A
= 4( %J (gjznaz B|(0, a)

g aes: fAe fa fo3a s 6%%'earrrfewﬁmr =
J BT UehiT €t 999T dde J¥ Jod emTaT d
fwe 439 @7 I 4IdeH X’ A(ar,O)X
a a O
=4.|.0xdy:4j' Jai-y*dy (fa€?)
=4 Y [a -y +—sm’ly
2 2 aj,
2 Y’
= 4{[2x0+ a—sin‘llj—o} fe398.6
2
—4a—£=na2
22
2 2
Curgas 2. fefeun X—2+§=1wﬁu€r€*ﬁ3€€*ﬁmwaﬁl
a

7% . 939 8.7 f&T fefsun % fwa 433 ABA'B’'A €T 43495
4 63 T8 Tag, x—gd #3 achHt x=0,x = a eH97 YfusT gaet feg
" | fiyg 439 AOBA €7 §39eH
(fa€fa fefeum x-ug w3 y-ud €< f&T gorgg mifist ff9 J)
=4J'ydx(2€aa1ér" Ut & J)

X2 2
J< —+Z— =ls® y= +—\/a —x? YUz ger J, udg 37 AOBA ufast fea

wmmamwywwa fssrm’ra?ﬁ?um

ab
= 4_[05\/a — x%dx sl. 5

2
:4_b|:gﬂa —-X +a7Sln —i| (-’"a-@-) A/\yH\A
a X’ X
(—a, 0) O  a @ 0)
_4 a® .
— —><O+—sm 1(-0
2 2

a B'|(0,- b)




308 afez

dba’n

=———=nabJI
az2?2
oa 9e% : fAe fa 939 8.8 <9 wamfem famir T St Ut &F 99T aae
Je, fefeun @ 439 Y

B| (0, b)

b arb .
=4j0xdy=45j0./b2—y2dy (fa€?) i
'y
B b X A A X
_AY e y2 PR -, 0) 0 (@, 0)
L 2 b 0

b|2
\ B'[(0,- b)
2
B [N P Y
b LZ 2 J o
- fg39 8.8
4a b® n -
b 2 mab J |
mfem™ 8.1
x2 yz . N _
1. fsf&runE+E=1mﬁuausa€Tumu3Taal
X2 yz . X _
2. fefsum 7+E=1mﬁwm€*mwa€|
UnE 3 13 4 f[Ao Adt €3 et s aqd|
3. ufost JuEtfeg dag R +y2=4m3 quet x=0,Xx=23% fug 439 =
U3deH I :
A B) = o) = D) =
(A) n (B) 5 © 3 (D)
4. TIT Y2 =4X, y-Ud M3 IUT y = 357 fwd 439 T 4I9EH I :
A) 2 B g C g D g
(A) (B) 4 © 3 (D) 5
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g2a® Gergast
Ge99s 3. JUT y = 3x + 2, X-Ud M3 et ordinates \
X=-1mM3 x=13 fwgd 437 T 4398 U &J |
75 : fae fa fogg 8 .9 feg wanfemT fapur 3, 3y y

[SINY

=3X+2,Xx- g3 § x= - I fuset T Mz

-2
XE(‘l?] T et fem er a9 X-U9 @ Jor T M

-2
xe(?,l)@xﬁfmwm X-U9 & §ua J1

F3ter 439e® = 439 ACBA ©F 433e8 + 839 Y’
ADEA T 439w | fon @t i 439ew fesa8.9
=2 1
= j 3(3x+2)dx+j (3x+ 2)dx
) -2
3

Euuas 4. x=0MI x=2n & fegdg =d9

Y = COSX 3™ fwd 437 € 4396 U3 &J | A E
7% : f939 8. 10 T, FSeT 433e® \B b )

=~ ~ ~ 7, /1
=439 OABOET43de% + 439 BCDBeEr X<

> X
I T 3 F
¥39e% + ¥39 DEFD T 43925 2\/2

ferr et SFter 439eH v C
feéga 8. 10

21

+ _[ cosxdx
3n
2

3n
j: cosxdx
2
3t
[sinx]?
2

T

joz cosxdx +

T

[sinx]” +

) 2n
+[S|nx]3n =1+2+1=4
2
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e 8 3 g2a® HITHH
1. f&3 I8 =99t wT Y=t &% fWd 439 € 439eH Y37 a4 :
() y=x% x=1,Xx=2 "3 x- ga"

(i) y=x%x=1,X=5"3 x- Gar

2. y=|x+3 ?mf&%n@flmfﬂdx TN UITET|

3. X=0 M3 Xx=2n M3 TATY = sinx feod9 fwg 437 T 439eH U3 J4 |
435 IT ymst fSg rat §3g St s a9 :
4. TET Y =X, X-Ud MI dett ordinates X =—2, X = 1 5% fud 439 @ 439e%
T
A 9 B _—15
(A) - (B) 4
o B o 7
©) 4 (D) 2
5. @FTY=X|X|, XTI M It x=—1mF x =15 fwd 439 T 43385 T |
A) O B 1-
(A) (B) 3
o 2 D) =
(©) 3 (D) 3

[fag:y=xaefa x>0m3 y=—x#e x<(
¢ TITY=1(X),x- g M3 du=r x=am3 x=b (b> a) % fwd 437 T 43S
b b
nga:ﬁm=jade=jaf(X)dX JI
¢ TITX=¢ (Y), yUd M3 du=t y=c,y=d & fwd 439 € 439eS €T H3 :

~ d d N
4995E = [ xdy=[_¢(y)dy J!
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fefsafaa 32

fesfeae® aws v & aifes € ggrst feam g 3 ot 3fenr 9| feg yae
waTat Jife3Iarat gnmaT feafig (exhaustion) fedt 3 »urfez T | fer fedt & Aaw
A3 {9307 € 439e® M3 &° SRz & #fe3s ©f diesT 578% Aafuzs Hafast
T I% feg 9fenrm T I fer 397575 (exhaustion) fedt, & fesfeaans fedt €t gt
AfaSt € gu &9 mifewm A AaeT J | {ie3T (exhaustion) feut &7 A9 3 <u feam
Hg 3T % f&9 @3an (Eudoxus (440 €T ya=) M3 »igaitsta (Archimedes
(300 €T Ya=) € IHT &% Ifemr I

aBs & fAuts e gy feam e 3° 173 Aet g @9 3fenm 175 1665 9
fs@es & a®s 3 muer o y=w € fAuiz (Theory of fluxion) € gy f<e B9
ﬁlﬁwammﬁmmemmgmwwm?m
WWWE’?WI%@%K@WG&&@W@W 38 AT Fa<edT M3
fsﬂxwrﬁaﬂeﬁe(mfem) T FUSH Jyret ©t §e fedt (Inverse
Method of tangents) €7 &7 f&37 |

1684-86,  f<T feafaa (Leibnitz) & (ActaEruditorum) f&e nmactas grfumr
far & (Calculous Summatorius) & f&3T, fagfa feg nearfe3z €¢ 43gens €A77
&% HEUI At fAgst e 63 A3 [ ewrdr eantfenT| 7 1696 &t feg 8uat &
9531 (J.Bernoulli) € Fgf & Has & MU mraeta® & feafeaas € a&s (Caculus
Integrali) &7 <9 gew €37 I feg 3* faGes 8 f€3 ar€ Augn Jur=t &t Gwe feut
(Inverse Method of tangents) € #ar3 At |

fs@es w3 feafan €5t & Ygs 39 3 »iae IHST muSTfenT 1 fasa® SU RS |
ug wnw fg 82 fruist @ a3t feorad 39 3 9 g ue o | B<fan & Mg
fesfeaas €t ugaT €t =33 a3t |
feg fonfezs ¥ fa €0 & A 3 ufgst mine gu ST & ySi3dfes w3 Afvz
fesfeaes € fau &t 3<ts Ji3t|

fifer feg T fa feafeae® a@a et »ruag 3 uasT=r, fAUist w3 feedans
TBS 575 fene ggnr3t gt e feam ut . 5t gane, mret. faes w3 7t fsafsm
@ oHT gmTaT 17 e’rnwe’rermgfevzrfewlﬁae’rfeﬁwwm AT &
Aa®Y € w3 1951 AITEEl € HY 99 €. 9. a?ﬁ(ALCauchy) Croy
feafz a3t aret | 73 f<e Bt At (Lie Sophie) & 9 fadt gews 3@ "It may be
said that the conceptionsof differential quotient and integral whichintheir origin
certainly go back to Archimedeswereintroduced in Science by theinvestigations
of Kepler, Descartes, Cavalieri, Fermat and Wallis... The discovery that

differentiation and integration are inverse operations belongs to Newton and
Leibnitz".




Differential Equations

+» He who seeks for methods without having a definite problem in mind
seeks for the most part in vain — D. HILBERT

9.1 gfHar (Introduction )

M3 X| w3 few ynza & niftmrfe 5 feg vt 9o st
A, fa e 7339 9% &% fan @ f * e 3diefe= fas
UIT A137 AT AAeT J; H3BY fan evs € W 38 399 e
Tane X &g, f'(X) fae Sfew 7 raer 7 | fen 3 fewr=r
fesfeae® arfes © us g <t wint 999 A3t AL, fa A9
fonrezs f v 3diefees e®s g T 3T ewas f fam 397
Bfgnr (U3) FI3T A= | fen & Jo TIAT »igHT BIET
FITATHICTT

fan €3 98 @6 g Bt ews f Sfowr e st fa

dy

&=g(X) ffg y=1(x .. (1)

Henri Poincare
(1854-1912)

milgge (1) € U T3t Aigae & feed ims mitaae afde g | fer €t garfeer

ufggmr gove f&g faat ar<ait |

fgedans milaget e ytar vy gu &9 3f3q, anfefea fefomrs, die-fefarrs,
THSTST FIS, MIE HTHIT #fe € FY-TY ¥39T fT9 3T Ater I | mitg f&e Adtmt
nrufad fefamis aat wet fsed s mitgaeT & arfaeet 575 ugs & 993 Aga3 J |
fen nifonrfe fET »t faed Hme milaeeT € 9 H® U Uda'=T fSednas mildaeT &
fermua w3 v 3%, feed s mitageT & ser@er (UeT) agsT, ufad aet m3 ufost
fgardt &t mitageT § 9% a9s et g¥ feubt (39) w3 MBIT-mBar u39t ff9

f8edan® mitadeT @ QuEar g9 MfoHs Jatar |

312
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9.2 Hf&a Aa®u (Basic Concepts)
At ufgst 3 9t 95 fafuz mildeet 3 A ot

X*-3x+3=0 .. (D)
sinx+cosx=0 .. (2
X+y=7 .. (3)
Mg, J&T TIHTEr AMaee §79 fegrg adie |
dy
x&+y=0
.. (4

A& Uzt I famitage (1), (2) M3 (3) <o Ao p33a w3 /fsg9e (fFaat€n
3 JU) IHS 95 A fT Hidee (4) ST 9% € 5% 5% B339 9% (X) € MUfd3 98
(y) =7 Sdtefe=s €t wivs T | fem 3g7 T mitags Ay feed ims mitaes nye@er I
Wy 39 3 8T vifaar mitage, fAn <9 7339 98 € &% »ufd3 9% F 3diefee
A1 32, feednsa® mitdds my=8er 71
& mfaaT fseonss mitade, fan f&9 ffx #3390 (vae) 9% ©7, fadgd 9% =T
Fdtefes H® I, (W femmue) 3diefes nye@er 71 Bvds -
d?y (dyj?'
2—+|—| =0 .. (6
dszr dx ®)
& M f3edna® midds T
gnd, ferr 3gT & <t f3einss milaes i€ Ts fagT e ffa I SupSsgas ©
g3 Sdtefee St s 3¢ 9%, fer yag € »miq Sdtefee mitdas mu=8e I5 1ug
fen izg 3 it MuE iy § =% M feedans mitageT 3 It Atfis due of Ifen 3°
T mHT W f3edRa® Mitade BTt f3edna® mitads Hae @ ot ©udar Jatdar|
- Ut
1wt feeorsst € et Jo fou fomrst & ytiar gatar |
dy ., dy_ ., dy_
x e e
2. €9 Ton =% 3dfe=r @ o, famrer 39 gdames)ér__auféqeaﬂ@?é‘m
mmlmwnééﬁéﬁéﬁe%%mmﬁﬁ&s y, &yt
. X
AT

"

y
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9.2.1 [FedHbH® AHiddE & I (Order of a differential equation)

fart fsgamvs mitaas v av, 89 fsedons mitads v A9 3' €9 3dtefe=, En feT
U A T% MUTTI3 9% €T A3 39 9% &%, 7 milage € g & ygTz ageT I |

35 foY fsedans Miidee 3 fege aigr A= ¢

dy _ «

— =g

dx ... (6)
d?y

G +y=0 .. (7)
d3y d?y °

ﬁ"r‘ X2 [y =O (8)

mHieEs (6), (7) M3 (8) few giee : ufad, gr M3 3tH QW ¥ 23 3etefes ome
I%, fen e feast mildaet & g gHee 1,2 I 3 31
9.2.2 FedHbH® mHiade &l [Farat /a2t (Degree of a differential equation)
far fsed s milage €t faret/d<t e U3 a9s &et Wy fie feg J fa € fseawns
miteaes, Tguet vy, vy, v mife e sguet nitaes det adtet 3 | 35 f&int mitager
3 fegaaq:

_+2L ) -—+y=0 .. (9)

[%]Z%_sw y=0 ... (10)
;_"imn(;_‘ij o (D)

fea wit feg fifer dee of fa milaee (9) vy, y' w3 y SgU<t mitdds T | mHalae
(10) y &9 sgust 71 (799 feg y <o gguet st 7| forn 397 fSedmms milaest
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g a<t & ygraz disT A AgeT I 1 ug mitges (11) y <9 sgust mitaee &t 3wz
fen yarg € feed s mitdes & yafas aat disT AT AaeT J |

#99 fea f3edmm® mitags 3dleest @r gguet mitags T 3 €W fe=gamvs
migaE e gH 3 8T g= J fa §H fedans mitaee <o vige €93 av 3dtefes
gt w3 (TEIHT AUTS)

€ ug fo3t aret ufggmr 3wt feg fifer ofe Aae I fa mitaast (6), (7), (8)
wWI (9) &9 79 g &t w3 fea 7, mitaaes (10) &t w3 2 T A< fa fSeam®
mtges (11) St w3 ygfig st I

| Uzl | fart fomdrinms mitaae e gy w3 fSaret oHET TaTINd Auds Aft
Je gdie I3 |

Gvwas 1. Jo Tanet SeaHt® mitade <9 99 fa @ qu w3 faet ugr a9 :
_dy ) d?y (dy) . dy
0) &—cosx=0 (ii) xyW+x( —yazo

(i) y"+y*+e’ =0

dx

(i) few fsedmtm® mitaoe <9 Hge 89 g 3dtefes & Jifenwetferergnl

31 feg y feT sguet mitaas T w3 % ot mifgeay w3 1 J, fom &et fem
f3=amm® Mitades &t a<t/f3aet 1 T
d?y

(i) few fseamm® mitage <9 ¥ige €9 g 3dl<fes v J i fer met femergw

N N d’y _ dy .. . . d?y
ZUIWWWW wafe—v"a@uﬁmﬂmaw WE:T
mfgaa w3 1 T, fen et fen f3edmms mitadas er gy 1 7|
(i) few feeamns mitage ff9 Hge €9 gy sdtefes y” TIfer set fem e g 3

T fem mitaee f&9 dar umr Sdtefes (ggush) aat T | fen wet fon <t fsaet

TIATET BT AT AT T |
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| mfe 9.1 |
13 10 39 € yast &9 g9 ffa & gy w3 f3aret (A9 ufggfaz I) 3TusTaq|
dy (dsj4 d’s
1. —+sin(y")=0 2. vy = | — | +3s—-=0
o T y+oy=0 > at?
2
dzyj (dyj d?y .
4. | —5| +cos|— |=0 5. —5 =C0S3X+3Nn3x
(dx2 dx dx?
6. (V) + () +(y)+y=0 7.y H2yHy =0
8. y+y=¢ 9.y +(¥Y)?+2y=0 10. y"+2y' +siny=0

11. fsedwt® milades <t farat

2.\3 2
FIRi
X X X

(A) 3 (B) 2 © 1 (D) ygfaz &t T
- ,d%y _dy -
12. fsedwty® mitage 2x W_gaﬂlzo TIHJI
(A) 2 (B) 1 (C) 0 (D) ygTHa aat T
9.3. fSedHim® AHidee e femua M3 U 3% (General and Particular
Solutionsof a Differential Equation)
fugst M3 <9 wit I fodt mitaes™ § T8 a3 T -
X2 +1=0 . (D)
six—cosx=0 .. (2
mitgaet (1) M3 (2) e I% g sw3fea At Hnaz Afwnr T 7 fa €3 98
migae & AgHe Jaet J g< Ae fen Afun § mildae 9 »isae mildge x & A
3 Ffom AET I ST U UAT A UH € 999 J ATET I |

2
g< f3edmms mitaas —y+y=0 .. (3
3 fegg qae ot
ufgstt € mitagst © E@c fer fagdnss mitaees o s fea iAo ess ¢ T &
fen mitags & Agwe J9ar g= A fon e85 ¢ & fSedmms mitaes fEg nisme y
(wufazg 9%) S AqT 3 I A AT HET T 3T HET UHT R U € §9TH9 § AT T |
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B Yy = ¢ (X) fSearitm® mildde e 7% a8 (feafeaes €39) au@er T3
f&it e¥s '3 fegg a9 |
y=¢(X)=asin(x+b) o (B
feg a b e R. 799 fer e®a w3 fen € 3difes & mitage (3) &= sfomr mrer
T 3T YT UTHT I HAT UTAT 86 WU {9 99789 7 AT 9% | fen oet fen euw fsgamtns
migee (3) e IS T
He B9 fa an3 bd IT YR ANT a=2m3 b=— & {3 A< 75 3 g Tou
TBS YUI JET I 4

y=¢,09 = Zsin(x+%j .. (5)
Hag for e%s M3 fen € Sdl<fee & mitage (3) v sfomr 72 3T ys 3 ¥ar
UTHT "3 HAT YT »un <9 9999 7 7 95 | few st ¢, =t mitage (3) evdB I
e85 ¢ A< ez mos a, b wiis I w3 feu evs &3 3T es o femmua %
MyRET I I AT I8, ¢, 7 A< Ee3 »98 I Haz 7 9= forua I8 i s ffes
IB 3 HII T I= fonma 3% <9 ¢, A= e nes §ymahg e I Y3 4,38
feedm iz mitags &y a w3 b & e @er J|
WA 3%, 7 AT fe3 W9® 3 ya3 J 9< fermux
% &9 AT €3 % & yH iz g 3 YU3 %, faed s mitage e w35
e I

2
Geuge 2 UsIB AT fa eBs y = €3X,1%¢e-?ﬂﬁwmﬂaa€%+(;—d§—6y:0wﬁx
= X
I

I - fegrgferress y = e 3 I fen € S Uit e Sdlefee x € g9z d9a YUz
gae It :

ﬂ:3 3x 1
o e - (D
J< mildade (1) 98 x & 993 Fdliefe< add WA aye It fa
d%y

? = Qe
X
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d’y dy . v on = . y - -
Kz,d—iwyém,f@ﬁaﬁmmmaﬁamﬁmmwﬁ
qgT UAT = 9e ¥+ (3 ¥) —6.e*=9e>-9e¥*=0=HaT UAT

fen wet fagT Ifenr o faedms mitaes e fea 7% 71

Gewge 3. 3w faeBs y=acosx + bsinx fAar f&9 a b € R, 3=z
2

mlagst d y+y=O€Ta“'$?r|

ax?

7% fagr dfemrr ess §

y=acosx+bsnx . (D
mlads (1) & €& U a7 3diefes X, @ 9793 &% Jd& I MHT aue It |
—=—asin X + bcos x
dx
d? .
—Z =—acos x —bsin x
dx

d2 > N = . o - i - .
KZ w3 y <t dz &3t Iet feeain® mitage fE9 99 o wit yru3 g9e It :
¥gT YT = (—acosx—bsinx) + (acosx + bsinx) =0=HAT UAT

fen wet fa3T Ifonr eus, fia3t Jet f3ed e mitdds e J& J'|

mfe™ 9.2
1 3 10 3 99 YA f9 uz3™® a9 fq &3 ifen™ e%s (AiHe w3 »AdEe) Ao
fgedms mitdas v d% T :

1. y=e+1 : y'—-y =0
2. y=x+2x+C : y —-2x-2=0
3. y=cosx+C : y +snx=0
Xy
= 2 : =
4. Y= 1+x S
5. y=AX : Xy =y (x=0)

6. y=xsinx DY Ty HX X —y? (X% 0T X > yngEIxX < —Y)
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2

Ly
7. xy=logy+C LY Ty (xy=1)
8. y—cosy =X : (ysny+cosy+xy =y
9. x+y=tarly : VY +y2+1=0

10. y=Ja2_x2Xxe (-4 a):x+y% =0(y=0)

11. 99 gH T8t It f3gd s mitaae = fermua 75 8n fTe wiis /e fees
et gt fare3t 7
(A) O (B) 2 € 3 (D) 4

12. f3s g =5t fant fsgdmms mitades v yw 7% 87 <9 miis re fees ot
at farest T
(A) 3 (B) 2 © 1 (D) O

9.4. ufg® gH w3 ufast a2t/ fearat @ fSedHv® mildeet § I ag9s € feat

(Methodsof Solving First order, First DegreeDifferential Equations)

3= feubut €f 599 Jatar|

9.4.1 IB* & MBI MW AT 96 TBMHT AHiageT (Differential equationswith variables

separable)
ufad g 3 ufast 3t € fsedms milage e J5 Sanfenmr gu de J -
dy
o (x,y) (1)

Aad F (X, y) € IEEEH g (X), h(y) € gu <9 ganrfenT 7 AaeT I fiE g (X), X T e85
I3 h(y), yeTesa I 3T AHidae (1) I8 § MBdT 96 BT AHIgdS My e |
wifrgr 9 3 taee (1) & I35 fau gu e fafirr Ar Ager 9 -

Y =he) o0 e
#a9 h (y) = 0, 3T 98T § M&dT dae I¢ MHidde (2) &
1
) dy = g (x) dx -3

T gy <9 fafiorm a7 Aaer 3| milage (3) € @& ufmt e fesfeae® d9s 3 A
Yz gerd:
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1
wdy:jg(x) dx .. (4

fen yarg milage (4), &3t I8t feed s milage €T % Jo fey gu f&g gen@er
J:

H(y)=G(X) +C .. (5)
feg H(y)m3 G((X) = ﬁ M3 g (X) T Y3t 3dtefee g6 M3 CH= fies mes
T

Xx+1

Gugas 4. f3=IHW® Mmitags ;—dizz—y,(y;tZ) o ferug I& U3t a9 |
% : fagr farr T fa

dy x+1

2 _ 2= 2 (2

& 2-y (y#2) 1)
mtgee (1) 9 98T § MBI 96 3 Ag Yu3 Jer J

(2-y) dy = (x + 1) dx - (2

milgge (2) € €5 Uit & feseads das 3 At Y3 Jae It
[-y)dy=[(x+1)dx

2 2

y

Cu 2y—7=7+x+cl

G X+y?+2x—4y+2C =0

G X¥+y2+2x—4y+C=0 .. (3)
feg C=2C,

mitade (3) fsedwm® mitade (1) e forua 3B T |

2
Eergae 5. f3edHs midde %:T—yz o formug 3% J1
X 1+ X

Js : fa@fa 1+y2= 0, fon zet 98+ & mBar gae I &3t It f3=a s mitaee 35
feu gu f&T feut A7 Aaet
dy  dx
hy? 105 . (D)
milage (1) € &t Uit § feascarde Jae I8 »At Yru3 Jae It
[
1+y* T1+%°
g3 tanty=tanx + C
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feg mitage (1) = forug J& T |

Gugas 6. f3=dHM® mitaas %:—4xy2 TYAIE UST I Add y = 1 A
Xx=0TI
I8 : "Agd y# 0, 37 &3t 9Tt faed s mitage & I fau gu e fefimm ar raer 9
dy
— =~ 4xdx (D
milgge (1) € &&" ufit § fesedrde aaa 3 »Al YUz dae It :
jd—¥=—4jxdx
y
. 1
= ——=-2¢+C
y
T y_; 2
A 2 _C .. (2

Maee (2) [T y=173 x=0998 3 »At C=— 1 Yyy3 qae J7 |

Cetaz (2) f<u 995 3 &3t ¢t fasomes mitdes erum d® Y=
Il

Gegas 7. f§w (1, 1) &9 dwe =8 fq nifadt =39 €t mitage u3™ a9 far &
feeawmr® mitags x .dy = (22 + 1). dx (x = 0) T

Js : &3t 9t mitaees & 95 feu gu f&9 eanrfer 77 AaeT 7 ¢

2
dy:(zx +1jdx
X

yuyz ger
2x2+1 ~ <

= dy:(2x+ 1jdx .. (1)
X

miigaE (1) € €& Uit & fescarde a6 3 At YUz ae It

*  BUaE gudr g o gagzmaﬁwfrn@ma’rha’rm@ﬁmmwféa

dx
Sutiat ge T, i€ »t dx w2 dy & AU Aftprret & 39T T93€ T dx WM dy & WS mdar
AZ™ H& & wiAt 593 Adtit fiedtut @7 &3at fenrfyn a9 Aae 9t | 7T <9 Introduction to
calculusand Analysis, volume-l page 172, By Richard Courant, Fritz John Spinger — Verlog New York.
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[dy=] (2x+%jdx

G y=x2+log|x|+C .. (2
mitgge (2) &3t I8t f3edm® mildee € I8 =39 © ufged & ean@er J ua
T fer ufgemg € fed ifAd v A Hsg e milaee usTaesTgge or A fdg (1, 1) &
JHdeT 9= |
fen wet mitage (2) ffE x=1, y=1336 37§ C=0yuz Jerd| CE a3
migge (2) <9 39 A B3Tet @39 & mildae y=x2 + log | x| € gu YUz ger
Tl

Gegge 8. fig (-2, 3), i< we =5t q =39 &t milage uzr a9 fam < fam fig

- N 2X -
(X, y) 3 AUSH JuT €T ¥A= (B&'<T) —, T
y
I8 : A U3 § fam =39 < Ay JuT &t g v %%Wéﬁ%lﬁrﬂsﬁ
dy 2x
—=— . (1
dx y? @D
TS & M1 J9€ I€ MlaeE (1) § 96 €ane gu &9 ffrm 7 AaeT T -
y2 dy = 2x dx .. (2
milgee (2) € Taf it § feseaes
Iy%y=ijdx
. yg_ 2
Hr ?—X +C (3)

mitges (3) 9 x=-2,y=3596 I A% C=5yuz e JI

3
C &t a3 mifage (3) 9 995 3 A B3tet 39 & AHldde y?=x2+5 A

1
y=(3x*+15)3
T v ffgyuz gt 91
Geggew 9. fan 9 ff9 y¥us ff9 TUr 5% A&&T €9 &% Jer J | fad st f&g
1000 g: € gaH g1t I Ar=4it ?

% : Ha B8 fan i t 3 ysus P J | &St I8t vaas € »igwa
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fz(ij s
dt ~ {100

: e_P
F'T dt 20
mitgee (1) ST 98t & MBaT d9s I A YUz Jer J ¢
P _d
P 20
milgge (2) € €& Uit & feaiade a9s I A YUz Jev d -
t
= —+
log P 0 C,
t
" P=e®. ¢4
t
L P=Ce® (ff8 & -(C)
ge P=1000, #¢ t=0

E’m—;f t & a3 milaee (3) €9 995 3wt C = 1000 yu3 Ja< ot
fen et milgae (3) 3wt YUz qoe It

t
P=1000 420

H& € t st 9 yaus egreT 9 Aer J, 3t
2000=1000 3 = t=20log2
mfgH 9.3
1 3 10 37 yrs &9, 794 faeamns milase e fenmug 3 u3T a9 |
1-cosx
e 2. é—di=«/4—y2 (2<y<2)

dx 1+ cosx

3. ;—dier:l(yil) 4. sec?xtany dx + sec2ytan x dy = 0
_ dy .2 2
5. (@+e)dy—(e—e’)dx=0 6. dx—(1+X)(1+y)

(1)

Ne)

. ()
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7. ylogydx—xdy=0 8. X'—=-Y

9.

(;—dizsin‘lx 10. etany dx + (1 —€) se2y dy = 0

11 3 14 3T ymat i[9, 999 fseamwtm mitage € et fe 3t I8t mest § Agwe
TIS THTYH I& UIT I3 |

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

d
(X3+X2+X+1)d_i =2+ xy=1#ad x=0

dy
x(x*-1)-2=1:y=0a =
( )dx cy=0Hdd X=2

cos(%j:a (@eR);y=1#aax=0

ﬂ:ytanx;y=2ﬁaa'x=0
dx
fdg (0, 0) ST Swe =8 »fAg =99 & Migee U3™ a9 fAn &t e

Miges y = e sinxJ|

- d - . e
fseavE mitege Xyd—§=(x+2)(y+2) T wetfae (1, -1) 39 dwe =5t
TIT T IS USTIT |
fdg (0, -2) fI9 dwe =&t nifadt =39 & miade u3™ a3 fan € fan fée
xy)SAERIT T Es T M3 G fig dy < fasennig e geses Erfdg e
x fagew »ig @ gor99 I5 |
feq =39 € fan fdg (x, y) 3 AUdH 3uT € &', Auan fie &, fde (-4, -3). &
g8 =8 Jur ¥z & g% 3 garet I | Ad feg =39 fie (-2, 1) f[<e" Swer
J 3t fem e zg St mitdas U3 9 |
e JT®TaTg IraTd @ wrfeas, fan fSg 9= 99 & exTfomT fapdT I, Afad o7& &%
ge® four ot | a9 gy <9 few grama & migg femm 3 fearet I w3 3 Afds g
6 fearet I 3T t Afas gwe fer Irg9 e widg fom y3T a4d |
fan §9 <9 y8us ff9 =0T r% AS™ST € €9 578 Je7 J | 7dd 100 g: 10 AST
fSg dare T A U5, 3T r et sz usTad | (log 2 = 0.6931).
fan oo ff9 yous <9 Tur 5% AsTsT € §9 578 Jet J | fen 89 f&9 1000 g
T Jg=E 7€ I5 | U3T dd fa 10 st gmie feg gan fast I A=at | (65 =
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1.648)

22. fart dierg feds f&9 mleren € fAfwnm 1, 00,000 1€ uifent fET feost €t
Aftmm 10% &7 =ar ger 9| fas ulfent &g dleremt & Aftrr 2,00,000
M, Ad9 AT 8 T 29 §ust € ¥ge At € ANTS U3 J |

23. fsedwhs mHidas %:e“y?f—ewmaa%fr:
X

(A) ee+evy=C (B) e+e=C
©C) ex+e=C (D) ex+e¥=C
9.4.2 RHIY 33 HIHS AHldGE (Homogenous differential equations)
xmM3 y ¥ forsfauzs exst 3 fega a9 -
F, (X y) =y + 2xy, F, (X, Y) = 2x— 3y,
_ y .
F,(xy) = COS[;j, F, (X, y) =sinx+cosy

Hag Quda3s ewat ffg x w3 y & fan »ew A € ST gHEd WX m3 Ly 5%
IE1S JI3T A= 3TATG YU I=ar |

F, O hy) =22 (y + 2xy) = A2 F, (X Y)

F,(AX Ay) =L (2x=3y) =L F,(X,Y)

Fy (A, hy) = COS[%}COSG) =212 Fy(xy)
F, (A%, Ay) = sin Ax + cos Ay # A" F, (X, y), I€t St n& &Lt
feg »it feg eue ot faesa F, F, F, & F(lx, Ay) = A" F(x, y) € 3y <9 f3fumr
AT AIeT 3, UT 886 F, & femr gu fe9 a9t fafierm A7 Aaer 7 | fer 3° »it fonsfaus
ufggmT YUz Ja< I7 |
%5 F(X, Y), N@H T3t AHgU €86 muT'ger I | a9 fan Jid fieg mas L € &gt
F (A%, Ay) = A" F(X, )
At 82 J9¢ Jf fa Qudas Gergaet f[Re F, F,, F, 3= 2, 1, 0 d<t =& iHgy
e85 I Ae fa F, AHgy %5 &4t I
At feg = Sue of fa
2
= L+ 2 oin(Y)
X X

X
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" RuY) =Y (1+ Z_ijz yzhzgj
oozl

—xocosl Y |l=x h|Y
F(x,y) =X cos(xj X hs(xj
F4(X1Y)¢the(%j ,N e N E fan S vz st

no (X
At F,oxy) = Y hy(;j,neN
fen wet €T e85 F (X, y), N IH ST ANY SH& MuST8ET I Ad9

F(x,y)=Xn9(yJ o y“h(gj

X

Q—F(x,y) T gu T8I fFedH® mildas Mgy gar8eT J Aad F(X, y) Jid Al

dx

T THT AHgY §B5 I |
o 5
2 _F =gl 2
dx (xy) =9 X

T gU T8 AU AHIFaS & I% J9s & BT mHt %zv#

y=VX
Yz gerd:
MigeE (2) T X &8 Fdiefee 96 I S YUz ger J ¢
dv
Y _vix
dx dx

wiga (3) 3 Y ot ahig miaes (1) K9 595 3wt yug a9 o

dx

v+ xﬂ =g(v)
ax

(1)

- (2

e
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ar x9!=900—v .. (4)
dx
migae (4) <9 98" § M1 d96 I WA YU3 Jae It
&y ©)
g(v)-v x
mitges (5) € ¥&F ufimt § feacade g96 3 mAt YUz goe gt
dv 1
jg(v)_vz.[ ;(dX+C - (6)

HITVE %%—v’aﬁww—%’wmﬁm (6), fe=drm® mitaes (1) = fermug 3

JI

dx
= [CyzT| A9 Mgy fsedans midas @=F(X,Y) v gu 3w §1 &g

F (x, y) fies g =& MgV e&& J 3T mAt X_vat X = vy 99 Aae It M3 feg
y

X

d
Su3as 999 © nigHg @X=F(X,Y)=h(yj € gu f&9 fou & fewmua I3 ugTs9s

FE »idT TS TTI

Gewge 10. Tang fa fe=amvs mitaas (x-vy) ;—'Z =X+ 2y AHgU J W3 fem er

IBUITAT |
Js : fo3t I8t fe=arns mitaes & I feuz gu fee Tanfenm 7 AaeT J

dy x+2y

X Xy (D)
R _ X+2y
He 58 F(xy)= x_y

A(X+2y) ..

F(AX,AYy) =——=4"-F(X,

g= (Ax,Ay) 2 (y) (xy)

fem et F(x, y) fied @ =% gy e85 J |
#3 : &3t Iet feedmns mitaae féa Mgy fe=d e milage 7 :
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;T.Z: 1_—3); :ggj e

milage (2) 7 HAT UAT g[%j T gu <9 T fen ®et feu fieg @y =& migy

55 J | fen et mitgee (1) e migy mtgee I

fen & 9% J95 Bet wnt gae ot ¢
y = VX .. (3)
migaE (3) T x & Sdiefes d9a 3 MAt YUz J9e It :
y—v+xy 4
dx dx - 4
migae (1) ffg y 2 %ﬁmga?;?»mﬂ'maa@w
dv 1+2v
VX —=
dx 1-v
- v _1+2v
dx 1-v
. dv vi4+v+l
Hr _—=
ax 1-v
) v-1 _ —dx 5
FF vV +v+1 X - ()
migaE (5) € €& Ut €T feacade d96 3 At YUz aae It
J‘ZV—l dv = — g
Vo+v+1l X
A j2V+1 3 dv=-log|x|+C

Vv +v+1
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1, 2v+1 3 1
- = dv—2 dv=—| C
w 2-[v2+v+1 Y 2-[v2+v+1 v=-log|x|+
1 5 3 1
: = -2 = dv=-i C
a 5 og|v +V+ | 2-[v2+v+1 v=—log| x|+
At %I09|V2+v+1|_g.|' , 21 - ~dv=—log|x|+C
vH= |+ 22
( 2) ( 2 J
1 3 2 2v+1
i =1 2 1-=."tan™ =—I C
ar 2og|v +v+1] 2\/éan (\@j og| x|+
. 1 2 1 2 _ 4 2v+1
ot 2Iog|v +v+1|+2Iogx =/3tan ( 7 j+C

vV E X,%—w'ms‘fmm‘qmaaa@w
- X

2

. 1 1y vy 1 2 2y +X
“loglX=+=+1|+=logx- =+/3tan +C
F'T 2902 x| T2 ™ V3 (\/éxJ
1Ly y ) L 2y+X
; “log|| == +=+1|x°|=+/3tan +C
i 2 g[xz X J V3 J3x '
- Iog|(y2+xy+x2)|:2\@tan1[zy+)(j+2Cl
J3x
- 2y
; log|(x® + xy + y?)| = 2¢/3tan 1(X+ j+C
A 9|( Xy Y)| Jax

feg fedmi® milags (1) = formua 3B J|

Gugas 11. Tong fq fsedwv® mitaas xcos(zjﬂzycos(z}x AHgY &

X/ dx X
73 fer e I uU3T ad |
J% : &3t 9Tt faeawns milage § Jo fafuz gu e fafomm 7 AaeT J
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;ﬂ i ycos(i) +X L
X X cos(ij

feg Q—F(X, y) € gu = f3edHns mitaee I

dx
ycos(y) +X
X

X& MXEEMI y§ Ay 578 g€ 96 3 MHl YTUI Jae I7 ¢

fEgF(x,y) = T

/l[ycos(y}rx]
F (A, Ay) = X) 2°IF (%, )]
/l[xcosj

F (x, y) fieg g =78 gV €& J, fen set fe3t g8t feedmms mitdes ffa migu
feed iz mitags T | fen & I d9s et W3 gae It :

y =W - (2
Migge (2) T X% 3diefee g6 3 Al YUz aae It
Q—VwLXQ 3
dx dx - ()
mitegs (1) &9 ym3 %ﬁ%ms‘f»ﬁmaﬁ%w:
dv vcosv+1
VA X— =
dx cosv
. dv vcosv+1
A X—= -
dx cosv
. dav 1
A X—=——

dx cosv
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ar cosvdv=%
X

1
fewr set [cosvdv=[=dx

X
Cu sinv=log|x|+log|C]|
Cu sinv=1log|Cx|
v % fS9 395 3wt YUz Jae ot

sin(zjzlogmxl
X

feg fedmi® milags (1) = formua 3 J|

X X
Gurgae 12. f&31 Iet f3=d @ mitdas 2y eVdx+ (y—2xe¥) dy = ORHgy I »3
Agg x=0 A< y=1fd3r 3= 3 fen mildds e" 4y W IB U3 J4 |
J% : f&3t 9Tt fasdwns mitaee & Jo fou gu &9 fafir A7 Aaer 9 ¢
X

dx= 2xe§—y

— -1
2y e’
w3 x
x Al 2xe¥ -y
y o
s 58 Foxy) =2 Y gt B ay) =————2 =4 [F(x.Y)]
2ye’ /I[ZyeyJ

W3 F(x,Yy) fAed a0 =78 Mgy &&& J |

fen wet, fear Ifenr fseamns mitaee ffa migu mitaee I
few T I% B9 FEt, WAl x = vy gae Tt |

migaE (2) € y &% Sdlefex q96 3 AT YU3 9w It :
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dx dv
—=V+ y_

dy dy
mitges (1) feg xm3 % & a3 F95 3wt YUz Jaw It

dv 2ve'-1
Vt+y—=
dy 2e’
- dv_2ve'-1
dy 2e’
. o2
dy 2¢'
| 2e"dv=_—dy
y
At jzeV.dv=—jﬂ
y
Cu 2e'=—log|ly|+C
o X -~ -~
ve 'y 3965 3 WA YU Jae IF
x
2¢e’ +logly|=C .. (3)

migae (3) 9 x=0m3 y=13995 3wl yru3 Jae It :
268+log|l|=C=>C=2
C &t a3 »it milage (3) <9 998 3wt yruz dae It :
2 e +log|y|=2
feg fe3t Iet fs=a e mitage & v I% T
Gewee 13. waw§ fq =397 € ufgew, fagt € fan fdg (x, y) 3 Ausw Jur &t
X2+ y?
2xy

Croar T, X —y?=cxgmar faaT T
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I8 : mAt Free f fa @39 € fan fdg 3 Auer Jur e &y € §9799 Jat I

adx
2
y
1+ =
dy X*+y* _dy T2
fem et X 2y T-l"'dx— 2y . (D
X
A 39 3 : Mflgge (1) AHgY fS=drtw® mitaas 71
fen & U% 995 &t At y = vx Fa9€ I7 |
Y = VX €T X 578 Fdlefex d9& I MAt Yu3 dae It
2
Q=v+xﬂ | v+x%=1+v
dx dx dx 2v
dv 1V 2v dx 2v dx
a vV . dV=— . dV:__
" & v 1V V1 X
2v 1
fen ®et dv=—[=dx
-[vz—l J‘x
G log |[v*—1|=—log|x|+log|C,|
| log [(v*—1) ()| =log |C,]
Cu (V-1 x= =+ C
vé‘% 395 3 WAL YU J9e It
2
(lz—le:icl
X
Cu (Y*=x) =+ C xA" ¥ —y*=Cx

mfer™H 9.4
13 10 39 €3 99q yns 9 ean @ fa &3t get fsed itms mitage migu § w3 fem
feg o ffa § Iz a9 -
X+Y

1. (@ +xy) dy = (x2+y? dx 2. y'=T

3. X=y)dy—(x+y)dx=0 4. (®—-y)dx+2xydy=0
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5.

7.

8.

10.
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xza—di:xz—Zszrxy 6. xdy—ydx=x?+y? dx
{XCOS(XJ + yﬂn(zj} Yy dx = {ysm(zj - XCOS(XJ}X dy

X X X X
Xﬂ—y+xén[lj=0 9. ydx+x|og(ljdy—2xdy=0
dx X X

(1+ eiJ sy [1—%] dy=0

11 3 15 3T T YHST € 399 SedHms mitdaes € &gt &3 98 y3the & Agne a9

THTYH IS Sfgnr A< |
11, (x+y)dy+(X—-y)dx=0;y=1#ad x=1
12, XRdy+(xy+y)dx=0,y=1w"aax=1
13. {xsinz(zj—y}dwrxdy:o;y:% TFagx=1
X
d
14. _y_X-FCOSEC(Xj:O; y:Oﬁaa’x:l
dx x X
15. dy

16.

17.

2xy+y2—2x2&=0; y=2daqdx=1
j—;=h(§J€wwwmmﬂmswmwww
Ferr e et Fe S e

(A) y=w (B) v=yx © x=w (D) x=v
forsfeuz f&9° fagst migy fsedms mitgas 47

(A) 4x+6y+5)dy—(By+2x+4)dx=0

(B) (xy) dx—(x*+y)dy=0

(C) (¢+2y?)dx+2xydy=0

(D) y?dx+ (¥ -xy—y) dy=0
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9.4.3 Iyt fFedHPHE AHladdeE (Linear differential equations)

d

rPy=Q,
T gU T8 feedims mitage, fan ff9 Pm3 Q wes 9= fige x € @& J, ufost
<t & 3t feed s miade aar@er J | ufast gt € 34t f3edmws mitads ebut
Gegast g7 fen ya9 95 ¢

dy

—Z +y=8nXx
dx y

dy (1j x
4| = |y=e
der X y

.y |1
dx (xlogx) x

ufg®t aet &t aut fsedwes mitage e gam gy Afas j—;+F>lx:Ql g, fam &g

P, "3 Q98 I= fidge y ¥ e85 I5 | fer Igt € fogd s milaae &bt Bergast
fors feus 7

QJF Py=Q . ()

& % 995 € et Aifldas € €6 Uit § X €886 g (X) &8 IST J96 3 A'g YU ger d

g (x % +P.g()y=Q.9(x - (2
g (x) <t S< few 39+ a9 3 fa milaes e HAT U y . g (X) ©F Sdiefes g A= :
. dy d
| g(X)&““P-g(X)y:&[y-g(X)]
Gl g(X)%+P-g(><)y=g(><)a—d§+yg’(><)
= P.g(x) =9 (¥
; P:m
Hr

g(x)
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g6 Uit g7 X &% feaeaes d96 3 At YUz doe It

J.de:j&dx

9(x)
At IP.dx:Iog(g(x))
i 9(x) = "

migaE (1) & g(X) = €r* &% =T d95 3 EH Mildas e e UAm x M3 y ©
fan ew& T 3diefes e AT 71 fev @5 g(x) = €r* &3 IT feednss mitaas =r
fesearde greads (I.F) »y=@er |
maae (2) f&9 g(x) € a3 395 3 WAt YUz Jae It :

e[pdx%JrPejpdxyzQ.e-[pdX

ot %(yedex):Qe[de
& Uit @7 X, 578 fesears das 3wl Y3 dae It :
y.e[de =j(Q'edeX)dX

At y=e_IPdX-I(Q-e[PdX)dX+C
feg fegd s mitaes e fermua 35 T
ufast a2t € 4t [Fedae mildae & I a9 Bt B3Te aen
(i) ﬁg%ﬁe%%ﬁmﬂwmn»ﬂmg%+w=Q ¥ gu <9 feu fan f<9 P, Qnes
A fige x € 8% T
(i) feafearde Teads (I.F) = JP> ugraq|
(i) &3t It fe=d s mitaae e I8 farsfeuz gu feT fag -
y.(LF) = [(QxLF)dx+C

dx
ﬁwuﬁﬁéﬁe’r%&’rmmﬁmd—y+ﬂx=Q vaufegdfamfss le—;’
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Q, "9% A a=% yT s I 3 LF = JRY mI

x.(L.F)= _[(Q1><I.F.)dy+C feea s milaes & 35 O
Gemge 14. fsraris mitage %—y:cosx @ forug I8 u3T a9 |
X

J% . f&3t 3t fseamm® mitdae
d

d_i +Py=Q3, fAg P=-1m3 Q = cosx

fermet IF—d 1% =g
mHigde € €& Uit § |LF. &% IS d9a 3 WAt Yu3 Jae It :

e‘xﬂ—e‘xyze‘xcosx
dx
. d —X —X
A &(ye )=e COSX
& Uit €7 x 575 fefedrdns d9s 3 mHt yru3 dae It :
ye” =.[e‘X cosxdx+C - (D
He 39 fa | = Ie’xcosxdx

cosx[e_—_;J — [(=sinx) (- ™) dx

—cosxe™ —.[sinxe‘X dx

= —cosxe —[si nx(-e™) - _[cosx (-e™) dx}

= —cosxe *+snxe”* —Icosx e dx

Cu | =—e*cosx+sinxe*—|
Cu 2l = (sin X —cos x) e~

. (sinx—cosx)e™*

At | =

2
miaae (1) <9 | € a3z 995 3 #At YUz J9e It
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_ SINX—COSX ) _
ye”* :(—je *+C

2

- :5|nx—zcosx+cex
feg f&3t gt fseamm® mitage e fenmmua 3% T
QF'EEElS.%E?WMMWX%+ZV=XZ(X¢O)€TWUVEWG%I
7% . fa3t 3ot fsedmws midds T -

dy 2

X—=+2y=X

Vsl ()
Migae (1) € €6 Uit & X 3% 37a1 g6 3 #AT YTUS Jae It

dx x

fea 2+ PY=Q, & gu o inf feedsons miae 318 P== w3 Q=x'
fer et IF.= Ji%=ew= €97 =3 fa fa [fm 397 fo €970 = f (x)]
fen wet fie3t et mitgee e &

y.xe= [(x) (¢)dx+C = [Xdx+C

2
. X -2
i =—+CX
y 4

feg f&3t I8t fe=a s mitaee & fenua 35 T
Gvwge 16. f3=dHmE milaas ydx— (x + 2y?) dy = 0 & fewmua J& uaT a9 |
J% : &3t 9Tt faeamns mitage § farasfauz gu ST fafir A7 Aaer 9 ¢

dy y
feg %‘l’ Px=Q,,€ gu =8t dut faecdws mHlags T f&g R =—% m3

1
EN 77dy 1
Q1=2yzr|f8rwse°r|.F=eJ y Y _gtoay _ oayt _ 1
y
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&3 3¢ fe=anrs mildaes ev d& 7 -
fem et XE:J‘(Zy)(Ede+C
y y
A X=[ady+C
y
a X_2y+C
y
G X =2y*+ Cy

feg fa3t 9ot feed e mitades e fermua I8 T
Guggs 17. fSeaw® mitdas

d
—X+ycotx =2x+ x2 cot x (x = 0)
dy

TTYH IS UIT a9, fegr dfemr I fa y= 0daq x:g

J% : &3t 3t feeartns mitaees %+W=Q,€§UET‘S’H?T%E‘?MHW%|

feg &g P=cot xm3 Q=2x+ x2cot x J | few et
LE = X% goasnx _ gy
fen &et : f&3 get fSedm® midde T d®% 7 :

y.sinx=[(2x+ x¢cot X) sinx dx + C

e ysinx=J2xsinxdx + [x2 cosx dx + C
2 2
q ysinx= sinx(zij—jcosx(zijdx+jx2cosxdx+C
2 2
ar ysinx:ngnx—szcosxdx+jx2cosxdx+C
Cu ysinx=x2sinx+C .. (1)

migge (1) e y=0m3 X=g 395 3 WAL YUI dae It :

Oz[gjzsin(%) +C
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A _-m
4
migae (1) f&9 C e aiz 998 3 At YUz age It :
2
ysinx=x2sinx— -
4

2
2 Y

A y=X ——

4sinXx
feg fa3t 95t f3edmv® mitdas e" Yy R I8 T
Gegew 18. fig (0, 1) &9 dwe =8 g =39 & milase usT a9, A9 fern =39
efarfde (x,y) SAuaR Iur @ e5e, EAfig @ xga w3 xfasgemniama vy
fegeg vid (W) T e € A8 € I 9d J |

(sinx=0)

J% . wHAT Aree o fq €39 < AUdHE JuT & ©% e % o g9t99 J<t 7 | fon st

dy
— =X+
ax Xy
. dy
-z _ =X
G i . (D

miEas (1), 2+PY=Q @ gu & it famdeis mitoee 31 78 P=—x
w3 Q = x3 1 fort et

=X

IF=e % _e2
few =gt fogt Jet miteas er ds T ¢
yez2 =I(x) (e%)dx+c - (2
s 58 1=[(e2 dx
e 58 7:t,3+—xdx=dtﬂ+xdx:—dt
ferm et Iz—je‘dtz—et =—e_7

Miaee (2) f<9 | &€ a3 996 3 Mt YUz doe It
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At y=—-1+Ce2 .. (3)
Migas (3) =39 & ufgeTad &t mitaes I, ug wint few ufgerg € & wifAd Weg &
A mBoa ea A0 AUKE D>UGRE (0,1) &9 Swer I 1 milaees (3) f&g x=0m3
y=19395 3wt Yu3 dae It :

l1=-1+C.eed" C=2
miage (3) &9 C & a3z 998 3wl YUz age ot :

y=—1+2e2?
feg =39 <t St milaas 71
mfer™ 9.5

13 12 3T ¥ yus &9, 39 fasamns mitage e fenmua 3% u3T a9 |
1. ﬂ+2y=sinx 2. Q+3y:e’zx 3. Q_FX:XZ

dx dx dx x

: [0x<3) 5 ooyt [0sx<])

—+(secx) y=tanx| 0< x<— cos“X—+y=tanx | 0<x<—
4 4 (secx) y > 5 oY 2
6. XQ+2y:x2Iogx 7. xlogxﬂ+yzglogx

dx dx X

8. (1+x3)dy+ 2xydx=cotxdx(x=0)

9. xﬂ+y—x+xycotx=0(x¢0) 10. (x+y)Q=1
dx dx
2, dy
11. ydx+ (x—y?) dy=0 12. (X+3y)&=y(y>0).

133 15 3T & YHs' 9 I3 f5ed v milaae & set fe3tut Jeht ma3t & Aigne
95 THTHYH J& UIT T

dy n

13. —Z+2ytanx=sinx;y=0 Add X=—
dx 3
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1 y=0 Add x=1

12, @)Y oxy= =
1+x

dx
15. ﬂ—3ycotx=sin2x;y=2 Hod x= =~
dx 2
16. y® fdg 3 dwe T8 feq =39 & mildde U3 ad Aae fen eza € fan fdg (X,
y) 3 AUIH 3uT ©T g, OF fiy © fagen »igf € A € g99a J|
17. fag (0,2) RS dwe =@ =3t milages u3Tad nad fenezg e fan ffg &
fsaen vig v vz Br fdg 3 it et ruer Sur € ex e € 531 3 5 fammer 3|

AN . d -~ o N
18. fe=3mms mitaas X&y—y=2x2 o fesfearde areads 7 -

1
(A) e (B) e © 5 (D) x

19. fsedwm® milads (1—y2)%+w = ay(-1< y<1) e fesfedde reads T

1 1 1 1
A B C D
(A) yv2 -1 (B) [y? 1 © 1-y? (D) hoy
geam Gegget
Gegde 19. MU a9 fae®a y=c e* cosbx + ¢, e sin bx, fi& ¢, ¢, A= e »es
g, feeamms mitaas
2
d—Z—ZaﬂJr(aerbz)y:O T IB T
dx dx
g5« fegr fenress 7
y =e™[c, cosbx + ¢, sinbx] - (D
migeE (1) & &&F Uit g7 x &% Sdtefe d96 3 Mt YUz gae It fa

% =e™[—bc, sinbx + bc, cosbx] + [ ¢, cosbx + ¢, sinbx]e™.a
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d

ar . =e*[(bc, +ac;)cosbx + (ac, —bc;)sinbx] .. (2)
X
migeE (2) & S&F Uit g7 X, 57% Sdtefe d96 3 MAt YUz goe It fa
2
% =e*[(bc, +ac)) (-sinbx.b) + (ac, —bc,) (cosbx. b)]
X
+ [(bc, +ac,) cosbx + (ac, —bc) sinbx] e™.a
= e™[(a’c, — 2abc, —b%c,) sinbx + (a® ¢, + 2abc, —b?c)) coshx]
d2
Rt Tt faa s mitaae fog KZ% w3 y & g 395 T it YU FEE gt
g UTHT =e™[a’c, — 2abc, —b?c,) sinbx+ (a®c, + 2abc, —b®c, ) cosbx]

—2ae™[(bc, + ac;) cosbx+ (ac, —bc; ) sinbx]
+(a® + b%) ™[, cosbx+ ¢, sinbx]

o (azc2 —2abc, —b?c, — 2a’c, + 2abc, +a°c, + bzcz)si nbx

+(a®c, + 2abc, —b®c, — 2abc, — 2a’c, +a°c, +b?c; ) cosbx
= e™[0xsinbx+0cosbx] =€*x 0=0 =HAT YT
fem et fogT gfen ews &3t Iet mitges e I& T
gegee 20. f‘aﬁ*mﬂwrm:n-ﬁaasmg[%jzgﬂw TyRIsUITAe IfdarIfa y
X
=07 x=0
J% : &3t 9Tt fasdwns mitaee & Jo fou gu &9 fefur A7 Ager 9 ¢

ﬂ — e(3x+4y)

dx

. dy 4y
2 _e*.¢
H i - (D
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dy_ 3Xx
T dx
few Bt I e’4ydy=je3xdx
—4y 3X
Cu © " _% .c
4 3
a 4e%+3e%+12C=0 (2
migge (2) R x=0#" y=0y3Haus a6 3 »Hl YUz dae It :

4+3+12C=0m3 C:E
milags (2) &g C < iz 995 3wt
4e*+3e%-7=0,yuz Jac It
feg &3t 3¢t feramtns mildes evyA I8 71
Gegge 21. f3=dHvs mitdas
(xdy —ydx) ysin (%) :(ydx+xdy)xcos(¥j LG
J% : f&3t 9Tt faeawtns mitage & farsfeuz gu fe fafimr ar rger T

s3] o= e 3o
o 7o) ()

FF o Xysi n(yj - cos(yj
X X

HH UH € #iF M3 39 €67 & X2 &% 9791 96 3 AT YU Jde I7 ¢

o ro(2)(% ) (Y]

dx ygn(y)_cos(yj - (1)

X X X

d
Wﬁ?%;mﬁm(l),d—i=g(¥j T gu T Mgt mitage J, fem ®et few
MHigae & I& J95 Set At

y = WX .. (2
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gIo It
: dy
L —v4+Xx—
FF dx dx
2 .
a7t V+XQZM [mitgge (1)M3 (2)T Y& J95 3]
dx vsinv-cosv
dv 2v cosv
| X— = ———
dx VSNV —cosv
) (vsinv—cosvj 2 dx
ar T v 22
VCOoSsV X
ot et J- (vsmv—cosv)dvzzjldx
VCOSV X
1 1
i tanvdv—|=dv=2|=dx
w I [Tav=2[~
At loglsecvl—log|v|=2log|x|+log|C, |
secv
: lo =log|C
Hr g VX2 g| 1|
SecvV
; = -+C
| Vil 1 - (3)

<

miage (3) ffe" v & ; 995 I WA YU Jae I :

ol Y
(y)%l T mesEa
X

A sec(%jﬂ:xy

feg fa3t 95t feedmv® mitaas e femmua I8 T
Gugds 22. fSead® milads
(tanly—x) dy = (1 + y?) dx &7 I& U3T J3 |
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J% : fg3t It feead s mtaee fors faus gu fg fenm A Aaer T

dx X tan’ly

dy 1+y?  1+y? - (1)
mﬁm(l),%ﬂ%x:Ql,%guw%u’r%ﬁ*Mmﬁaﬁ%lfﬁﬁ
1 - tan’ly .
R= | femr wet
1 1+y2m3Q1 n yzzr
1
|.F.= edey —gln Y
fen wet fio3t Jet fegamms mitdas ev d& T ¢
xe™ Y = I tary e Vdy+C .. (2)
1+y?
ts 56 tanily tanty
HE &4 Iz.[ > (e Ydy
1+y
Y . ~ o 1
tan'y =t 998 3 WA YUI Jae I fa £1+y2de=dt
few wet |=[tédt,I=te-J1.eet, I=te—e=e(t-1)

" | = gty (taty —1)
mags (2) &5 | €t a3 995 3 wAt

x. €Y = ™Y (tanly —1) + CYTUS FIE It
| X= (tan"y-1)+Ce®"
feg fa3t 3¢t feedmm® mitade e femmua 3& T
WMIfE 9’3 maiags gea®s MITHH
1. fovsfeuz fseams mitaaeT f[<9° 90 &t gU M3 d<t (AT gz J) usTaq |

. d?%y (dyjz ) (dyf (dyjz .
—=+5x| — | —6y=Ilogx — | -4 — 7y = sinX
0 o L y=19 (i) dx ax) Y



2.

H

10.

fs=ears mitags 347

q* 3
(iii) —y—Sln(zxyj—O

forasfeuz yast fS9 99a et uay a4 fa fe3™ Ifen™ e%s (mAure AT AuRe)
A3 feedHms mitaee e J% J'|

() y=ae+be*+x? D X——

d2
(i) y=e (acosx+bsinx) : —y—zﬂx+2y=0

RE
(iii) y=xsin3x : dZ+9y 6c0s3x = 0
i 2 2\ dy
(iv) X2 =2y?logy C (XT+y )&—XY=0

. Ao g fa x—-y2=c (@ +y)? g cfeg yas Uanileq) 7, feeamms

miaes, (2 —3xy) dx=(y3—3x2y) dy = femmua 7% T

fsedmws miads di =0, aefa x #1 e forug J& 3T ad |

1 NG

d 1
TIng fq f8edHvs mitaas Y, y Ty 0 = femmua I8
dx X2+ x+1

x+y+1)=A(l-x-y-2xy)J, fan f&g A g yez (Ianites) J1

fdg (0. gj &9 swe =8 fea nfrd =39 €t mitdes 3T a9 fan e fasdmins
MtagE sinxcosy dx + cosxsinydy=0J |

fegdms milage (1 + ) dy + (1 +y?) e dx = 0 € ¥/ I& U3 aq, faar
Jferrdfa y=1+7a3 x=0.

fseart® mitags ede (Xey+y2)dy(y¢0)wa“'$uwa%|
fagdms mitags (x—y) (dx+ dy) = dx—dyeT 4 A IS u3T a4, fear I fay
=-1,79d x=0 (a3 x—y=1tJH)l

24/x

i e |

}dx_l(x;tO) TTIB UST AT |
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11.

12.

13.

14.

15.

*

*

*

Jfes

dy

+YCotX = 4x cosec X (x # 0) € 4™ I& U3T J9, fear &

fg y=0fdg X=—.
2
fsedmvz mitaas (x+1)%z2€y—1?f§awﬁwuwaﬁ,%?ﬁ1%ry
=0#ad x=0.
fsedms mitgas M:O o formug 38 7 :
y
(A) xy=C (B) x=Cy? (C) y=Cx (D) y=0Cx

%+EX=Q1 T gU T8 f3ed s mitdee e fenmuag 7% 7 -

@) ye*¥ - [(Qd**)ay+c
®) y.d"*~[(Qel**)ax+c
© xd**=[(Qe™®)y+c

(D) xe{Pldxzj(Q1 F>1dX)dx+C

feeamv® mitags e dy + (y e + 2X) dx = 0 & fenmmug I8 T
(A) x+x2=C (B) xeg+y?=C (C) yee+x*=C (D) yeg+x2=C

-5
& »ifAgr mitage fan i[9 viae 9% (I%1)T muTfda 9% e Sdiefee v
<2, fe=dmms mitagds J1
fart fegamvs mitags fev aivs €9 gv, €7 fseanss mitaes e av
myTger I
ot w3 ufggaag get 1
fart f3gdms mitags € w3 (A9 ufggnz §2) €W f3edms mitaas
AH® €9 g feedwitm® & €930 w3 (3<% ua=3nd AYas Aftr) et d|
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¢ fEg &3t 9Et feearm® mitaas § AgHe d9s =5 &6, 87 feedrns
Migae &r I8 au@er T | fea wfagr 3% fan o9 €3 ot re fies »ws
J<, fia 87 mitees er v T, femmua 3 o8 7 »3 A fees Mest
T HII YH I& Jqager J |

¢ TS & WBIT g95 ©f feut mifagtt milaeer § I d9s € et Gutiar aist
At d A ST a8 Yl Sy e vBaTdir ATAdET d e yIB ug dy ©
&% IfaS TOe M3 X TB UT dx ¥ &% Ifae Idie I5 |

¢ € nifrar fedms mitaee, fAng ;—.Z=f(x,y) G j—;=g(X,Y) Ty
feg fenaz i3 av AaeT 9, fiE f (X, y) M3 g(X, y) 71 W3 T AHgU
eB& I, AMgY feedm® milaee go@er 71

* %+W=Q,%§uwmﬁmm,mﬂfé€Pm§ Qg% A
X
AT X ¥ TB& I, Ufa® gH € f3eamtns milaas ao@er 71
fefsafaa feust

feed e mitage fefarns &t Yy et i ffg J1dga I3 feo I fa
fs=d s mitaget € Hgeait 5299 11,1675 & Gottfried Wilthelm Freiherr

Leibnitz (1646-1716) & g 3 ufawt [y dy = = y? , & fifirs qu féa yrgg afte
w3 G & S 59T [mI dy T A gl S Leibnitz vl <9 &
U3T g9 @ AT @9 Hates A/t fAw 3° Auan gy fsaurfas 3=, fem mifmn & A&
1691 98T § JY J95 feut S war=Tel ¥ HaaT €ans Ja<ienT | fed s g
Sust 3 ufast gH € Mgy miladet € 7% J9s & feut e g3dtaas a3t €9
war =0 M3 83 A fET Gust & ‘Ufa® g € migy fSeartns milaget § 75
g3 & feut & asusT a1t | fdst Jaataaa I fa Guaas Ardtyt fedtut &t 8w
fea® fEq fenadt enmar feed /e milagest e AaH & USt Arst € #3993 ydt
Jet |

»dg fS9 a=% milgest € U8 d9s ©f feut & fsedr® mitgest &
feseans € gu <9 fagefma ais fardr /Y| feg mee A& 1690 &9 : James
Bernoulli, (1654 - 1705) gwar yg&< <9 FarfenmT faprr | mee ‘I8’ € I 3
ufgsT Sdtefes y&ar Joseph Louis Lagrange (1736-1813), 4T A& 1774
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f&T a3 farur | feg wesT f3eamM® Mg € AGH 3° FI19dT 100 ATST gHE
wfeg Jet | feg Jules Henri Poincare (1854 - 1912), At, fAR & mae ‘I&’ @
YTl Jd& BT AY3 %3 131 Al fen et mufed mae=s! f<e mae 9% §
nryET €93 Aas YUz Ifenm| 98T & midar d9s ©F fedt ¥ aHags John
Bernoulli (1667-1748), James Bernoulli € 937 &maT a3 fapur 1Mt 20,1715
& Leibnitz § fadt mrust st fv, st & forsfeus fasawnes mitase €
J% & g dit |
Xy =2y

& % 35 37 €, UaresT, TEIUTE ST 73 WS'I'd 99 € & AHT € H'JdIEdHs
ga=rge J | fegu wan@er T fa »fag Ao feuret €< =& faedns mitdaeT §
% fan 39T Mdd U U9s J9€ I | 201t AET € »U ST fasamhns mitager €
TEIHG FI™ w3 fAady € feeamtm® milaget € 75T €t afesTet g3 €t in
&et fors »raafag i3 famrm | #iF 3 fem & At &A1 Bet 993 H3= qu
fee Yy mars yru3 g9 femm 3
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9t @r gig arfes (Vector Algebra)

s In most sciences one generation tears down what another has built and what
one has established another undoes. I|n Mathematics alone each generation
builds a new story to the old structure. — HERMAN HANKEL

10.1 gfHar (Introduction)
A& mue efed s ffg mida yras fise I fam 33t 3orst
Suret &t T ? fEa gea® € fuzmdt & nirust v € g+ fusmat
&% dre § ufe@e et dre 3 fan 39t &t yorg gaat gratet
T 2 yhe 99 fa ufo® yrs e figfezs €739 1.6 Hiea T Aaer
T | feg fea »ifadt gt T fam fE9 a= (fge) o avs
(mamg) 7 fea smasfed Afwnr I, arfis T | mfagt abmt
AA®d JUTEEMT I8 | U THT YAS T €739 fea wifrdt amt
J (fram & g% afde o) fam fee Hustt €t raSt nigg &
&% &% feur (fAn f<e v fus st Afez 9) & wivs T
WIATPHT IHPHT Sded qa@ et I | Jife, Ifaa M3
feratifdar feg feg €& 3gt St it 97, fae fa &aret,
U, AN, Edt, 313, 4398, Me3s, 3TUHTS, dH, U5, S8cH
W3, Y319ud mrfe M3 Tded IHMT fAe ferarus, =T,
Y=dT, 95 979, UHE (Here) famset 439 €t SteasT wirfe fset o |

fen nifamrfe 9 Ag Sdeat € g9 WuTa® UasTet, Taedt €t fefgs Afafen ma
fegst & dtma M3 faBifea aret & miftwis Fatar | feos™ €8° 37 € greT e Hfgmr gu
Iged © UgaT=E €T YIS AT (81) féer I w3 Gudas gafes u3et <9 fegst &t fems
SutiaeT B Yfaz dgeT J |
10.2 9% 4 &&=t (AA®Y) (Some Basic Concepts)
"o &8 fa fort 3% At f3s-feruret us= feg | €t 79w 3y 7 1 319 € forrs <f rorfesT
5% fen qur & € femet &3t A Aget 75 | feust €67 &9 fonfaz ferr o=t aet
<t e Jur, forr Jyraar@t 1 [f¥s9 10.1(), (i)]!

W.R. Hamilton
(1805-1865)

351
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g< YTu3z a9 fa Aag »mt 3ur ‘I’ § Juds AB 39 AifH3 a9 fée of 3T et &9

() (i) (iii)
fgse 10.1

fort fea femr @&t ur ‘' I' € wiare fagurfes § wier I | few 3g7 wré o femr qunds
Yz ger I (939 10.1(iii)) | ferr et fEq femr qunds € wigrg w3 fewr €8° e I
ufggmr : feq mifrdt gt fam f&9 wigg w3 femr €&° J, Sdeg a8t J|

fons fe@ fa fea ferr qunds Saeq ger 71 (fF39 10.4(iii)), fAmg AB #F
FU9s 4, ¥ gu fegeam@e orm3 feng Saed ' AB 'AfTded ' a' T gufeguge ot

Sufde AfigIaed AB »dg Jur d, mdfea fig au@er I3 Gufdg Bfia
2ded AB , yaH e I, #ifaw fie aur@er T | fart Sdeq € mrdfgar m3 »ifan figmt €
feg ==t gt Saeg evmag (FF &uet) qu@erIm3 fend |AB| A |a|Tgufss
TonTfenT 7 AgeT 7 | 19 € fonrs Sdeq & ferr § sanr@er I
| Puzt | faffa &aret et <t foemaw aat §<1 § fem wet g |a| < 0eraeh
9" &It T |

Afast @9 (Position Vector)

asH X| T, fFs-faret midet mifuzars fagerma Y=t right handed rectangular Co-
ordination System & we a9 (f¥39 10.2 (1)) ys= ffeys fdg 0(0, 0, 0) € 93
fea nifrar fde P®< fan € fagem mia (x,y, 2) T 13T 2aed OP fan f&g Oz Paed
nrdfaa M3 »ifar fde 9, O g3 fdg Per Afe3t Sdeg au@er I I1gdt H39 (a&™H
X1 F) T QuUEITIIE I€ OP (A 1) e mad forasfauz gufee yus gerd:

|OP| ={X®+y?+ 27
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7 7
2 B
P(x,,2) 7/ B
- 2 7C
r
0(0,0,0) Y (3] Y
X (W) X (i)
fg3910.2

nifew € y& fdg O & ga3 fdgu A, B, Cwirfe et Afadt gu=: 4,b,¢ 58
AfenT a3 7w 7% [f939 10.2(ii)] |
femr amfes (Direction Cosines)
feg fdg P(x, y, 2 ©" Afast <9 OP( = F) &< frm 3¢ fa fd39 103 f&T
TInTfenT fapuT T 12ded F ©dT X,y M3 z-Ud T Usand femet € 7% g=F
IHET : I a, B, M y feurde ao@T g5 | fegst d=t & anfes aHa 97< cosa, cosp
M3 cosy Tded ¥ feur anrfes aur@e ga w3 i 39 3 feust § =g |, mm3 n
&% SgATeHT ATeTJ |

f§39 10.3, 3 »t Sue ot fa fagw OAP f&a mia<t f3de I w3 fen faae 3¢

~
...........................

f§3910.3 Ty
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it coso= (& 7| et e oteT famr §) yug e 9t few 37 e

- - . =~ z - . . po -
fgga OBP»3 OCP 3wt COSB=Ty ’HS’COSy=? &y rae ot | fer 397 fde PE
gat g (Ir, nr, nr) € gy <9 arfog FI3T AT AdeT I | ferr anrfes € TS mgur3t Aftret
Ir,mr W3 nr TG 7 € e Msu3 Io e o M3 feR § @u=a ¢ a, b, ¢35 AfemT
AT AIET J |

| ueT |t & o@ Aere T fal 12+ me+ 2= 1yg fommua - a2+ b2+ c2# 1

10.3 geat @t faaHt (Types of Vectors)

#ig ded [Zero (null) Vector] f€a Saeq fan € mrafaa w3 wifan fég furst §e
I5, 73 Saed quRET I M3 fen & 0 € gy <9 Afen At J1 79 Saed § Jet
fonfes ferr yurs ot i3t A7 raet fa@fa fen e wiamg wte er ger I 7 feawmut : fenr
& et @t fowr urgw ot T8 ifewr 77 AaeT T | E9eg AA,BB I3 399 § Ton@T
TS|

fearet @29 (Unit Vector) fea Saed fam & wiamg i (< 1 feaet) T, vga
Tdeg gorgeT J | fant f€3 98 Sdeq 4 <t femr fSowga Saca & a &% ganfenr
"erdl

Afg ggr3t (Co-initial Vectors) € At € 3° Fu deq fAgt e fq gt mrafsa fde 7,
Afg <geg 8T I |

AHIHT Saed (Collinear Vectors) € A € s <U A9 & I 3uT € miewizga 7 3769
AHIHT Sded aar8er I

NS @929 (Equal Vectors) @ 2829 AHS 2d¢d sI18e 76 Had st e mramd
w3 fer mis T 1 fegs™ & a=b € gy T fafrrr 7 AgeT T |

fgeana 2929 (Negativeof aVector) fia Saeq fan e wrarg fed I8 Saeqd (s
%8 AB) € A5 T, ud faw €t fenr &3 3¢ 3¢ @ €8¢ 7, &3 ¢ Saeg =
foerava ao@er T 18e795 BA ,S5ed AB @ faeana I w3 feng BA=-AB @
gy fe= fafnm Afer 3|

ey S fer gt fr Ot S fai & S Gt & nrarg i e
& gest a3 fast »us mrst3e ferarfuzg a3 77 Aaer 7 | fen 397 € Saeg 5339
29ed JoET I | fen yad mifterrfe f&9 mirt B339 (vare) Saedt €t It 999T aaidr |
Gegee 1. dye 3 30° U <9, 40 km € femaus e are fsgues a9 |
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J% : ¥ded Op s3tel femaus § fagus gger I
(f939 10.4 <©4)I N
Geaee 2. fovsfeuzs dW3t & AA®d M3 Sdcd & o
gufegReiuad| W
@) 5s (i) 1000 cm?® (i) 10N Fyresr
(iv) 30kmvh (v) 10g/cm? m R 309
(vi) 20m/s €'gT et 39 s

v

i
() AF-FIBT (i) mfess-Fa®a (i) T&-2deq P g
(iv) IST+-"a®g (V) WS3™HI®T (Vi) =IT-2ded 59910 4
Gegge 3. 939105 5 fauz ST T&5 7
() metd
(i) ™&TI
(i) mfod
i
[0 I ra,cm3 d T
(i) Wa?za:afwé i ]'—'ﬁﬂ \
(i) oo 29ed: b,cmMI d

[femm 10.1 f¥g910.5

1. €393 30° ygu ff9 40 km € femaus e are fogus a3 |
2. forsfeuz a3t & Ad®a W3 [ded € gU R AU a9 |

() 10kg (i) 2vea €33 dan (i) 40°

(V) 405we (V) 107 g&H (Vi) 20m/s?
3. forsfeuz & Aad®a W3 Sded € gu ST HeHuaq |

() wr <t fiprre (i) gt (i) =%

(iv) =ar (v) o
4. 939106 (fea =gar) &9 forafeus Sdeat & ufgar< |

(i) mfT gt (i) ™

(ii) ™It U IS &It
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5. forasfauz e €39 Adt 7 a3 € gu fRe el i
(i) a3 —a AHdHt I |
(i) € AHIHT Sdeat T MATT THAT ANTS JT J |
a2 o~ 9
(iii) S Mg TH & AHIHT fdeT IE IS | d b
(iv) P& Wad & € AHIHT Sded INTS §T T |
10.4 2249t @ 7Fes (Addition of Vectors) -
. c
Jaged AB rugs 393 AT IR d fafde A3 fde B fes910.6

3« femaus |7 fea »wifadt afast €t seer ac fAn fee fda sadt fde A3 fde BIw
geetd M3 e ame fdg B3 fidg CIadset d1 (39 107)1 fdg A3 fdg
C 3o B3t enirar a3 farn 5% femaus & 2aed fa AC Fyuzg Jer w3 fen §
AC = AB+BC ¥ gu v wamfenr e 31 feg c
Tdeg 13 € f3gd few au@er 7|
WY 39T : Add IF 9% € Sdeda M3 b T
[f93910.8 (i)], 3" Gus™ & 7= U3™ 995 BT Guat &
fen nfast feg fenrfenT arer I, Iifa foa @ wmrdfaa
fag gw € »ifar fde € iyt § A< [f939 20.8(ii)] |
Segges € 393 : {939 10.8 (i) f<w, »rt Sdeq f¥3910.7
b € mrarg w3 fewr & Iudls 3 fast few 39+
gerfenr AteT I 3 fa fen e mdfea fdg, 5 € #ifav fde € Aurst O w3 f3gw ABC
&t St gar ACenmar faguz Eded &+ b A Tdcdr a #3 ber#As (AF ufgenit)
yers gder ; g2 fggw ABC g it u@e gt fg AB+BC = AC [fega 10.8(ii)]!

C
\? ¢
7\” N
' -
2% e b
; 7
A > B A \
a

(@) (ii)
fé3910.8

B
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g< gaar: fa@fa AC=-CA , fer set Quias mildes 3 wirt YUz gae g far
AB+BC+CA = AA=0

fen v 3= I fa fant f3gw &t gar=t & Ad9 feo g <9 femm 72 37 feg Al
g 5 & Ufaz ager I fafa mafga W3 »ifsw fde Aurst § A€ g [f939 10.8(iii)] |

g< fea @ded BC' €t gusT fen yara a9 3t fa fem e wiag Faed BC, & Maa &
s 32, ug fer et ferr BC &t ferr @ €se 32 fi93910.8 (iii) 7= BC' = -BC o=
fagw fomn e Quiiar g 32 [f¥3T 10.8 (iii)] It u@earfe AC =AB+BC
:KE—}-(—EC)Z&-B
Zqeg AC, am3 b g9 § fagua aaer T

g< fart &€t € fasa 3 grd fasa ST utet € =ami & ferr € nifgde are =3t fea
&8 €t 9auT d9e I7 | fen a2 (fawat) 3 € Sa12ded oH 99 39 I6, o fers enmar
famst & €3 farum 291 iz a7 €T € Uet € =umf e <241 | feust €57 2491 € feda
yg'= gnrgT fanst wnw <9 89 f98 291 7% I8 5y a9t 7 | fer famst €t ygr=t
ISt I femr (< feBue 291 € 99 9 Adt feua feorBe et IS o7& Sded @r
738 T forsfeug fsa T |

Hdd IS 38 e AHT39 9399+ €1 &aet ga=t § faguz a3 Are @& (a9
w3 ferr Afgg) @ 929 amI b T (f§39 10.9) I AHI3T I39gH ©F feast Tt
gA=E ¥ A fig 3 Swe o8 fedee feust €5 deat € 77 d +b §miaa w3 femr
Afa3 faguz aaeT J | feg Sded A7 € AHT39 9399+ fat mus@er J |
- Zyel . fagw fam v Qudar gee
Je f939 10. 9 3wt &< &9 Hawe I fa
OA+AC =0C A OA+0OB = OC
(fa@fa AC=0B) # fa miigd ggdgw
fae T | fer set wiAt Jfa Aae of fa Sde9
A3 < foun AT g7 € S9ag 7|
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&9ed iges et femRmar=t (Properties of vector addition)
fermsT 1. € 2ded 4 W3 b € &=t
ia+b=b+a ( @H Seieqdr ferma)

FE3 : AH3d 93999 ABCD § %8 (f¥39 10.10) He 38 AB=a w3 BC=b, o=
fgga ABC 39 fag# famni em Qutiar gaw 98 At yug sae a7 fad AC = a+Db

<, fa@fa AHT3T 9399+ Tt AGHY gA'<T ANTS W3 ANTE34 J, for st fasa
10.10f&9 AD=BC=bm3 DC=AB=4 JIg¥9 fgga ADCfeg fagafemier
yGarged AC = AD+DC =p+3
fem zgt a+b =b+a
femmsT 2. Vs 88,3929 3,b w3 CTHI

2

n R A
e (a+6)+C = a+ (b6 +c) (Rfowraar gx 8
Yy .- ~7
fawnd) ,"'zox“
fermsT: Ho®8,3ded 4,b m3 cEIHET )
PO, OR »& RS &' fogug atar famm al =
3 faw 39 for fge 10.11() w2 (i) f¥ R 10 10
TIATfemT faprT T
gt a+b = PQ+QR=PR
3 b+c = QR+RS=QS
fem et (@+b)+ ¢ = PR+RS=PS
Q
I
9
“ A
A
;{»X
P




-

w3 a+(b+c) = PQ+QS=PS

fewr wet (a+b)+¢ = a+(b+c)

icuzl | Sdes Faes € AfaurasT feimsT €t AofesT a7 wit 86 Saest 4,b w3 C
e f9e® Yoaet € Quiar 3 fast d+ b + ¢ S gufe feue at:

5e 4 fdl fart g9de & @ et mAt YUz J9e ar

d+0=0+a=a
&8 #ig ded 0 92T A=eH ¢ STt gIchdI Ug'e Jager J|
10.5 & 29 &7 B9 &% deT (Multiplication of aVector by Scalar)
e %8 fa a e fe3 IfenT Sded I W3 A € Fa®d I | g€ 292d 4 € HA®T A, 58
Jeaes fAR § A4 € gu e Afemr AleT I, Tde 4 T HA®T A &% ST ITTe I |
&2 a3 fa ) a S Sded 4 @ AHaYl ff Sz &1 A €t aHT Ta3IHa w3 faeswd J
T mgAg L4 et ferr, a4 TS AT E@Be §€t 31 L a e g 4@ Mae 3L | e
der 3 fen et
|Aal = |r]lal
ff A T Sded &% T & fAnfest Aaes [gu €t awusT (visualisation)] fdse
10.12 feg fést aret 31
Ae A =—1,3" \a=—-a 7 f e mifrar Saes I famer mare & € A & w3 ferr
del fenr 3 @82 713929 -4 Sdeq 4 € faeana (AF g=atiar 852 )aa@er I M3
gHEr 4+ (-4d) = (—a) + a=0at wge g

A S

A ~
A Jo \70 '

i A
fg3910.12
m%ﬁaak:r;l,ﬁ?ﬁfew%h 420 Afq a ffq Al eqea st T 3F
_ _ 1
[Aa|=|r]la] = — a1

‘o
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fen3gt ) d, d ©f femr wad Saeq & fagus FeeT J|

=

as= ﬁ* € gu f&e foue ot

farrt <t Fvwe k& BEt kO =0
10.5.1 féa @ded & wea (Components of a vector)

wr@ fdgmt A(1, 0, 0), B(0, 1, 0) 3 C(0,0, 1) & =TT : X-BATy-SA M3 z8A I BC T
ITAE39T

Q|

|OA|=1|0B| = 173 |OC|=1
&5ed OA, OB »3 OC f&9 ¥ @ ma@d 1 T | gHea
OX, OY W3 OZ ga™ & U3 2ded aa'de 76 w3 feast §
QUET : [, | MF k T eantenT AeT I (fF39 10.13)
ge feq fdg P(x, y, 2) & Afast @ded Op &< fAA 3§ fa
f¥39 10.14 feT eanfenr fomr 3 1 fa€fa P& 3% XOY 3 fie
g &9 @ Ua fdg P, i fen sgr mit ewe offg PP zgw &
ST T IfaETT || [ w3 k e : X, yMS 239 & Wga IdeT
I M3 P& fagen niat &t ufgsmr & mgAg wirt w€e of fa PP=OR = . fen g
QP =03=)j »3 00 = i . fem Igt it ynig 5 Tt fax
OF = 00+ Q- +j

=~ —_

M3 OP = OP, + PP=x +Vj + 7k

feRsgrOe e ea® Pernfasta@ded OP (q F) = X +Y] + kE€gufeT
Yz der J

far <t Sded e feg gU wWea U ITEE T IfEF X, ymI 7 F € HAST Wed aagw
TEMI X, J] M K QUEG IAE 5B & & 3ded Wed TR T5 | IE-IT X,
Yy z & AHAET wee <t faar Ater 31

fait &aed F =X + Y] + ZK , €t &uret wfeasian <t faQaw & & w19 y&iar F9d I9T
ugT it A AgEt T | At & g9e g fa mHde fgga OQP, f&e (fisT 10.14)

|OP, | = \/[OQP+|QRF =X +y?
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1
R
P (x,,2)
A
<k A
A
Y
;\ (%) S —>Y
Q .
P,
f93g 10.14

X

M3 e fade OP P, f&e mit yruz a9e It fx

|OP| = JIOR 2 +|PPE =< +y?) + 22

fem &t fall 39029 7 = xi + yj + 2k SHETE |7 | =[x + Vi + K| = + y2 + 22
TR YUz &t 31

AT € ¥ded aM3 b wed U T Q=T ¢ af +a,]+a,k "3 bi +b,] +bk
orar i3 fapur I 3t
() &eg am3 b e AT

a+b = (a+0)i +(@,+b) |+ (a;+b)k €U T yuzg der 31
(i) Seg a3 b e nizq

a-b= (& -b)i +(a,-1y) ] + (8 ~by)k T Fu R Yz Fer 3
(i) SHeT a3 b A §€ T& AT M3 fiAde A9

a=b,a,=b, M3 a=b,
(iv) foaH AA®aT A € 22T 3 € ger

Ad = (L)l +(1ay) |+ (Lag)k Ewmr fEsT T
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ST ¥ A9ES M3 [aHl AaBe &% Sded €t gie feds gu &9 fanafaus Sse=a
feuH & fiser 1
Ha #8 fa a3 baet @ 2T I 3 kI mMe AdSa I 3°
() ka+rma=(k+m)a (i) k(ma)=(km)a (i) Kk(a+b)=ka+kb
féyet
1. gt &fen &9 Aae T fa A & fart &t aitwg @ set S9eq 14 aHRTSded 4 & AHayt
T 1w f&g & ST 4 »iy b AHSHt 37 Tt §9 05 e M3 d=% AT ) T mfad
dglg e erige I3 fa b=Aa I2 1799 SdeT 4 mT b wea gu &g fégr
Sfenr T o= d=aj +a,) +ak w3 b=bi +b,| +bk, 3" & ST madt §&
T& Add M3 = Add
b +b, ] +bK = M@ +3, ] +a:k)
& bi+bj+bk = (ha)i +(1a) ] +(hag)k
< b=ka, b, =%a, b=2a
b _b_b_,
a ¥ 9
2. §99 4 = aj +a,] +ak I a, &, a,9ed 3 € ferr weus JTEE T
3. #%9 |, m, n fawt Sdeq & fewr-anfes I 3t
Il +m + nk= (cosa)i +(cosB) j + (cosy )k
f¥gr e Zaeg o forr W 2aea 3 8 © o, B i y 63 39 Sgeg owar
FHIT: X, yM3 ZgAE &S ¢ JI¥ A< & |

<

Gegge 4. x, ym3 z €t 3T Ut 99 3T fa SFETA=X +2] + kM3
b=2+yj+k ¥ I5|

1% : fors fe fa € S IS J€ 76 A9 W3 I 7dd §UaT € A3 Wed ANTS
T | fon »et fe3 T8 Sded am3 b MHS IS Had M3 LB Add Xx=2,y=2,z=1
Eege 5588 a=1+2) M3 b=2(+ | IEat |a|=|b|T 75 Idega w3 b
€ A 35 7

9% R |a| =12 +22 =B w3 |B22 + 12 =5

fen &€t |a|=|b | ug f€3 I¥ Sqea Ms &at I fabfa feuat € Ao wea f9s 75 |
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Eege :6.qeT 5=2 + 3] + K € fenr fearet SqeT Uz AT ?
5. 2ueg & o fewr & fearet g SaeT a:r;la T g e 3 ?
ge |al = V22 + 3112 =14
fem et éz%(2f+3f+li)=\/i_4i”+\/’i_4f+\/i_4|2
Gogas 17,2929 a:f—ziéﬁwéwfﬁanm%aeawa% frrer Ui 7 fearent 1

1 2 .

i% . @3 Je dqeq 4 difemfdgfeadt@degda=—a =—=( —2])=—=I ——= ] T
El f f J5

fen ®et 4@ Sqeg et femr 7 HUnlg e ®T2qeg 7a =7 i — —firl
5 5

Evgee :8.89ea a=2 +2] -5k MT b=2 + | + K T AFH <t femr <

feqret SdeT U3T AT |
VS e s D

I . f&3 J¢ Sdeat &7 73w
a+b=cC, g c=4 +3]-2k T

"3 || = 42+ 32 +(-2)2 =29

fer wet SaTer fearet Sae9
1 1 ~ 2 ~ 4 ~ 3 ~ 2 /\
E=—C=——=(41I +3]-2k) = I+ ¥
|| \/29( : )\/29 J29°' V29

Gewge : 9. 8ded d=i+ | - 2k @ fewr waus fBg W3 fen ot AofesT & femr-
JATElS UST J4 |

i fors fe@ fa g F=x + Y]+ Zk @ few-mgu3 a, b, c 3929 &, gH=
W2 X, Yy, zd< I | fen st fd3 3% Saear @ set mt u@e aifya=1,b=1m3 c=

M = D

2T 19 : 799 |, mmI n &S 3¢ Eqev @ ferr-anfes o5 3t

a 1 b 1 c
N NN AR ﬂmu-ﬂ
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1052 & figwt & fH&EE @®T @d2d (Vector joining two points)
Fad P (X, Y, 2) M3 P,(X, Y, z) € fdg T3t Z
P, & P,a® fis@e =wrades PP, 1 (939
10.15)1 P, w3 P& ys fig O fimBe 3
w3 fggw fsur e yiar sea wAt fgga OP P,
3 w@e o fa OB + AP, = OB, N
Sdeq AFe® Tt fenmaet o Quiar aee i ¥0 ;
3% Quiaz mHlaes fonsfsuz mHtags &

2P (2,5, 2))

=>

fowafaug gu fee fafr mier T X 939 10.15
g BP, = 04l + Y5 +2K) = 04 + Vi ] + ZK)

= (%=X + (Y~ Y) [ +( - z)k

e B, = [RP] =406 )" (- )+ (2-2)" & gy W
yuzg der J|
Gerggs : 10. gt P2,3,0) M3 Q(—1,-2, —-4) &l s m3 PT QB §
faaen q9& ST S92 UIT AT |
7% : faQfa dges P F QIF & fagefmz I, e 39 3; Pwrdfaa g, M3 Q , wifsnfég
I, fern et P w3 Q & fwBe =& &3ter faed PQ, forsfauz gu ffa yuz der |

PO = (-1-2)i +(-2-3)] +(-4-0)k

= PQ = -3/ -5] -4k
10.5.3 a7 F3d (Section Formula) Q
He 88 ys fig O T wgwg Pw3 Q€ fig I fagt &
Afast 29eg 0P M3 00 &' fagfug atsr famr J
fagmt Pz Qaﬁw@zwwu—dmsﬂﬁf&?R

We*wmfeaﬁsaﬁwwwm(m
939 10.16) w3 grgdt (939 10.17)1 f€q As™ Gen

H® fdg O € nigwa fdg ReTAfgst fded OR B9eT
Ulnﬁwnfasiwsfeafeaaaﬁrﬁ%w

Afast: A€ R, PQ €t nivgat @3 aaer T (f¥3910.16 )| a9 R, PQ €t fen 3g7 &3

P2
fg39 10.16

gaerd fd mRQ =nPR, ffd M3 nUaSHT Faed J 3T oAt Ffde of fa fdg R,
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PQ & m: n¥ »igur3 fET niegat 5 J9eT J g f3gat ORQmM3 OPRF
RQ = OQ-OR=b-r

s PR = OR-OP=r-a
few et m(b-F) = n(F —&) (fa€?)
. mb + na y N
Cu r= (IJB/AI% TI&5 3I)
m+n
fen et fdg RA fa PM3 Q& m: n¥ »izgur3 fSo niegat 23 gaer J € Afast aeg
6 a Y N~ o a
OR = mb+na TaufdFmyuz ger J|
m+n <

AfEgt || 7 R, PQ &t gadt €3 gger T (939 10.
17 )\ feg 3nEla qaaT WAt usdt et fed yras € gU
fg &3¢ of fa quds PQE m: n € »wisu3 fEg graat
&3 935 T® fig R [g‘re' %z%) & Afgst &ae9

mb-na _ . N
Ty feeyuz derJdi

m-n == ~

fEust :fae R, PQEr Hu fdg I3t m=nw3 fen setnfast | ¥ pQ evufdg Rer

a+b . oo .
o gy feg 3=

OR =

Afast @929 OR =

Gemae : 11.€ fdg Pmz Q&< fagT & Afast Taed OP=33-20 M3 OQ=4+Db
J | féq mifagr fde ReTAfgst facg usTad 7 Pmg Qe B sstaur g 2.1
wgur3 i (i) viegat (i) gt ez qaer J |
I :

(i) Pm3 Qe BT ==tdurg 2. 1engu3 feanicgstesaas e fig Rer

Afggt Saea 7 ~ ~

__ 2(@+b)+(3d-2b) 5a
OR = 3 E)

(i) Pz Q@B a@8Iqur§2:1 € MaU3 € §JdT ST Ja6 &' fdg R &7
Afast Saed I . -
___ 2(&+b)—(3a-2p)

—4b-a
OR > 1
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Gegee : 12. wawg fa ffg A(2 - [+K), B(i —3] -5k), C(3 -4 —4k) f&x

mae f3ga € fiug a5 |
% A8 9% J fa
AB = (1-2) +(-3+D ] +(-5-Dk = -2 -6k
BC = B-1 +(-4+3)j+(-4+5k =21 - | +K
"I CA = (2-3) +(-1+4) ] + 1+ 4k =—i +3]+5k
few 3 fewreT fonrs fe@ fa

|AB|? = 41=6+35=|BCJ]* +|CA
fen wet fogr gfenr f3gw fea miaet f3ga J |

|mﬁm¢r 10.2|

1. feHafeuzg Sdea & U nid €t IIeaT o9 ¢

1.

A ~

£ £ ~ — al o~ ~ l o~ 1 ~
a=1+]+k; b=21-7]-3k; C=—i+—]-—Kk
J J 3 \/§J \/§
2. S HU % @8 & mBaT-mBdl <24 (84 |
3. S ferm /8 & MBIT- & ar Sded 84 |
4. X3yt AW USTIT I fg Eded 2 +3] M3 X + Y] s T
5. g sdeserwmdfaa fdg (2, 1) T»3wifanfde (-5, 7) JIfenIaea e
AIBd MI Sded W U3T dq |

6. @deg a=1-2]+k, b=—21+4]+5k 3 ¢={ -6] —7TKETASHUIT&T |

7. 29ed d=i + | + 2k & &9eq o fonr fi¥g ¥ feqret Egeg u3r aq |

8. Ided PQ, € Fdcd €1 fonr f[IT fearet fdeg U3 a3 frg fig P»3 Q@nea
(1,2,3) M3 (4,5,6) I8!

0. fF3Teaqeara=2—|+2k M3 b=—i + |- K,o R 2qeg a+b T aeg
ot fenr e fearet Saeg Uzt aq |

10. 29T 5 — | + 2k € aeq €t fenr (<9 feq nifrar Saeq yzT a9 fam ev vy »ia
8 fearet 71

11. wang fadded 2 - 3] + 4k I — 4 + 6] — 8k Mt g5

12. &ded i + 2] +3Kk & fomwr gnfes usTag|



13.

14.

15.

16.
17.

18.

19.

Socd dim afeg 367
fdgn A (L, 2,-3) M3 B(-1,-2, 1) §fimBce@d M3 A3 Bfer % Ideq
< feur aafes usT a9 |
TIQ fa2ded | + |+ k Tfert OX, OY 3 OZ € 57 ¥978d (AH's) Ffamm Sfenrm T |
fdent P({ +2] —k) M3 Q (-1 + | + k)& B =&t 3ur § 2:1 € U3
f&g (i) »iegat (i) godt @5 ads =8 fdg R evAfgst Saecg usTaqd |
gfde P(2,3,4) "3 Q(4,1,-2) & e B =& Sacg e" Hu fdg usT aq |
T fx ffg A, B w3 C, fagt @ nfagt Saed ged - a=31—4] - 4K,
b=2 - j+k M3 C =i -3] -5k I, Ramae fggn @ g e foare a9 75 |
fggw ABC (f§339 10.18), © &tt forafauz <5 fauzT fausT aus mat st 71
(A) AB+BC+CA=0 C
(B) AB+BC-AC=0
(C) AB+BC-CA=0 A B
(D) AB-CB+CA =0 fi¥g9 10. 18
fog 473 b T aat 2deq 95 3 fansfeyz &g fausT qus Adt st T
(A) b=)4a, fart ra®a )\ & =gt
(B) a=+b
(C) a3 b T PHST Wed ANTEMEUTST &dt 5 |

——e D

(D) €& Tdedt a3 b € ferr mrs T; ug U »id fefgs I

10.6 & 2929t @ gqIesed (Product of Two Vectors)

IS I AT ST & 7388 M3 WS € 979 &9 mifrrs 3T 7 | g AT 8o Saedt
T IT5e 3N T gt wHHEd AfdfonT €f 9997 J9aT J | At &' Jd Aae Jf fa &
Aftmret v greses fEa AftT §Et 7, € Hican e greses fEa Hfean e 7, ug &t
éﬂﬁﬁmm@wxgwmwaamwwgwgemwﬁ?w
WW?W?WIWE@TW Tt greT =t € 39 5% ygTh3 A3t Atet
T&TE 39T : ST d|¢¢s&m¢s|H'ﬁUHq&dW3wmmm
53 fq Sded JuT J | Sded € feu € 37T € qeaest € »ud 3 fAiedt, wafsa
n3 fErtatifdar ST fegat € fefgs Qutiar 95 | fem Aans (miggman) feg wit € 39F

) di€hed <f 9397 J9Tr |
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10.6.1 & Sq2a" &l AaBT geded [Scalar (or dot) product of two vectors]
ufggmr 2. & 319 fed Eaed a3 b T HABT IIEeH 4 - b gvraT eanTenT FeT
Im3fernd a-b =|a||b|cost & gu f¥g ygrfag atar fapur § | 7,

f8 0, amI b, efegaades I3 0<0<r (f§3910.19)I /

Hdad a=0 A b=0, 3" 0 ygHz adt T w3 few nfast ’
feg it a-b = Oygfag aee T 99 10.19
featue

1. &b fEg =w3feq Afemr J1
2. Vieu@fa g MZ b €digfieaSaedua 3t 4. b =0 Ada I a=H A 4 mT b

ffaen I uame &g g fen et 4. b=0< aLlb
3. #990=0,3"a-b=|a||b|
femmau 3 a.a=|af, faCfa femnfastfies 6=071
4. 793 0=1,3 a-b=—|d||b|
fermgu3 a-(-8)=-|af, fan 3¢ far fem mfast fee 0, 1€ Sarga J |
5. fadtue Gue 2 w3 3 € feds &9 viunt &9 fearet Saed 1, | M3 k, & et
wAt U@ ot foar

-5

>
>

-~

LE] =
6. <€ did fAgg 2aed 3 w3 b < fegagsra< 0,

Il
—_— —>
—
11
>
- x>

fal
|-
o

|

1
=0

—

lallb] EYIy
7. WA®d ISESH gH ¢edT I I

cosf = ab =) =cos‘1[ ab ]Wﬁ?ﬂ*@"’ﬁ'l

a-b=Db-a (fa€*?)
AA®d JE&e® € € HISeYes ferms=r (Two important properties of scalar
product)

fERH3T 1.(AA®d T=ce® o 73 §ud €sardt faw)vis 88 § bw3c f3s S92 76
gt a-(b+c)=a-b +a-c
fermasT 2. Vs B8 a w3 b € SdeT I6 W A e Rd®a T, 3°

(Ad)-b = A(a@-b)=a-(rb)
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99 & EqeT We gU T al +a,) +ak WI bi +b, | + bk, ¥ TE T 3Gt
T T JT5e forsfauz gu ffes yuz der
ab = (a +a,]+ak) (b +b,] +bK)
ai - (f +b, ] +B,K) +a, ] - (07 +b, ] + k) +ak- (B +b, ] +bsK)
aby (1) +ab, (- ) +aby (k) +ab (1) +a,b,(J- ) +aby(j-K)
+ aghy (K- 1) +agh, (K- ]) +agby (k- K)
(Cudaz fermar=r 1 w3 2 T Qudar 99% 3)
ab, + ab, + ab, (fsdtue 5 v Qutiar 595 3')
fer3gt a.b = ab +ab, +ab,
10.6.2 fear @29 @ fart dum 3 y§y (Projection of a vector on a line)
Vo B8 fa ffg 29eg AB fan fagefmz 3w | (s 88) € a5 ¥F a3 (w3t &t fomr
49AMa Q0A &9 0 F= geur T (fF39 10 20 &) 3+ AB = | €ug yiy Projection
g 2aed p (s Q) I famer vy nig | AB | cosO F »3 faw <t femr e | &t famr
T % (AT 8 %) I fen 9w 3 fadgd ager I fa cosO us=aHa T AT faeava I=aed P
& yuu (Projection) Ided afde 96 w3 fen e vy nig |P|, Aues 39 3 fem &
fagefag FuT| 3 2deg AB erynw afie o5 |§eads = favaiaus fi& sia fdge &
29ed AB 3w | Iy daes AC 1 [f¥3910.20 () T (iv) T

B .

0 I ! O

> ->
Ay C C J A
(0'<6 < 90) (90°< 6 <180")
0 (ii)
> 0 0 ->
c. P I P C /
A A .
B B
(180°< 6 < 270" (270°< 6 < 360"
(i) (iv)

fé3910. 20
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fsatue
1 U | €5BsBAAd P fearet eded I3 duT | I =ded a e Yuy a.p3Yus
gerdl e
2. g dded a ergndaed b, a-b, A a- b 1
Jeradi
3. AFT0=0, 3t AB ysuer2qcdye AB JRarmI Aed 0 =n It AB =T
¥y I9eT BA =T
4. Had ezg |t 9:3_26 3t ABYYY TJeT € Ald deg J=ar|
fEuaT : Fe@ o, B3 yRded d=a +a,] +ak < ferrd< g5 37 fen & ferr drrfes
forasfauz gufes yuz a3 A Aae 95 |
cosa = #a'lﬁ =%, cosﬁza—f, and COSyz@
lafi| |al |a] |a]
feg <t fors fe€ fa |d|cosa, |d|cosp M3 |d|cosy aH=Ta: OX, QY M3 OZ&
&% a8 € yuy J5 fen B¥1 2deq a, a, M3 agHIT X, Y, M3 zUd € &'® 3 9T
T yuy 95 | fen 3° fewrer Fag 3 € fearet Sgeq I 37 fen & femr anrfes €t morfesr
Y

3 = cosal + cosBj + cosyk
Tgufde agg AT AT AAET I |
Gurage : 13.9 3eg AMI b  wirag gHEd 1 wMI 2 T 4-b=1, fegst Saeat
gfegdsuzTad|
i%  fdgr¥fy a-b=1|a|=1m3 |b|=2. 73 &%

0=cos*’ a'Bﬁ —cos™ (lj )
lallb| 2

Gogee : 14.3927 d=i+|-kmMIb=i-j+k e d= uzraq|

wla

J% S &deg amM3I b < fegaasrac 0 foar fapur T
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fem &et, mit U< o fa cosez%l
forr ot Bt g 0= oos‘l(—%j 3

Geags : 15. Aqgd=5 — | -3k M3 b=1{ +3] -5k, 3" ©emQ fa 2qeg d+b
W3 a-b ffagAa I &I T

J% . At Arew g7 f € 319 fAed So¢d Uanud &9 J¢ 76 Hdd BuaT @ Ha®d IIe6es
Cickll

few d+b = (51— —3K)+(i +3] —5Kk) =6 + 2] -8k

e a-b = (51— ]-3K)— (i +3]-5Kk) =4 —4] +2k

few wet (+b)-(a—b) = (61 +2] —8K) (4 —4]+2k)=24-8-16=0
fem w2t d+b wZ a—b YIAUT ST TS|

Gewee 1 16. 3927 a=21 +3] + 2k T, 22T b= +2]+ kT YIU UIT I |
J% :2ded 3 TTeded [ IYEU T

= (a-b) = L 2.1+3.2+2.9=-2 56 3,
b JO*+ 2+ J6 3

€vges : 17. 799 € ¥ded a3 ) feRnIg a5 T |d]=2, |b|=3 W3 a-b=43F

|a—-b|u3radl

% A UITJ fa

1
—
o5}
|

4‘2 =

‘a—b

= (92 -2(4)+(3?
few set |a-b| =5
Gvwde 18. 799 5 € feagt Sqea I ma (X—48)-(X+48)=8,3" |X|u3Tad |
7% : fa@fa 5 & fearet Saeq 7, fen wet |a|=1. feo St fegr Iforr T fa
(x-a)-(Xx+a) =8
A X-X+X-d-a-x—a-a=8
A |XF-1=8 @& [X[P=9
femset  |x| = 3(fa@fa Tdeq v vy i g wi-faeana ger J)
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Gergees 19. € S9eT a3 b, & st owr |a-b|<|a||b| (Cauchy-Schwartz
WMAHTEST) |
Je : foSt Iet vimis3 Afor gu f[Re AU T 799 5=0 A7 b=0. s &9 fem
Afast feg »At uBe It fa|a-b|=0=|4||b|. fer Bt »mt IBUsT Fae I fa

B, R C
|a|=0=]|b| gt wwt 2“7,

12.b] |cosf|<1 fimerd g

== |cos0|< o

|allb| A > B
femsgt  |a-b| <|a||b| fe39 10. 21

Gemae 20.€ dedt amMI b € B ouwr |a+b|<|a|+|b|(f3gH mmraaT)
J% : f&3t 38 mmiagT, St Afagt 4= 0 A b = 0f<T Afer Fu fee mume &
(fa@fx ?)1 fem sehis 5§ fa |a]|=0=|b| 3t

|a+b? = (a+b)’>=(a+b)-(a+b)

(FA®T TSHSH FH-TeaaT I )

< |af+2]a-b|+|bf (fa@fx x<|x|vxeR)
< |af+2]a|lb|+|b] (Begas 19F)
= (la|+|b))’

few Bet la+b|<|a|+]|b]

Hog fIgw a3t f&9 masT bt 31 §  (Gudas 8ves 20
feg) fem et

Eemae 21. v fa fdg A (=21 +3] +5K), B(T +2] +3k) M3 C(7/ —K) ™Hadt T
9% v U o fa
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AB = (1+2) +(2-3) ]+ (3-5k =3 - [ -2k
BC = (7-1 +(0-2)]+(-1-3)k =6 —2] — 4k
AC = (7+2) +(0-3)j +(-1-5)k =9 —3] —6k

|AB| = V14, \ﬁ:\:&/ﬂ W3 |AC|=314

few wet |AC| = |AB|+|BC|
fewr set fifg A, Bm3 C miawt 3

Seg9s 21 <9 fours fe@ fa AB+BC+CA =0 U3 fea =t fdg A,
Bw3 Cf3gw € fiugt e foane st age 7|

ok 0N

10.

mfe™ 10.3
Tagea amM3 b TaaIHET 3MI 2T MT a.b=/6 TIFamIbT
fSgdsuzTad|
IFET [ -2]+3k MF 3 -2]+kT I ITUIT 9|
2FeT [+ ] IIFeT | — | TTUHSUSTTAT |
ST | +3]+7K €, T¢I 7{ — [ +8k S UHSUITHT |
TG fa fie3 92 forsfaus f3s Sgea f&9 soa e ga Sded '

%(2f+3i+6l2), %(3?—6}+2I2), %(6?+2i—3l2)

feg <t wan € fa feg Sacg fea gn € 95|

799 (a+b)-(a—b)=8m3 |a|=8|b| T2 37 |a| #F |b| uzr a7
(3a-5b)- (24 + 7b) S IHI USTFT |

T &9 anI b T »rag U3 I3, AT fevst € waE ANTS O i fegst &

- a ~ r . N 1 N
fegamamT d= 60° T M3 fegst ot HABd ITHEH 3 Tl

Had fT Hga 2ded 4, € Bt (X—4a)-(X+a)=12 § 37 |X|usTaq |
Ao a=21+2]+3k b=—i+2]+k"3 =3+ fenzgrTfx a+1b,
CI&IT,IT LS THI UIT T |
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11.
12.

13.

14.

15.

16.
17.

18.

Jfes

T fq € 39 fieg Sdeg amI b &<t |d|b+|b|d, |a|b-|b|a 3 &TTI
Hog d4-d=0"3 a-b=0,3"2ded h © g9 &9 fa famaan (a3t dfemr
AT AET J ?

#ag 4,b,C wIx Saed feN 3+ a+b+c=0 3" a.b+b.c+c.actaz
y3rdq |

799 4=0 A b=0, At a-b=0yd fener€sc o e agdt aat T Ifew
Gegas g vy €39 St ynet a9 |

#ad fan f3gw ABCe fiaug, A, B, Cav=a: (1,2,3),(-1,0,0),(0,1,2) I 3t
Z/ABCUITad | [ZABC, faugd BA w3 BC © fevadas J1|

o fa fig A(L 2, 7), B(2, 6,3) W3 C(3, 10, —1) Mt T |

wang fa &aeg 2 — | +K, [ 3] -5k 3 3 - 4] — 4k g maet fggm &
fAyat €t g9&T gae T7|

#dg Jid fieg <ded d ev g9 ‘a’ I 37 )\ ¥ Jid fAeg ma=®a I 3+ L4 &
H3d Sded J Had

(A) =1 (B) A=—1 (C) a=|r| (D) a=1|\|

10.6.3 & Sq2g" er SqeT gIeAded [Vector (or cross) product of two vectors]
3TaT 10 .2 f&g wimt 3 ferret iF Ju mrfesTag 3TeHs fAarmer (USTt) €t 99uT a3t At |
fen Yyt ST ua=aHa x g7 & ¥Y 313 (w3t € §%e feur f[<9) Wi & g3 y-g+
3 fenrfenr ateT I 37 usTand z-g+ ©t four &9 ffa wa 39 (frrdt) Uenfar<s T
A<t T [f¥s9 1022 ()]

fea i 78 38H% Y&t f&9 A He 78 €t §astrt & uam3d x- ga €t ferr

3 €I USTING y-gH € & WHTTen™ AieT J 3T MJIeT UETIN 2T € <& ferar gaer
JI[fg39 10.22 (i) T1

. X
f§39 10.22



ufggmr 3. & Jid fAed S9¢d 4 M3 b, € 29T ITEEH
dxb FeawforrmaerImI axb = |a||b|snon e gufde
Ytz dtgraerd,fig 0, a m3 b € fegaos de T w3
0<0<n TI1fEF N o fearet Saca T A fa Saed a M3 b
St 3&F T Ifen3gt a,b M3 n B war Ja yest & faafig

Fav 96 (f§3910.23) fensdtiardaysstd da 3 b €<%
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A
n

=y

: ->
A
n. a

\'/ v
f§39 1023

U@ 3 feg N &t ferr iR I8t T

H5d a=0mF b=0, 3" 0 YTz adt T W3 few nfast f&g wit axb=0

ygTa3 dae It |
yye :
1. dxb ffg 2qeq J|
2. Vo®G am3 b €9 fMedgs 3+ dxb=0aagemI a=s add am3 b
TH € AMT3T (A miayt) J few set
ixb = 0< a|b
YA 39 3 axda=0 MT &x(-d)=0, falfa ufost nfast iS5 0 = 0 w3
gt Afast <9 0 = «, fan <9 €8 It Afgdhr f<9 sind €t s fAse T
Sl
3. ﬁaae:gsﬁ axb=|a|b|
4. fadtue (que) 23 3 © 84 <9 mrurl »ifgde fearet < deat 2
[ ]8R ke &t (939 10 24), At uge T fa \S
ixi = jxj=kxk=0
o 2 ~ a ~ A ~ S o A ]A
Ix )=k, Jxk=1, kxi=] ’\>/
5. Sd¢d IISEHEH O AIfe3T &% & @dedt amI b € fegaasT f¥sT 10, 24
d< 0 forasfays gu ffg yuz gev J1
Qne_laX6|
lallb] B
6. feg o™ WY T fad Sdedt € T<aed qH Feiwdr &at ger I faffa axb =

~bxa wws &g axb=|a||b|sinon, fi& a,b w3 n /AT Jg yerst e
feors aae T fer ®81 0, 33 b =8 &W Je T 939 1025(i) A< fa



376 dfed

bxa=|a||b|sinon, A& b, am3 A T HAr I y=st § foafva aee Is,

fer set 0,b 3 & 3 & T& Jaot gvger 7 f939 10.25i) |

few &et Aa9 wAt feg vis 8¢ of fa amI b €& ffa It ararm & Is fEg 95 3F
A

n

0 )
9
a e 7 " ->
b 1 b
(@ f&39 10. 25 (ii)

&g I A3 N, 91 3 §ug &t ferr S8 T2 w3 N aamm @ 48 35 (fewr
fS9) J=ar fem &et A, =-n
femagt dxb =|a|b|sin6A

T

= —|a||b|sin6A, =-bxa

7. fadhus (que) 4 w3 6 © 354 <9

I/\ ~ ~ 2 e =~ A 2 a

Jxl=—K, kKx]=—im3 T xk=—] Tl

fggn & u39ew &t ufggmr & »igng wAt fdzg 7

10.26 3 Uge I fa fggm ABC & 43des =
A

—AB-CD. ydg AB=|b| (f€3 Ifewr §) M3

NP

CD = |&|sing

- 1,-.. . 1. -
fen et : f3gw ABC €7 433es :Elbllalsme ==|axb]|

N

9. A9 aM3 b A3I IZIgH ST FTI=EDT gAT=T & TINTEET J 3T ANTIT 9Z9gH
TTUITEH |axb | TIUfFTYUI IET |
939 10.27 € gu gt U< ot fa MT39 93997 ABCD €7 439e®% =AB. DE.
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ug AB=|b| (f&3T Tfemr T), W3
DE=|4d|sin0 fem met
few »et mH39 9399A ABCD =

¥39e® = |b||a|sind =|axb]| A "
9
WAL IS Sded JTEEH & & HI3<YIS o b
= fds910.27

feRE3T 3. S9cd TTHEH T A3eH I «IFatdt fewd  (Distributivity of vector

product over addition) #9ad, b w3 ¢ f3& Saea I w3 A fea ra®a I 3I°
() ax(b+C) = axb+axc
(i) A(axb) = (L@)xb=ax(\b)
Mo 88 € 2ded amy b wext gufEg giea: aj +a,] +akm3 bi +b,]+bk

A

]k
fe3 3¢ J 3 feast €T AT TEEE® 4xb = |8 @, 8 eHITfeITATAAET T |
b b, b

femrfon : nit w@e ot
axb = (aj +a,] +ak)x (bi +b,] +bK)
= afy (< 1) +ab, (T x J) + ayoy (7 x k) + by ( x1)
+ 3, (Jx ) +3,by(jxK)
+ aghy (KxT) +aghy (K ) + aghy (kxK) (feimaT13)
= ab, (' x ) - aby(kx) - ah (x )
+ a,by(]xK)+agh (kxT) - agh, (j x k)



= (a,b;— agh,)i — (ayb, — ah) | + (ab, —ab)k
] K

A & &
b b, b

€vgee 22.9ded a=2+ | +3kM [ b=3 +5] -2k 3 axb| uIr =TI
J% : feg

w =

jobl}

X

T

I
w N ™
gl B —>

-2
[(—2-15)— (-4-9) | + (10—-3)k =17 +13] + 7K

JE17)? +(13)% +(7)? =+/507

Gegas 23. 3929 (d+b) »3 (a-b) f&F g9q © &9 feaet Eqeq 3T a9 e

d=i+j+Kk, b=i+2]+3k JI

fem wet \axﬁ\

% At YU qee 97 fd a+b=21+3] +4k M3 a-b=—] -2k

feq &aeg, 7 d+bMW3 d-b TaF I &9 T, forasfayz emmar faar I

Pk
(a+b)x(a—b) =2 3 4|=—2+4]-2K (=C 55T )
0 -1 -
AL ISl = Ja+16+4=+24=2.6
few wet, 3T fearet Sdeg
¢ -1, 2. 1,..
— = =l+—=]-—F=kJI
| 6 6 6
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fait 9% I & wfgdy fomrer et 95 | fem B9t a+b w3 a-b 3

e s feardl Saes %f—%h%ﬁﬁé&muﬁgﬁm (a-B)x (a+b) e

MEIS FIA |

Gegge 24 g fagneruzgen uzrad fan € fawg fde A(L, 1, 1), B(L, 2, 3) w23
C(2, 3, 1) I

J&: wiAt YUz 99€ I fd AB= |+ 2k W3 AC=1{ +2]. €3 3¢ f3gw e u3zes

1|A—|-°’><'°~—C|§r|
2
Pk
a= ABXAC =0 1 2/=—4+2j-K
1 20
fem et |ABxAC| = 16 +4+1=+/21
1
fer wet Beter Edz_lfn
Eegds 25. W AHT3T 9I99H €T 43deH UIT &9 AW ShdT Barehdt gaTeT

a=3+]+4k MF b= — | +k T &t arehnt a5 |

4% : fai AHT3T 9399w St BaeT gaTeT a M3 b T 1 8W T 439es|axh |
eI YUI e J |
] K
< axb =3 1 4=5+]-4k
1 -11
fewr met |axb| = J25+1+16 =/42

fen 39t BFTeT 439eH /42 J|
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10.

11.

12.

| mifsnmr 10.4 |
oG =i -7]+7k"3 b=3 —2]+2k3r|axb|u3T T
2ded a+b wF 4-b <& ferr feu feareleaeg ugrad fig 4= 3 + 2§ + 2k
M3 b=1+2]-2k T

g et feaet 2orew 4, le*a"?;% je s %msﬂ% ¥ o5 ¥a fas e
0 g=er I fa 0 € a3 UzT a9 w3 fen Tt AofesT 5% 4 TTwed St uIT AT |
wamg fa (A—b)x (a+b) = 2(axb)

AT LUt T, gad (2 +6] +27K) x (I +Aj +pk) =0

fogr ferr S fa a-b=0 w3 axb=0.3aes a W3 b ¢ g% f&g gt at
SIATAE AAE 3 ?

Vis 58 92T 4,6, ¢ =T &l +8,]+ak, bi +b,j+bk, ¢i+cj+cke
gu f&9 &3 98 J, g sam@ fa ax(b+c)=axb+axc

fog a=07F Th=0 3¢ axb=0 Jer §| ot €& At T? Gwwo= Az
Wy €°39 <t yret a9 |

fea fggreruzges uzTad fAar e fmm A(1, 1, 2), B(2,3,5) M3 C(1,5,5)J1
ffq AMT39 9399H & U3deH U3T dd AR €bdT Barehd™ gaTer 2ded
d=i—]+3KwWT b=2-7] +K gwar faaufag ga |

- EN — ~ AN - > " \/E . o 9]
Ve 88 fa Sdeq a3 b fem 39t I fg |d|=3"F |b|=?,3T axb f&x
feqret 2oeg T 7ag a3 b fegaga= T -

(A) /6 (B) n/4 (©) /3 (D) /2
fEamfeg @ fmyg A, B, Cw3 D fagt € nfast Saes gHem:

I 1‘-‘ SR 15 S S ~ ~ a N SN ~ a
—|+—j+4k,|+—J+4k,|—11+4km3—|—11+4k,2r€*u33382r:
2 2 2 2
1
(A) > (B) 1

© 2 (D) 4
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gea® Gegget
Gwaget 26. XY-3% € A9 fearet Sdeq9 f&y |
5 e s fa F=xi+y], XY-35 e fearet Sxeq 71 (fF39 10. 28) | g foza
T MEATT WAt YUF J9€ It fT x = cos 0 w3 y=sin 0 (fa@fa |r| = 1). few et mirt
e 1§ A
7(=OP) = cosOl +sing) . (1)

T gy fee feu rae ot
Ae3d3 IT| = Jcos?0 +sin?0 =1

fAe-fA= 0,03 2n, I 3uet® Jer d fie P(f¥3910. 28) wat et femr I fea

Y
y

N P(cos6, sinB)
ANAR O = ene?
< i OP’ = cos61
N\ /‘\y

0 PP =sino ]
= >X P'P=sin0J

I

-]

;{,
f939 10. 28

Jad X2+ Y2 = 1 & 97=e g€ J | WAt Adtet AgTfes femret aivs 7 | fem et (1)

3 XY-3% <9 99 fearet Sdeq yuz Jer J |

€vgee 27. Aad fdg A, B, Cm3 D, € Afast Sdeg gv=@ : { + | +k, 21 +5],

3 +2]-3k M3 {-6] -k J,3 Fes Juret ABmI CD ¥ fevard d< usT &9 | fifer

a< fa AB 32 CD Aoyt 95 |

i% . e o faaad 0,ABwI CD, & fdgerad= F1370, ABmI CD @ fegaasr
Fa=TI
e AB = B & Afagt @9eg —A ©r Afast 29eq

(27 +5))=( T+ j+K) =T +4] -k

fer wet |AB| = (@2 + (4% +(-1)? =3V2
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fem set CD =-2f —8] + 2k™3 |CD |= 612

AB.CD

ABJICD|
_A-2)+4(-8)+(-1)(2) _-36
- (32)(6v2) 36

fa@fa0<0<n fer Fyuz gerdfa 0 = n. fegwam@er g fa ABm3 CD f&x
TH € AHJHT I5 |

fem 39t cosh =

=-1

e 1——' -~ . -~ — =~ N a
feamu : AB=—ECD,f8Fr§f‘>rm°r'6rﬁrﬂa—eaT1%( AB M3 CD mHdul fdea J|
Eege 28. Ho ®8 a,b 3 cfisIaca femyae aa fa |a=3, |b|=4, [CES

w3 fen f&9 79, 9 © Sdcd’ €7 A3es I Migsa T 3T |é+6+é| U3T g |

fem ==t |a+b+¢| = /50=5/2

Gurgee 29. 35 2oegd 4,03 C weg a+b+c=0 & A3We d9v I | Had
|al=3, |bl=4 "3 |C23ramtp=a-b+b-c+¢-a Stz uzraqd|

J% : fa@fa a+b+c =0, fen set »t yruz 9w T fa

a-(a+b+c) =0
ar d-a+a-b+ac=o
fer met a-b+a-c=-|a’=-9 (D)
gugr b-(a+b+c) =0
- a-b+b-¢ = -|b[ =-16 e
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fem 3gt ia-C+b-C=—-14 .. (3
(1), (2) M3 (3) A=5a 3 AT yuz goe of fa
2(a-b+b-c+a-c) =-29
-29

G 2p.=—29,i.e.,p.=7

Gemae 30. Aag wrun <9 feq g € &9 feaet Saeq |, | w3k, S AT Jg Y=t
TIREEHG=3 -], p=2+]-3Kk, 3" & B=p, +p, v, Buas g
B, aEMIITINT By, 0 THTT

7% - Mo B8 fa B, = A, A Randsg I fem et B, =3 -]

I B,=PB-PB, = (2-30) +(@+1)] -3k
fagfer B,, G IHwTfemmet 6.f,=0
a 3(2-31)-(1+2) =0
= A=
2
3. 1. . = 1. 3. _«
fem et Bl—EI—EJWB' B2=E|+E -3k

WHIfE 10 °3 mafds geas MIFMH

1. XY-38% {29, x-g7 ot usTaHa faur f&9 30° @ §< g = fearet Sded
fou |

2. fdg P(x,y, ) M3 Q(X, Y, z) & HE 8= T8 Id¢d € AABT W M3 »AT
y3Tdqd |

3. ffa szt yat ferrfeg 4 km I8t T 180 3 gmie 89 €°39 37 30° ey &t femr
fS9 3 km IBEt I M3 ga ATEl I I YRS € MIfea fig 3 sadt e fermgrus u3T
Col

4. 799 d=b+¢,Ifafeamedfa |a|=|b|+|c|? wus €T St uret &g |

5. X € a3 u3T a9 fAd et x(f+i+l2) fea fearet S@aea I |

6. ¥FeT a=2 +3] -k M3 b=i 2] +k € a3 & AH37 fEq nfrar Saea
ugT 9 fAn e e 5 fearet 71
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10.

11.

12.

13.

14.

15.

Jfes

Aada=i+]+k, b=2-]+3kn3 C={-2]+k,3"2ded 24— b+3k
T AHT3T fEa fearet Saeg usT a9 |

Tang fa fifg A(1,-2,-8), B(5,0,-2) W3 C(11, 3, 7) ™ot T »F B emmar
ACE TS TH MEUI U3Tdq |

@ ffgwt P (2a+b) M3 Q(a—3b) & fimEe ==t Jur & 1:2 € nigurs <9
g3t T3 q96 T fig ReTAfa3t Saed u3T aq |feg <t wan® fa fig Paunds
RQe Hufdg J1

g MiT39 9399 ot Brareht gar=t 2 — 4] +5k M3 (1 —-2] -3k Fifew
© fedde € MHT3T fearet Sdeg U3 99 | fen T 439e® St u3Tad |
TIng fa OX, OY M3 OZ gA™ ¥ &% §9'9d ¥d ¢ 2d¢d ©f fenr anrfes
1 1 1 .

B BB

HE € da=i+4]+2k, b=3-2]+7k W3 c=2 — | +4k. f&€x wfmgr

4\I
<\I

dgedd usTagH aMI b eI HETTMI ¢.d=15

QeI [ + | +Kk T, 2ded 2 + 4] 5k MF Al +2] + 3k € Gares <t fonr fiew
fearet four € 7% Ad®d JTTae® 1 € §99d J 3T ), ST aH3 U3 AT |
H99 &, b, ¢ e wraet T8 mrun 9 foT g 3 &9 95 3T wong fa Saeq
d+b+c Zaeat 8, b M3 € € 5% g9ved gfar Tfemr T

o a9 fa (a+b)-(a+b)=|af +|b P, #ae 3 I=& #ae 4,b &¥J »3 feg
fegrdfenrrdfa 420,020

16 3 19 S YHST € At @3T St ST aq |

16.

17.

18.

Agg e ededt A M3 b € fegagds 0T 3" 5.b>0 TSI 7a9 :
7T T

A) 0<0<= B) 0<6<=

(A) > (B) >

(C) 0<b<m (D) 0<B<m

VosQfaga w3 b & feaet Saeg T v feast e fegdes 0T 3t a+b e
fearet Sded I 79

A) g=" B) o=" C) o=" D) o 2"
(A)A9A4AFA(A)A9A3 ()92 ()93
(T xK) + .00 xK)+ k(@ x |) Stamma T 7

(A) O (B) -1 © 1 (D) 3
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Had € Idedt a mI b € fegaade 0T 3 |a-b|=|axb|Ae 0 =T J :
A) 0 B) o = D

(A) B) 3 © 5 (D)

féx fig P(x, y, 2) & Afadt SITOP(=F)=x +y] + Zk T WS »ag

Je+y+7 T

feq Sdeq © HA%9 wWed fene ferm-ngug a8 e I M3 WigHat AT € 3%
fen € yriams (=um) § fagfuzg aee o |

feq Sdeq v Wag (r), ferr-migurg a, b, ¢ W3 femr-awfes (I, m, n)
forsfeuz gu feg afas 9

f3gw &t 3% garet & g ffg 8< 3 feust erSaea vz 0T |

€ Afg-Hes® Sdedt e A3 fea mfadt 3T 9g9gr € fedaer I yuz derd
frm St srarEtnt gt fiE 3 9T Sdea T

ffaTaecg e Ha®a L sB IS fer e maad & |L| € I g ufgeafaz
3 feéer T w3 A € I3 TaIHT WT faeaHa I wigHd fer <t ferr &
g98d M3 T JueT T |

|m¢

fagT gfemr S99 § © et Sded a= , a<t ferr &g feaet ferr |

Q|

|a|
fdg P2 Q fAgT e Afast aeca =T am3b I, e B aastaurdm

N g T fegfag aas =8 fie Revrfadt 2aes (i) MM viegat
m+n
mb — na

T T (i) gyt T 3, e guffeyus dera|

& &gcat gM3p & &9 € = 0 F 3T fegst € AASBT TEEEH

a-b=|a||b|cosd T IURRTYUS = J 17a9 &.b &3 Ifomr§ 3t Saeat
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Jfes

Lo - a . =
am3b ©fegageras ‘0, cos@zm YUz ger i
¢ A9 T et A M3 b € fFgde 0T 3 Qust @r 29¢T ITEEH

axb=a|b|sn6n & gufdgyuz Jer T Ifeq N ¥ mfnar fearet Saeq

a+b = (al+Q)f+(a2+b2)f+(a3+Q3)l2
2a = (hay)i +(1a,) ] + (Aa;)k

ab = ab +ab, +ab,
ik
m3 axb=|a b ¢
a b ¢
fefsafaa ffust

Tded HuT €t YUt Sfes gmr € fq mae <den (vectus) 3 3fem 3 fam
T 09" J “8 B | mufed Sdeq futzs € Uerfent fegre < gt s 1800 €
"R UH Hat Atet 7, A Caspar Wessel (1745-1818 €F.) »3 Jean Robert
Argand (1768-1822 €t ) & fer afs & =9a< otz I fa g7-3% (fsgon-3%) fi&w
fart &fes d3 € AurfesT 7% & fnfas Aftr a + ib e AaH A femim fam
3T 3T A AaeT J | fea wirfefam arfegara William Rowen Hamilton (1805-1865
gt) & mrust faamg "Lectures on Quaternions' (1853 €t.) f&9 Juds € ®et
Tded HYE €T YWdT g 3 Ufast ai3T At | (quaternians) [a7% farfes staa fawnt er
e g€ 3¢ a+bi+cj+dk, i, |,k € gu =8 99 swWsfeq Aftrret @
Y] €t dfises fedt Saest § f3-ferrst gfois 9 grer d9s & mifr er
fea 3% T 1 7= wint feg fon e fade #ge aefdr f Sdeq & Aasu W3 st &
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H3ew T feug gg3-feat 3 Plato (384-322 €=t yg=) < e nigAet M3
gaTat eanfed w3 fefamrasa Aristotle (427-348 €in<t ya=) € a& 9 T 167
i fer ATeaTat € IBUST Al fa @ AT wifud 98T &t Aga3 fafen €aat @ aviga
I3997 € fouH nigu3 A= J9d Yu3 diSt 77 Adet J | 98T €7 AGAs € At
foon fa g8t & A7 Sdeg gu f[<9 J13T A7 AgeT J, € 87 Sterin Simon (1548-
1620 €tn<t) eniraT &t @t Afgst &9 a3t aret T 1 s 1586 f9 €uat & mus
By fazm "DeBeghinselen der Weeghconst” (2H& J9& €t a&T @F fAuig) f&9
g8t ¥ 3w € fAbiedt a3 e fendne a3 A, fAgt € a9s w3foa ©
feam e & Wy ufgeaas Ifewr | ug fer 3° gove St Saedt e fenua 38 &
faanrs fE9 200 A& AT ITE |

" 1880 feT & nidtat If3a AH3dt w3 forrge™s Josaih Willard Gibbs
(1839-1903 €tn=t) M3 fea migraw fértatma Oliver Heaviside (1850-1925 gtn=t)
& fea Suet € m3fed (Fd%9) § TBUfsd (Fded) ITaT 3 MBIl Jdw J€ Sded
fendne v fa@er f&3T dfewm At | s 1881 w3 1884 f<9 Gibbs & "Entitled
Element of Vector Analysis’ a™d fear 3y fagme guret | fer unaa fe9 Sdea
T fq gy w3 Fuy fesgs fE3T dfenr it | Fag Saedt € Gudar e fagues
9% & faaat D. Heaviside w3 P.G. Tait (1831-1901 #W=t) & Yy J fAgt &
few femr € et AE3 (Yuans) € Gaes fE3T T




(ThreeDimensional Geometry)

+* The moving power of mathematical invention is not
reasoning but imagination. — ADEMORGAN ¢

11.1 gfHar (Introduction)
famma<t a3 fe, ferdaeava fanrfest e wifors aae
M -fenret M3 f3s ferret fefimrt €t e ugTe feg wirt
MU MY & J=% JaciHms feut 3T Az Jftenm | fem
ynsd € fugd nifere fee »t Saean e e AasusT=t
T wifors 3T | I WAl Sdead © e afes = f3s
favmet fanrfest fee Gudiar agiar | 3w fenret fmrfest fes
fem Quanis (approach) = €ew I fa feg few € mifis &
U3 HI® M3 gEYas g fder 1 *

fen mfoorfe feg »mt € fdgnt § i@ =8t qur &
femr daTfes W3 feur wiguts e wfts Jaiar w3 fefds
Afggtt feg »i3fad (space) fEw Jur=t, € Jyr=t € fegag
de, € fouzst duet € 9 faGaa gat € few fee &

L eonhard Euler
(1707-1783)

fegrg Tetegr Jaidr | Budas 3t ST =09 s3ifmiT & <dedt (Vecters) € gu
Y3 g€ I | feg it fer e aractvvis gu ST St wigere a9iar 3T+ Afast e Aure

ffest w3 fendreand f93de yAgs A3 A A |

11.2 Jur @ fenr-anrets M3 femr mMaus (Direction Cosines and Direction

Ratiosof aLine)

nifomrfe 10 ST e aqd fa ¥ fig 99 ITHes T8t Sgeg qur L gwmar X,y 73
U3 € ST IHIT o, f M y 5S¢ IE a< fenr anrets nmyee 95 3 feust a=t

*  For various activities in three dimensional geometry, one may refer to the Book
“A Hand Book for designing Mathematics Laboratory in Schools’, NCERT, 2005

388
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T dATEIS € &™ : cosa, CoSP M3 cosy duT L € femr-awfes (direction cosines or
dc's) muy=8T I5 | 7
A
K Dy L
0' P :
T '
S :
. r . :
: ¥ L
. o ) B Y : I>Y
v /x .
X (V)
fgse11.1

#aad oAt L € fenr feudts g fée ot 3t feur aamets »rue Aygat »ee™3 n-q,
n-p M3 n-y fST e #¢ I | fen yag, fenr dnels © fig g% 7 95|

forrs fe€, »izfoy fee et aret ur § € feudls femret feg TumAae or M3 fem
=gl fen € four anrels € € Ao 95 | fer &8, »i3foy feg fEt aret gur € =et femr
anfes € fedye AYT € &et, Arg &3t aret dur § ffq 2deq dur = gdler 7 | feost
fedue ferr aAets & |, M3 n & gnar EanTfemT At J |
fEuet : wigfay f&9 3t aret 3ur fAde y fiy &9 st Swet T 3 fen & femr
aATEts & 3T g9s € SEt, vt 4w fig foT &3t aret dur @ mif3e fea aur e of |
ge ¥® fde guror fegst &9 ffF Sdeq dur € fenr »igurs u3T a9e of faffa €
AHT39 JUT=T € ferm mguT3T € AT ANTS §% 75 | fed duT € ferr anmets € mrasutst
A=t & Jur € femm »igurs (direction ratiosor dr's) afde I& | Hag e qur & fenr
AT |, m, NI fermmmigug a, b, c 3= I fam dig fAea L e RE &g a=Al, b=Am
M3 c=An

I3 Byd fenr migurz § fenur ffimr <t afde 51
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H& B8 fea dur @ ferm-wigug a, b, c W3 Jur € fer-auels |, m nJ13e

Il m n_

a b ¢
few met | =ak, m= bk, n = ck
ugg 2+mP+m=1
fem set kKR@+bP+c’)=1

1

| k= f—F/——
a’+b%+c?
fom ggt (1) Fur @ fomm—amets (d.c.’s)gag’ra??

a b

[=% ,m== ,
J¥+E+& J¥+§+&

n=+

= — =k (W& 59), k &5 m9s T

. (1)

c

JaZ+b?+c?

fam Jur @ S Ad9 T @ fenr-aAels gH=9 : a, b, ¢ I&, 3T Kka, kb, kc; k= 0 =
fenr nigur3t e ffq Ay T fer et ffa Jur € ferr nigur3t € € AHT =t i misurst
Jear | fer 337 fan ffq dur € feur Mgurs™ € &3 AT J€ I5 |

11.2.1 € fdgm & fue@e =&t Jur € fem-aAEls (Direction cosines of a line

passing through two points)

fa@fa € f&3 fdgmt 3 T o A =&t Jur feSye gt J | fen wet € &3 g fdent
P(X, Y,, 2) M3 Q(X,, Y,, z) IS Sw= =38t Jur @ ferur anTels & fons yag &7 usT

g9 Agw If (f939 11.2(a)l

W& &9 fa dur PQ € femm-amets |, m, ngs w3 feg x, ym3 209 € 7% a<

FHRT : o, B,y TTEE IS |

B8 Pz QI &ufdfe 7 XY-358 Rz S s 951 P3 fa Ja &9

Z

Z
MQ
P N
Y
0

(b)
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fagie 7 QSE N 3 fizer I 1ge mae f3ga PNQ <9, ZPQN =y (f939 11.2 (b))
femr =&t

_NQ_2%-7
COS/ = 55 = ~pg
few 3¢ = 27X g cosp= 2N
IqT coso. B

few 39t fden™ P(x,y,, 2) M3 Q(X, Y, z) & 738 T8 Judz PQ < ferr-anrets
I5

=% Yo—-Yr L-4 3
Q' PQ ' PO

frE PQ = \/(xz—x1)2+(y2—y1)2+(zz—21)2

feuet : gt P(X, Y, 2) "3 QX Y, 2,) & #Fa T8 quniz @ ferr-ngura favs
Yd'd 5% BT AT AT I |

X=X y2_y1’ZZ_Zl’1_-|+ X\ =X Y17 Y0 4— 5
Gugge 1. #99 fEq YT X, y MT 209 € Ua3IHA feur € 578 gH=Ta : 90°, 60° mI
30° g7 g g=gEt I 3 fewr-anEts usT aq |

v . - - - 1

I% . Ve sQ dure fermrdA™s |, m, nIs13€ | = cos90° = 0, m= cos 60° = >
3

n=cos 30° = £

Gugds 2. Aae ¥ dure femrmigutz 2, -1, -2 I& I fer & fer-dAeis Uzt a9 |

7% . ferr-dArels fous WgHT 75 -

2 1 -2
2+ (D24 (-2 24 ()2 + (27 2+ (1) + (-2
2-1 -2
= 33 3

Gewage 3. € fden (-2,4,-5)m3 (1,2,3) & He@e odt gure fem—amels u3raq |
9% : wit Arew o fa € et P(X, Y, 2) "3 QX,, Y, 2) & B =&t our € ferm—anrels

X Yo N B4
Q' PQ | RQ

J& |
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fre PQ = (%, %) + (%, — o) +(2 - 2)
&g Pm3 Qauea: (-2,4,-5)"3 (1,2,3)I5|
fem et PQ = (1-(-2)° +(2- 4% +(3-(-5)* =77
fer wet @ fdgmt § firs@e =ot 3ur @ for-anmets 7s
3 -2 8
NN AN

Gegge 4. x, ymI z-Ufowt € ferr-aAmels usT a9 |
9% © X-UITIHIT X, yMI zTdT & &% 0°, 90° mF 90° ¥ d< g @< I | fen met
X-Uq & femr-amrels cos 0°, cos 90°, cos 90° »da™3 1,0,0 I& |
fen 3g+ y-ud M3 2yd € fem-anrets gu=9: 0,1,0m3 0,0,1 71
Geage 5.wamg fa fdw A (2,3,-4), B (1, -2, 3) W3 C (3, 8, — 11) Mt 75 |
% A M3 B & i@ ==t gur € four migus
1-2,-2-3,3+4w3g3-1,-5, 735 |
Bm3 C& i@ =&t qur € fem—mgu3 3-1, 8+ 2,— 11— 3, »@9'3, 2, 10~ 14
IS5 |

mire I fa AB w3 BCE ferm-mgurs mraust 9% | few 397 AB wig BC AHi3g
5 1Udg ABmZ BCe= fdg BAITJIfen 33T A, B, 3 C Avadt fig 75|

| mifem 11.1
1. 799 ffT U™ X, yMI -9 € &8 gH=d 90°, 135°, 45° € d< g @<t I 3t fem
< ferm-anTets usT g |
2. foq Jyr @ ferr-anAels U3 a9 1 faden »idl gfont € 5% As d< gg<t
ol
3. Ha9 &g qur € fen—migur3 -18, 12, — 4, 3 fen © fen-anets at I& |
4. wawg fafdg (2,3,4),(-1,-2,1), (5,8, 7) AHIHt I5 |
5. f&g f3gw €t ga=t € fer-dnels U3 ad Ad9 f3gw © faug fdg
(3,5,—-4),(-1,1,2) M3 (-5,-5,-2) T
11.3 »i3fay feg Jur @ mtage (Equation of a Linein Space)
faprra=t A f&T € feuret 3w &9 JyreT @ mfts dds & gnde g wHT »i3fay
fee f€q Jur € Sded M3 Tactas mitagdet & U3T Jarar |
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e Jur fedye gu f¥9 fagufas §<t T a9
() feo i3 o fie f&9 fost ot fomr f99° § & met &, 7F

(i) foo @ i3 o ffonrt i T & 7t 71

11.3.1 f&3 ar® fig A fEF° e @81 W3 63 a1e Sded b € AHigT 3uT &7
AHlagE (Equation of a line through a given point A and parallel to a given
vector b)

Z >

- . N . - B
mafed fsaen vig ye8t € ys fdg O € Aruy /
e 58 fa fifg Aer 2deq a § iz 58 fx ffe A P!
AT AeTH I I a® IFed b emigd
Ty |13 s B8 fa | 3 afas fom A2 fifeg fie y, 7
PeTAfEst Sed 1 I (f939 11.3)1 ) >Y
3T AP 2d¢d b € AHT39 I »e8 3 AP=AD,
iy )\ ffe emasfed Afpnr T X fdse11.3
Tz AP = OP-OA
g= Ab=rF-a

€%< : Uanited A € 399 W3 € BEt feu mitags Jur < faw fég P&t Afast yers ager
T | few 3g7 Iy <t Taed mildes T ¢

F=a+1b )
fGusT: 799 b=ai +bj+ck T 3T Iur € fem nigu3 a b, cTa M3 EFe gu f<T:
Ha9 ffq Jur € fewr miguz a, b, cIE 37 b =al +bj + ck IUT € AT J=ar | foF
b & |b|ar menr A

Sded gU TaT A9etAS U fe@3Us agsT (Derivation of Cartesian Form from
Vector Form)

He 88 fa €3 fig A € fagem »iT (x,, y,, z) 76 #3 3uT € fenr JAets
a, b, cI5 15 € fan fdg P € fagem via (x,y, 2 95137
F=x +y+ZK:ad=x1+y]+2zKk

ES b=ai+bj+ck
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fegst st (1) T ysmafugasd |, | w3 Kk, ¥ Iea &t gBaT a96 3 it
uge It fa
X=X +Aa, y=y, +ib; z=z+Ac .. (2
feg qur @ Uanitefod mitgee g51 (2) 3 Uaniteg A €7 yStHEUS J9s 3 At Uge
Jr

= (3

a b c

feg Iy @ gadtHs AHtaee T |

féust: A9 Iyt & fenr gAEs |, m, n g8 3T 3T € Ataae
X=X Y- W Z—17 5

= = JI
[ m n

Gumas 6.fdg (5,2, —4) 3 e T8 I FdeT 3 + 2] — 8k € AHIIT JuT &'
e M3 IIetHe AHlaaST § U3t dq |

J% . At Aee o fa

fen et Jur e Sded mtdae T
F=5{+2]—4k+ A (37 +2]-8K)[(1) 3]
fa@fa 3ur 3 nfex faw fdg P(x, y, 2) € Afgst [deq ¢ J, fen et
Xi+y]+zk =5 +2]-4k+ A (31 +2]-8k)
= (5+30)1+(2+21) ] +(-4-8L) k
A T YSHEUS J95 3wl YUz J9e I fa
X-5 y-2 z+4
3 2 -8
H 3y € milgae e qatHMHE U T |

11.4 € Jy=t @ fegaa a& (Angle between two lines)

He 88 fa L, W3 L, ys fie 9" foase st € dur=t g5 fam € feur »igus
T a, b, c,MF a,b, c, 35 feT s 5Q fa L, R fi Pwd L, 3 o
fdg Q 1939 11. 4 ST €3 I <deg OPmz OQ 3 fewg a3 & 36 fa OP»=
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0Qw f&u fs@a d< 0T 17 ure a9 fa Eaeg OP Z
M3 OQE UWRT FHET : a, b, ¢, "3 a, b, c, 75|
fen et fegst € fegag de 0
ad, +hb, +¢c,
Jal b+ @+ +

aer T Y
feg 3* sin0 € gu few, Juet & fegag evd=
X

SN0= .,1- cos? § T feaT T | fe3a11. 4

onrar fagr

cosh =
= L,

_ \/1_ (33, +hib,+¢C,)*
(a7 +bf +¢ ) (a5 +b5 +¢f)

_ (@0 +c?) (3 +B2 + cF) (a3, +Bby +eic, )
@z +b2+c?) (a2 +b2 +c3)

_J@b-ab)’ +(e-56)+Ca-ca)
V@& +0 a4

| et |@w nfast fdg 7o duret L wid L, ues fie &9 oot foaset § 3wt
L, w3 L, g, uw fie &9 foase et duer e : L/, w3 L/ ise
Tt AEE quret L w L, @ fenr wigurst @t at ferr smrete feg aw Je fAe L, @
e |, m,n "3 L,E&e |, m,n,3 (1) »3 (2) forafeus gu B!

- (2

cosO = |l I, + mm, + nn,| (f@&fF 12+ mP+n?=1=12+m?+n?) ..(3)

W sno= \molm) - (mn,-mn) (], -n,L) @)
femr-wgus a, b, c, 3 a, b, c, TV Jur=t
(i) mfedg g5 Hag 6 =90°, meag (1) 3 aa,+bb,+cc,=0
a _b_g
a b ¢

(i) ™8T T&, Aagd 0=0,m383 (2)
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IS WAt & Jyret & fegarg € d< UIT J9idr fAn & AHidds fE3 I 95 | Jag €9

et 7 = & +Ab M3 T = 8,+ub, e g fa@ad= 0 T

3T cosh = —Bl b
Bl 2
Tt gu fg Fag urero L = YA 274 ()
- 3 b o
. X=% _ Y=Y, _2-% @

@ fegagde efrﬁ-T'Eré'u"efQ(l) ndész(z) @%—sz a, b, c 3
a, b, c,J 3°
aB9=‘ aa, +hb, +cc,
Ja? +b7+cf \Jad +bf +CE
Gegas 7. &3 I Jy-A3
F =31 +2]—4k+A( +2]+2K)
w3 F=5-2]+p(3i +2]+6k) € fegaeds yzrag|

95 He B8 b =1+2]+2k "3 b, = 3( +2]+6Kk
< Jy=r ¥ fdg d= 07, fen st

b-b, | |(+2]+2K)-(31+2]+6kK)
cosO = ===
I [b,| V1+4+4+9+4+36
~ 3+4+12‘_1_9
3x7 21

Y )
few 39t 0 = cos* (21)

@E"?.EIFS.@’HT—T:!%:
X+3 y-1 z+3
3 5 4
T X+1 _ y—4:z—5
1 1 2

€ fegagds uaTaq |
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I8 : ufgst Jur € fem migurz 3, 5, 4 W3 gdt duT € femm migu3 1, 1, 2 5 | HAd
Gustefegeras 0I= 3+
31+51+4.2
VF +52 442 12 +12 + 22

16 16 83

~ /506 5246 15

cos O =

83
few 3t SSter a= cosl[ 1\?} T

11.5 € Juret € fegaa fs@s3H gat (Shortest Distance between two lines)
»3foy fS9 g9 € Jur=t yanua fan fig 3 deetit I& 37 Qust € fegarg &t fa@a3n
gat fireg § w2 wizfoy < Fae € Sy a3 g5 3T Qust € fegarg &t fs@xav gdt,
Sust € fIT &y €t Suret It migwrz fea Jur & ¥ fig 3° endt 3y 3 fiffomr faprr
&EJI 7

fem 3 fewrer nigfoy e mfaatut <t
Iyt JEIT 98 | &7 3T deehdt I8 M3
a7 It 39 et g5 | s 9 G F
wfrdbit et & 7% & wfomEEt Oy
(noncoplanar) §€ 95 M3 fegst & faurzst \ E ~
Jur=t (skew lines) afd<e g 18egds & o >Y
39 3wt fI3T 115 fRe x, yms z€ A B
AUy gHe™g: 1, 3, 2 feargt e Mg @& X
aHd 3 fegrg gae It |

JuT GEE3 < fedas € AUy I M3 3y DB, AT sla §ug &3 © a5 &9 graeet
Jet dteg € fedde € AUy 7 | feg uet faunzst os faGfa fea mizg sdt a5 W3
ae fHeatt <t &t a5 |
€ Jyr=t € fegarg fa@a3an gt 3 A3 »igw fEq mifrd Junds 3° T 7 € 3ur 3 Afes
feg fde & gndt Jur 3 Afas 39 fie & e &% yuz 9= 3 {9 fen &t &aret
fs@s3an 3= | fs€=3H gdt Junds €< faunsst Jur=t 3 &g J=ar |

fdga11.5

11.5.1 € fewn3st gyt € €7 et gat (Distance between two skew lines)
g wit quret € 99 & faGaav gt fanafaus feut 3 ugraee ot s 88 | »3 |,
< faniast Juret 95 fagst © mitaes (939 11.6) forsfeug o5 -
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F=a+ih .. (1) Q 1
g T =a,+nb, v 2
dur |, 3 ¥t fifg Sfaver rfast Saes &, W3 1,3 &9 *
fdg T famer Afast Sded 3, 361 37 fa€aam gdt — P L
Iged e mag ST &t fa@a3n gat <t ferr fee yuu ff39 11.6

T HU € AN J=ar (Aams10.6.2) |
Ha9 | 73 |,E e et faGaan gdt <aeg PQ I 3T feg €= b 3 b, 3 HFI=ai|
PQ et fenr f&9 fearet *deq p few yag g=ar fa

b x b,
A = — — 3
A= 5 <6 ©)
e d, fs8a3a gt Sacg e MA@ T INE 88 ST W3 PQ T ffgerde 04, 3T
PQ = ST |cos 0|
, ) %ﬁ‘
ug S0 = 1 1PQIST|
dn-(a - &) . —
= dsT ‘(ﬁ@ﬁr =d,- &)

fer wet B2ttt faQaan wat
d = PQ = ST |cos 6]




fIs-farmet fafest

ISHMME gu (Cartesian Form)

-~

JyTT
| X=X _¥Y-% _2-12
oA by C
- X— X Y=Y _2-%
w3 l: 2 = =
2 b, C
€ fega9 fa@aar gt J-:
X=% Yo=Y 4L -4
& by G
) b, G

Jibic, —b,0)? + (c3, @)% + (arb, - ah)’

11.5.2 AH'3T gy'et € €9 €t g7 (Distance between parallel lines)
A9 € u=t | w3 |,mi3T I 3t §9 Afg Mgt (Coplanar) 3&tt 75 | Hs &8

&3t aret Jur=t =g

F=4a+ab

-~

L ES F=4a +ub

J5, fig |, 3 fie S evrfast Saeq g »3 1,3 fie

399

T e Afgst Sgeq 4, 7 (939 11.7)
fagfa |, w3 |, afomsstgs Ifae fde T3 |,

JuE IE g ETUT PISTIUEt | w3 |, € fegamg S(2)
1

at gdt = [TP|
Vi 58 fa @aed STWI be fdgdae 0713«

b x ST = (|b||ST|sin®)n
fiE Juret | w3 |, 3% 3 & fearet Soed N T

uég ST=a —q

(3



400  Tfes
fenr set (3) 3wt yuz gae ot fa
bx(&-&)=|b|PTh  (fa€fa PT =STsin)
MIgTI |bx(a,-a) = |6|PT-1 (as|A|=1)
fem wet &bt arehnt Juret € T3 faBaan gat

a

Je ﬁl:‘bx(éz—él) -

b

Geggz 9. qu=t | w3 |, @ <9 & faGaan gat usT a3 fane Saeq mitaee 76 -
P+ ]+ (27-]+K) .. (D

a

+j]-K+p (31 =5] +2k) (2

r

-

w3 F=2

I mitgas (1) W3 (2) St 3BaTgHee 7 = & + A b w3 F=a+ub,, 3%
q9s 3 AT YUz Jae I fa

a=i+j,=21-]+k
a,=2 +]-km3 b, =3 5] +2k
few met a,-a=1-k
"3 b xb,= (2i —j+k)x (3 -5]+2k)
]k
=2 -1 1]|=3-]-7k
3 5 2
few 3t I, xb,| = JO+1+ 49 = /59

fer et ffat aret Jur=t & f&9 faQaan ot
g (b xb,) (& -&) _13-0+7|_ 10

boxB | | B e
Gegae 10. farafeys fESbt arett gur=t | w3 |,
F=i+2]-4k+1 (27 +3]+6k)
M3 F=31+3]-5k+p(27+3]+6k)COT f¥T fsGaav gt usrad |
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= .

J% . ¥ Juet 39 g5 | (faf) wg yus 9 fa
a4 =1+2]-4k, 8 =3(+3]-5k »3 b = 2 +3]+6K

few wet quret € 9 <t gat

]k

g= bx(g,-a)|_| |2 3 6

- Ib| 21

JA+9+36
_|-91+14]-4K| 293 /293 5

) 49 Jag 7

|femm 11.2]

) 12 -3 -4 4 12 3 3 -4 12 ,

L SQ I fem s 15 3 3 313 13131
f3& Jur=t UgAug BT J |

2. wang fa fdenr (1,-1, 2), (3,4,—-2) 3T Are &t 3y fdgnt (0, 3,2) w3
(3,5,6)f T ATt U I FIJ|

3. =g fa fdegmt (4,7, 8), (2, 3,4) 3T A =3t ur, fdgn™ (-1,-2,1),
(1,2,5) F A< TH IUTE AHST T |

4. fég (1,2, 3) F IH9s =& JuT € AHldES UST &9 H 2ded 3f +2 | 2K &
3T J |

5. fig famerAfast @aed 21— | + 4K T Taae M Sded | +2 | -k &t femr
f&9 7T T8} JuT T Ided M TIeHs U fET mitaas U3t ag |

6. €W Jur T FacHmE AHigaE U3t a9 A fdg (- 2, 4, — 5) 3 At I w3

Xx+3_y-4_z+8 E T
3 5 6

7. f8q JuT @ gractHE AHiddS X;S: y;4:z;6 J | fer €t S99 milaae
y3Taq |
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8.

10.

11.

12.

13.

14.

15.

afes
forsfeyg Jur-afamt € fegdd aes U3T a9 |
() T=21-5]+k+1L(B+2]+6K) 3
F=71—6K+u(i +2]+2K)

() F=3"+]-2k+r(i—]—2K) ™3
F=20—]—56k+u(3i 5] —4K)
fovsfasug Jur-afant @ fegad ds U™ d49 -

x-2 y-1 z+3 _ - x+2 y-4 z-5
(|) = = M3 = =
2 5 -3 -1 8 4

X Z_ - Xx-5 -2 z-3
(i) X_Y_z w3 _YTe_
2 2 1 4 1 8

. 1-x 7y-14 z-3
3 2p 2

PEHS UITES 3T {3
~ 7-7x y-5 6-z
mI = =
3p 1 5

T g fa Jur=t X-5_y+2_z
7 -5 1

UJAUT &9 g |

-~

M3 y_z

=2 == ydgAud Bg d< |
2 3

X
1

Fuet r=((+2]+K) +A( -+ M3 r=27 -] —k+pn(2
€ fega9 faGaa gdt usT a9 |

-~ . xXx+1 y+1 z+1 . x-3 y-5 z
Jyret = = (ES = =
7 -6 1 1 -2

17 @ feuraq fsQaan gat

y3r g |
Juet fAgst € Sded MHiade farasfaus g5 € fegaa & faGaa gat usr
9 :

F=@(+2]+3K) +1(—-3]+2K) w3 F =41 +5] +6k+p (21 +3] +K)
Jur=t fAgst € Tded AHidae farafaus d € fegars fsGaa gdt usT a9 |
F=(l-t) +(t-2) j+(B-2t)k M3 F=(s+D)i +(2s-1) | - (2s+1) k
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. Hdd Jyret

g (4, 2, -4) 3 7 T8 »3 & Jy=t

fas-farret fmrfest 403

WMITGwTE 11 °3 maifas geas HiswTH

. Bust Jyret € fegag d= U3t d9 fAgst € femmwigutz a, b, c M3 b—-c¢, c—a,

a-bysl
X-Ud € AHT39 3 ¥ fie &9 A =&t 3ur @ mHldde usT aqd |
x—1: y—2:z—3 ey x—1:y—1:z—6
-3 2k 2 3k 1 -5
It KETHB UIT T |
U =61 +2 ] +2K+A(( -2 +2K)mMS
F=—4i—k+p@Bi-2j-2k) =fegfs@aargdtuzras|

- ‘x—8_y+19_z—10m§
3 -16 7

UJdHUd &9 I

x-15 -2 z-5 _ . _ - -
3 =y8 =% T B9 JYT € Sded AHIddS UST a9 |

fea Jur & fenr anrets U gniar fsgew i gfont &t usTana femr € 5%
IS¢ d< O aHTElS J9 I |
Aagg g dure ferraAaets |, mnas 3t 2+ m+n2=1
& fdgntt P(x, Yy, 2) "3 Q (X, Y, z) & HeGs =3t gur € fenr anrets
%=X Y% Z-%
PQ  PQ  PQ
¥ PO = 0, — x)° + (v, - W)* + (2, - &)
fea Jur & femr »igu3 €U Aftret g5 7 Jur & feur anrets € mirguTst
gt 75 |
a9 feq Jur @ femr IAEts |, m, n 3 femm wWigus a, b, cI5 3T
|= —7—;m= b in= ¢
Ja+brect' Jal+brect’ Ja b2+

Jo |
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afeg

feungst quret : »izfoy et 8T Ju=t g5 7 37 3T ANT3T 96 W &7 Ot
Jrett 9% | feg qur=t fas 35T g Jebdt a5 |
fangst Juet @ ST d< : @u de T & & fan fig (Serto us fdg f&9°) 3
feg®t Suret fE5 a9d € ANTST fuEt aTet € areehnt Juet € fEg T
#ag |, m,n 73 |, m, n, ferr qArels @Mt € qu=t € fRe fsl@a ae
0J3f
cosO = |, +mm, +nn,|

Had a, b, c "3 a,b, ¢, ferrngust Tt € guret @ iR fa@s a0 633t

aa+thb+cg
VZ 0+ b+
feq fe3 are fie fame Afesdt Sace 3 T o Iaas =Bt M3 2ded b ©
AHT39 3y &t Saed Aflgds 7= a3+ A b T
fde (x, y,, z) fS9 77 T8t oy fAme ferr aATELs |, m, nJs, € AHisee
X=% _Y=%_2-% 5

I m n

€ fdent faust € Afadt Sdeg a w3 b Is 99 A =&t Jur € mildes =
Sgca milades r=a+ A (b-4a)J|

cos 0 =

HIg € JU=T -7 +AbMI =48, +Ab,, € T v fafaae 0 T 3°

|by |10, |
ﬁaa"é'\ -X_Xlzy_ylzz_zlmg\
l; m n

X — X — z2-2, .
2 _ Y= Yo _ 2 3
I, m, n,
cosO = |, +mm,+nn,]
< fonisst Juet € fSg fsBasH gt Gudwrds T A = U= I &9 J|

fegeraes 6 T 3T



J |
’@-WX )(1_)/_3/1_2_21,,}{—;r I el Zze"f
fs@a= gat
X=X Yo=Y L4
Y by G -
& b, G, 7!

Jbc, —b,0)? + (63, —6,)% + (ah, - ah)?




»rfuwrrfs
‘ 3fyar UgrafHar Linear Programming ’

+«» The mathematical experience of the student is incomplete if he never had
the opportunity to solve a problem invented by himself. — G POLYA <

12.1 gfwar (Introduction)
et fg Gast @ Quliar 3 fegd SciedT 39 99 7|
M3 faprra<t g vt € 98T @& Iy maHsgT=t M
e MmragT=T yEat v e feut ardt 9% des © fem e
wfons I3 9o I7 | Iifelz & et Quiar feg mmsarat/
(Inequations) AHlaET Y&t mrfves T | fem mfarfe &g mnt
g nas3=/Mitdee Y@t e Js fet aret as emsfea
Fies et mifet & J% a9 ffg Gutiar gafar |

fea gastag TuTat & TAGHT fAR W W3 Fartit er
TUTg gdeT J | fs=2w € et GAT 9% 50,000 I MI ANTE
JUT © BT =S 60 TN € L AES T | T W F 2500
3: 3 feq gart 3 500 7: & BAF MEEt I 18T niaHs L _Kantorovich
sarger J fa fea i & 9 €250 §: M3 fEa gant &
Y 3 757 € HF AT AAET J IHE BE fa @ Ardtt =gt & ST AaeT I, fastit <
7 & ydtetnt g5, 3T €U Aaer gder J fa fad Hat w3 gartt & udteeT gater I 3t
fa Quway faem it 3 @7 v o7& B9 niftaan 3= |

fen 3gt St mifrret fagst <9 &9 @ sifgazsy miides W3 &<z e
faGaataas tre &t afan 13t ATl T, niggsIHlads At nye 8t a5 |
fsﬂawmm»ﬂmnwfﬂwv(ommumon Problems) f&g mfuaay &9, fa@s3H
B3 7 ARS8 fs@a3n Gutiar mife s g |

dfua Gararfiiar mifmret e fermm udg ffd HU3=Uas yae &t niggsrlade
WUWWWMW@WWWWU@W
S wm@mmemmmmﬁweﬁ%ﬁmml
fer miftre feg mivt a3 3t Yareriiar mifimret M3 Goat e grere fedt ot I& usr
35 T mis JaiaT | el fer yara et mifimiret 87 J% U™ a9 BEt 99 fett St as |

406
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12.2 3t Yararivar Aifeyret s @ReT aifest BSdiaee (Linear Programming
Problem and itsM athematical Formulation)

AT mryeT fegrg TetedT QU3 e3alud F1Ba € 8¥wds € &% Hg 9T 9f 7 fF
BT TH i € aife3t F3dtdas ff9 vee adar | fer Gergae 9wt fonsys=a
et fa
(i) =udtmruet us IHE S HaT AT goHHT AT e € feds g fsem ag raer 7 I few
3 fewrer €1 foen Tt fefds Grasava fettt enrar fefgs &g aH FaaT |
(i) I% TUT HI3=TYIs HI3T AT Yf3gut/gent e feds J fae” GreT faew mfuaan
50,000 3: 3T AfHZ T M3 EAT a& MfUd3H 60 AT § S € BT AE'S
Sumau T
He &8 fa 87 aet gont a4t ydteeT d=s Hat § ydtee e fong gder 7, fen gt
€9 50,000 + 2500, #* 20 WA § Ydle Aaer 7| fen Afast f&e 6w e d® &9
Rs (250 x 20) A Rs 5000 d<ar |
H& B8 fa €T a8t He &7 ydte & I<8 JIAPHT It ydles @t 9< Jder J1 37 €7
wWruST Gussy 5000 g: & 3wt fS9 50,000 + 500, MIE™3 100 FIHPHT IT ydle AaeT T,
U3 €U 3= 60 &ar & Tt TU AaeT I | fen 39T §U a=H 60 JHMHT yatee Bet §fuz
J=ar, fAar 5% € €7 9®% 9 Rs60 x 75 %dg3 Rs4500 It J=ar|
wfAagtt 39 <t 993 AdHT Ag<aTer I& | Berads & sE €9 10 Hat w3 50
FIHtHT ydtee &t 9 a9 AdeT 7, faffa €1 € a® 60 =agmt & due v e Qusay
J fenAfast fee Brerdw s9d: (10 x 250 + 50 x 75), Mg 3 Rs 6250 »rfe |
fer 37wt u3T g9 It fa SIstad TuTt fefgs < feubdt € g mrust us
gt T faen g9 AaeT I M3 fefds faen trser & rueT & fefgs B9 a1 Aaar Ige
mif feg T fa €1 & mrust us ot 3° wifaasy 379 Yrus d9s © et fan 397 foem
ga&T grdter 9 7 fen yis e €739 € et g mifimnr e aife3t p3diaee a9 er

W3& JI&T IatET I |

12.2.1 RHfwHT €7 gifEe3T FFgiage (Mathematical Formulation of the Problem)
He &G fa Hat & Aftrr x M3 gartt €t Aftrm y I fAR & Saates =uTdt udteer 71
AUHe I fa xm3 y 319 faeana 9, Magrs

X> O} (vaﬁ'dﬁ?s}rsr) (D
y20| yfggu/gfen - (2)

fa€fa wat W3 garbut &t AfeenT faeaHa sat T AgeT T



408 afes

[t 3 miftaan us It (g feg gt Rs 50,000 J) € fa=w d9a e yf3gu I
M3 FUE € I d=% mfuaaH THgHT (88 feg 60 9)& Ty € &t Agrs e =t yfsgy
g

dfetgufegeanrBe 3

2500x + 500y < 50,000 (fs==yf3gm)
A Bx +y < 100 -3
w3 X+y <60 (FET q9& € Yf39m) o (4

Ut fen 3gT % feemagaT gder I I A Gaer g Z (e 58) mfuasw =
w3 fAR & x M3 y € 55 € gy ST forasfaus yars 57 ganrfenT 77 AgeT T
Z = 250x + 75y (8<H e85 mu=ger J)
fe3t mitags e g arfest gu i ufseass fem sgrderd
Z = 250x + 75y € mfgaaHldds a9

g yfsau farsfeus o5
5x +y <100
X+y<60
x>0, y>0

fen et g Tt e®s Z e mfuaaridee d9aT J Aefd Jut MAHTE3=T € AHT
onidT JY forfeg a3t fan feo 95T did fae=sva 05 3 fadga ag9er T |99 Ja mifmdreT
St 95 fan f<e Tt a5 T fa@aataae a3 AteT J Aefa Z , ot vias3T=t € AT
oI oY ferfaa Aa3t fan fE9 98T Jiafaeava 95 3 fadgd ager I | mfadtw miferret
& 3t Garariviar mifr afde o | fen 3g7 fEa it Yarerhiar mifrnr @ mifrnr I 7 fa
XM Yy IY A IBT € fFF 3t e85 Z (7 fa Geness mu=@er ) e misggs3an
H& (rfaaar At fs@a3 is) U3 a96 &7 Agfuz I 1yf3dy feu I fa 9 die fae=va
& w3 feg Iyt s 3T=t € AT Jut yf3dut § Agwe aoe g5 It ue I nee J fa
M &9 A9 arfe3t g vt 98 Aefa Yaeriier 3 »ew J fa ferm e At ferm
U & USTqISTJ |

wiar Tue 3 ufost miAt g g3 uet (fagst eryear§ug I gfanm ) §amitgufss
ufggH3 aatar fAgst e YGar mt 3ut Yare mifret &9 aatar |
@TH %5 : ul €%5 Z = ax + by, Aefd a, b »9® 95 fAust € nmfuaavdioes A
fs@aitage dev I fEq 3t Ben &5 mu=@er J|
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Susaz Gegas S 2 =250x + 75y Fag dt Gemews J1es x M3y &
fegeava 9% afde 75|
yf39y : fEq 4t Yarariiar mifT € 987 3 3ut mirs3T= 7 mildae AT 9o, yf3gg
MR I | HI3T YUt x> 0, y > 0 & J19 fae=ama yf3gu/mast nuy=@er J1
Sudaz Gergee i3 (1) T (4) IT»MAH3=T T AHT Yf3gu n=@er d|
MEIHIH A=t fsrfez yfsfdut € »idls niassT=T & Ay emaT feaurfaas mifmr
A% (AR faga® x w3 y) 9 It evs & mifuaan A 6830 39, MagssH
MfrdT My @t T | 3t Yararhiar mifret ffq ferm yara & masg®3H (optimal)
AT T | Mg &I AT [UTat E9ma it w3 gantT € yate fE3t aret us ot
AT MEIBIHTTIE Tt M it Yararfrar mifr €t @eges I
nifofe &g mit aes mrat feut s It igfos sotar|
12.2.2 34t Jarafiar mifimet & g& a5 €1 a4t fegt (Graphical Method
of Solving Linear Programming Problems)
foma=t T3 S »int ity 9 o7 far fam yaa € 98 x»i3 y &% Aafas sut s gr=t
yTa! e viay fifge gt w3 virayl feut gvimer I U3t g9 I | g wiAl Fams 12 .2 e
T 13T TET Heat w3 gartt f[Se fsem & mifm e @9 aaiar | g wrt fer mifir &
WIBY ETIT IS Il e I T miAa 3T € gu 9 €3 98 yf3fdur ermmdy vt |
5x +y <100 - (@

Y

X+y<60 .. (2
x>0 .. (3
y>0 .. (4

fen yeat €7 W3y (gfenr wifas
439) fegnmaa=et (1) W3 (4) 34,
9T fswg Ard »iguzst € A fdent
g faafvz T few u39 few o9a fie
Ut & Nt i3 Fort f[fe fsemaas &
e niggs3H feasy sam@er 7 I fen st
feg 433 mifAd™ & MEegs3IH 437
myEgerd (f93912.1)| feruzg e add
fag mifrr e »iag®3ad I8 muya@er
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T | few 3gt it fors & ufggrag aee ot
Suwaz w39 (Feasible Ragion) f&3t mifirr € ®et f&a Jut Yararfiar mifr &
drafasava yf3da x, y > 0 »uts A9 yf3gut gwmar faw3 AT 439 (A7 3% ¥39)
My J 939 12.1 ff9 939 OABC ( Eferm »ifag) mifmdr € et Qugas 439
7 18umas u39 3 fegrer 7 439 T €7 & did Quuas a9 afde 75 |
Sugas I% YT : GUTd3 439 € »Edd 3791 M3 HiWT & A9 fig yf3fdut € Qugas &
M= g5 | {939 12.1 ST Guwaz 433 OABC € medd g7a1 3 AT € A9 fig
mifrT € Guwas 7% & Yeafi3 J9e 76 18emg9s € et fdg (10, 50) mifrr et fea
Suasz I8 I w3 fer 39t fde (0, 60), (20, 0) e S I T3

Suwas 7% € ¥799 ©F det 7t fiy die Guwas 7% »nue@er I §ewes € wet
fadg (25, 40) mifr e dig Guwas 7% 35|
MEIHIH I% : QuEa3 439 fTT It fig © 6T0 e56 T Mg i ( wifaaar aF
fs@=an) €<, ffa Gumaz d& mu=@er J|

g At Sue I fa Quuas 439 OABC e gea fig (1) 3 (4) Safeafed e
yf3gut § AgHe daeT I W3 wifad wé3 fie I& | feu mime &at T fa wrt B<n e8s
Z=250x+ 75y © Mfud3aH He =& fdent & fan 37T u3T a5 e GuasT a4ttt | fen
AfaSt & 3% a9s & et wrt fons fa@ont e Qutiar aatar 7 far 34t Garefifar mifrmret
& I% 995 fTu HesT s (muag3) J | feust fa@ant € ng3 fer ynsa € ferrang
I IITIS |
fa€an 1. Ha @ fea 3yt Yarariiar mifimr € st RQumas u39* (€3 agen) I
MINEBE fa Z=ax+byGenesas T1Ae Z T q Mgg®3ad He (wfuaasy AF
fs@=an) 9= i yf3dut 5% ASfuz 9% x w3 y I°t MAHTS3T=T gmraT EarTfemT
I° 3T MEgB3IH HE Guaas 439 € 36 (fmg) 3 wies It giet 1
fa€an 2. ¥ B8 fa fea 3yt Yaerier mifmr € Bet R Guwa3 439 I M3 Z = ax
+ by €7 e%& T 1 Ag9 R yfiu3 439 32 3T €en €% Z, R <9 €< nifuaay w3
fs@aan e Juer I w3 fer ffe gda R €34 fdg (corner) (fmd) I Afaz der J|

fEuzt: wad R39 uf3du I 37 €en e&s v mfuas Af fs@=a s St ge st &t T
Aaet I | feg <t wag fen €t e T 3T R € fivg fig 3 Seradter T (fa@an 1 € »igwma)

Suias eru9s <9 yfady (Quwaz) 439 € g fdg O, A, Bw3 CIs wa
fagnt € fsgew »ig usT ags™ Aes § fa=” (0, 0), (20, 0), (10, 50) »F (0, 60) FH="T
fiyg fdg g5 | g it fegst ffgr 3 Ze W usT A5 J |
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ZT NS fer yaa J:
Quyas 439 € fAug Z € OIS H&
0(0,0) 0
A (0,60) 4500
B (10,50) 6250 <— | wifgasn
C(20,0) 5000

it fadtye qae ot fa =urdt § fa=w GasT (10, 50) »@E3 10 HAt w3 50
FJIAPHT ydtee feg miftaay &g I=ar|
fen fedt feg fons usr e i T
1. 3t Yareriier mifm e Quuas 439 usT a9 M3 BRe da' fdemt (fg) &AF
3t fadhue goiar A € Ju=T € qre fie § € Jur=t &t mldast & I% a9d €
ffgdusrad|
2. BEHEHESZ=ax+bye H® 9q d& fag 3 u3T a3 Mifemm fa M w3 m =
fegat fdgn 3 MfuaaH M3 fs8=3H e yeafm3 aoe I |
3. (i) #e Quua3 u3g fufen (bounded) I, M w3 m, Z € wifaaay w3 fs€aan

H& IS |
(i) »ifadt Afedt fee A uwaas 439 dia fufew 3= 3wt forsfeus feat er
Sutiar gae It

4. (a) ME Ze a3 H® € g7 A9 ax + by > M g9 YUz »adu 3% €T Jet
fig Quuas 439 ff9 &7 U= &dt 3T Z e JEt mifuaa W& &t T |
(b) fer3gt, m & Ze fs@E3HE BT TTAad ax + by < megHar yu3 ¥&
73U 3% M3 Guaa3 u3g fFg aet fde Argr 5t T | &0t 3T Z er et fa@aan
H& &qt T
g< wiAl g% §EU9st € gaT d&T feut € uet § AURE JaTdT :
Gegge 1. WY g fars It Garerfiar mifenr & 3% a9 :
fones yfadut € migna :
X+y <50 . ()

* QUEE3 uIFET IS g usTer el g dJeryA e y=rerae fig I

** fgq gre Ut miaee ySat T Guwas 439 fufon fagr Aier I Ade 89 fea 9ae € »igges Ainsu dtgr A
AeeT I &4t 3 fen & 39 ivme T afde 9 | 39 MW 3 miew 3 fa Quwas 439 fan <t fowr fRe itz gu <9
TufenT AT REET T |
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3x+y < 90 - (2
x>0,y>0 .. (3)
Z =4x +y T AfUa3H H& 3T d9 :
J5 : f939 122 f&9 e »wifgz 439 (1) 3 (3) € ufedut &t yorst gmmar
faaufas Quaaa U39 T | wint fadtue aae of fa Guwgas 439 OABC ivsT o | fer
e wiAt Z & mifua3ad H'e U3T 99 € ®et dat fig feut e Gusiar aafar |

Y qot fig 7 & FaI3
100 (0,0) 0
90
80 (30,0) 120 « |ffuasw
70 (20, 30) 110
60 (0, 50) 50
50
40
30
20
10 (50 0)
X’ 0 10 20/4 10 60 o X
Y A@30,0) x+y 50 ffg912.2

& fdgnt 0,A, B3 C& fagemsagr=a : (0, 0), (30, 0), (20, 30) % (0, 50) T |
IS I d6 ffg 3 Z e usTqae If |

fem 39t : fdg (30, 0) I ZEwfaaa H® 12071

Qe 2. By feut gmrar fors T4t Garahiar mifim § I& a9 |

fors ufegat € 3faz

X+ 2y >10 - (1)
X+4y <24 - (2
Xx>0,y>0 .. (3)

Z=200x+ 500y e fsG&3H H® u3Tag

g%« 939 12. 3 fg sfewr wifaz w39 (1) 3 (3) € ufedut & y==t gwmar
fsgufas Guwas 439 ABC T A AHET T 1 399 fdent A, B3 CE fsgeria g
:(0,5), (4, 3) M= (0, 6) 95 | fegat fdgm™ I Z = 200x + 500y E7 H& U3T Jae 7 |




femr 3gTfdg (4, 3) 3 Z e fa€83 H& Rs 2300 yuz dev J|
Geee 3. w3yt fedt gwmar fons mifr § 3% a9 -
fors ufesat € migwg

Z = 3x + 9y T faG&a3H M3 mifuae HB u3Taqd |
9% . Ag I Ufgstamt (1) 3 (4) Ja &t Jdt mims3=r yerat € Gueas 439 er sy
fige ot 1 @uwas 439 ABCD & f939 12. 4 &g fewrfenr faprr I | a39 v /fwfomr

J&r fag Z @ HATH®
Y 5 Z=3x+9y
< A (0, 10) %0
B (5,5) 60 €—
257 C(15,15) 180
<21 p(0,20) <«
154 C(15,15) D (0, 20) 18
N
.10 ~35p(5.5) (60.0)
X 5 '2'0"3'5"5'0'\X
’(100) x+3y=60
’ y=10

f§3912.4

Sfear Garerfifar 413
Jor fag Z € Aa13 H&
0,5 2500
4,3 2300 < |fs€=3ar
(0,6) 3000
(10,0)
'(,x
x+2y =10
3x+4y=24
fgsg12.3
X + 3y <60 - (1)
X +y=>10 - (2
X<y .. (3)
x>0,y>0 . (4
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(bounded) T 183 ffemt A, B, C3 D fagem i = : (0, 10), (5, 5), (15,15) W3 (0,
20) 75 | g it Z € fs8 830 M3 mifudar 1 usT 995 © et daT fie fedt e Qutiar aae
arl
Aaet 3 At Qugas u3g fdg B (5, 5) 3 Z e f68%30 H'® 60 YUz gae a7 |

Z T mfudan H Quuas 439 € € 36 fdemt gda C (15, 15) 3 D (0, 20) 3 120
yus ey

feuzt : fadhue a9 fa Gudas Gergge e, mifmr 38 fdgmt Cw3 D, 3 ms
MEIHIH I Juel I, g3 €= fie §a3 mfiuasH i'® 180 83Us aae 9 | mifratut
Afggtt fSe € 3% fdent & i@ =@ Jur¥s CD 3 339 fdg 3 Cwi3 Dt feaat
nfaasH W& fée of | feo €W Afest f[<e =t Ao § Aag © fie 89z faBasn e B3
qIe IS |

Gergge 4. Wt fedt eraT @ER e85 Z = -50x + 20y T fa@a3a e farasfasus
yfedat & Ifaz uzTaq

2X—-y>-5 . (D
X+y>3 - (2
2x—3y<12 - (3)
x>0,y>0 )

% : Ag FUfgETamt (1) 3 (4) ST T MAHsI= YB3t gndT GuTa3 u3g e
w3y fifge gt 11937 12. 5 fS9 Gumas 439 (srfemm wifaz) feuwfenr fapur T I fadtues

Y =
- 35 fdg | Z =-50x + 20y
P (0,5) 100
10 ' 30 (0,3) 60
9 (1,0) 50
7 (6,0) ~300 € |ro 5 ure

v D\AL0 o~
‘Ol 2'341"4"'75;91'0
X’ ¥ (6, 0)

3x+y=3 fgsT12.5
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9 fa Quaaa 439 misfwfen I |
g WAt 399 fdgnt 3 Z &7 Ws =t u3T Fafar

At 3wt UT Jae If fa d&T fdg (6, 0) 3 ZE A 3* We H& -300 I ? at
At afg Aae g fa Z e fa@&3a W& -300 T ? fonrs fe§ fa Aag a3q fufenr ger 3t
feg Z ev A9 3 We & (faav 2 3) eI udg »it feg Sue of fa Quuas 439
wisfwfenT I | fer Bet -300, Z T fa@&3 W& T =t Aaer T w3 &t <t | fer mifr
o7 fiHeT 3T J9& © BT vt foHsfays mmraaT=t g7 mray fifge It |

—50x + 20y <—300

WIgT3 —5x+2y<-30
M3 79 J9 fa M3y g YU Y& »i9u 38 w3 Quwas u39 ffe gt fdg I A
&4t | 7o fen feg AigT fig 9, 3t Z v f6@%3 & -300 &dt 9<ar| &gt 3t Z er
fs@s3H H®-300 I=ar|

fae fa fogg 12. 5 &9 foufemr famr T 1 fem o8t Z=-50x + 20y, = f&3 38
yf3dut € A¥y <9 fa@a3H W &dt T

Suiaz Gewos feo gt gt A ae e T faZ =—-50x+ 20y, (0,5) &
g3 H& 100 JueT 7 ¢ fen € &, A9 a9 fa ot — 50 x + 20 y > 100 € W3y
SuTa3 439 € &% ATgT fiE JueT I
Gegae 5. forsfeuz yfsdut € g93 Z = 3x + 2y = fs@axnitaae a9 -

X+y=>8 .. (D
3x+5by<15 - (2
x>0,y>0 .. (3)

9% . W=t (1) 3 (3) ETway
firg (939 12.6) | &t 3t Gugaz 439
I ? feg mifagr fa@ g7
f93912.6 3 gt ysT a9 FawE T fa
wifrgr g€t fde a9t § & A9 yf3sat §
féa =79 Agwe a9 A | fem 3gF mifr
o Qugag I8 &dt T
ffyst : Qurgaet I fAaust &t fesgaT
WAt g 3 J9 g9 I fAm € mug I
AT I¥ U Yarariiar RMfr=t g My
fermaT=t v 9= dae I7 |




416 afez

(1) Suwaz 437 o §3% sgga JeT J |

(2) €€ 55 T wfuasH (Af fa@a3n) 75 Guuas 439 € fiug (@& 3) Afazs
der I 799 €Tn €% € € 35 © fdy (fue) €q ot mifuasy  (Af fs@aa)
H& Yy Ja¢ 96 3T feust fdgm § e =@t Jur v 999 fig =t ms
wifgaay (A7 fs@a3aH) e e<ar|

| mfe 12.1 |
eyt feut 3° fors It Yarahiiar mifmret § 98 &9 ¢
1. fors yf3gat € §793 Z = 3x + 4y T #ifgaaHidee 99 :
X+y<4,x>0,y>0
2. fors yfsgut € 303 Z=-3x+ 4y e fa@aataas aq -
X+2y<8 3x+2y<12, x > 0,y=>0
3. fovs yfagut € 3faz Z = 5x + 3y & mfuaaiaees a9 -
3x+5y <15,5x+2y<10,x 20,y>0
4. fons yfadut € 3fax Z = 3x + Sy v fa@aitase a9 -
X+3y 23, x+y>2,%xy=>0
5. fovs yfsdut € 3faz Z = 3x + 2y v fs@aitase a9 -
X+2y<10,3x+y<15,x,y>0
6. fors yfsdut € 3faz Z=x+2y = fs@silase a9 :
2X+y>3,Xx+2y>6,x,y>0
fow fa Z & fa@aan e @ ffgnt 3 <u fdent 3 wies §er 1
7. fovs yf3dut € 3faz Z = 5x + 10 y & faGaniaas M3 mfuaaHiaes a9 :
X+2y <120, x+y>60,x—2y>0,Xx,y>0
8. fovs yfsdut € 3fax Z = x + 2y & sifuaitage 3 fs@aitase aq
X+2y>100,2x—y<0,2x+y<200; x,y=>0
9. fors yfsdut € 393z Z = —x + 2y T mifuaHiaees a9 :
X223, X+y>5x+2y>6,y>0
10. fovs yfsgut € 3fa3x Z = x + y " »ifgaaHidee a9 -
X—-y<-1, x+y< 0, x,y 20
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¢ &g 3yt Yararfiiar mif @ mifim T 7 9t 98T € JHt %6 € MBI NS
(mifoaan 7 fa€@a3) & U™ J9s 5% HEfus e8s & 6T e8s afde 75 |
7e yf39y feu 9= fa 9% di9 faeaHa 9 w3 St miassT=t (fAgst & aut
yf3eu Ffde 95)& AgHe J9€ I | 997 § de-a< fadefed 99 afde I&
W3 JI9 fae=aHa 95 |

fefsama feuet
v fene U <9, A€ " A9ss & GasT g, fan 5% gmict § fs@a3n
B3 3 MigaaH Iat ugw, It Yarerivar feat 3'e &9 mret |
3yt Yareriviar € 439 fE9 ufast Yaeriiar e F3dlage grt arfesama L.Kantoro
Vich »3 mydlat nigarazet FL.Hitch Cock & 1941 few fe3 18=t & Ae339
gu 9 a1 137 | fer Yarariiar § € el mifdT € 3™ &7 Arfen famr 17
1945 fET vigrew »aer 34t G.Stigler & It Yarariiar mifeym & 3fas misgsa
WTITg AU AN @7 @96 J13T |7 1947 @9 G.B. Dantzig & fea fals feat
# SIMPLEX METHOOD € &' yfia J € g™ f&3T 7 3yt Yareriier mifmir &
g Iedler (Steps) ST 7% a9s €t midE feat 71
4t Yarariiar feat 3 »3fsa o d9s € a96 Ha 1975 &9 L.Katorovich m3
»HdtaT afe3 MagEm3dt T.C.Koopmans & »d8 ATHId <9 598 YaAdd Y€
13T farm | FfuGed € »manis W3 Fgdt Areeand € MaHG € &7 Jet 43dT et
Afes mimet f&9 T4t Yaeriier iss e Qutier 5g3 u3at ffg fu faur J |
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(ﬁ?"’%?;" Probabilityj

¢ The Theory of probabilities is simply the science of logic
quantitatively treated — C.S. PEIRCE +*

13.1 gfHar (Introduction)

it weaet € wfez I & rfsmefasr &t vy e gu
g ufgnr At It grt a1fe 3 fefarnrat . s . a@HaeT
(1903-1987) Tt feasr refiy fgnelde e femans
AT M FeeaT§yGare s3ifit 3 ufggmress
T gu IS antfen At |t iH-Ae=t a3ttt et o3
fS9 feresr € Aefia ferdlas w3 agmwlas frarsr
(classicdl theory) & mHg®3T <t AErfuz a3t At femr
AHZ®3T € Mg 3 WAt fesar S &ait AHT bt west=t
o Ag=aT U3t SISt At | AT AgesT © A3 fam er &t
o 3T T | fer mftmre i nirt fam wesT <t ames
Ag=aT (conditiond probability) 79 fegra afar, 7e fa
far 39 weaT © wfes I &t gus™ A8 a8 9=, w3

Pierre de Fermat
(1601-1665)

fern HU3=TYas ugsT €t Hee 3 ud-yiw (Bayes' theorem), Hg™=aT €7 greT faw

W3 WS WSSTST g7d AHSTIT |

13.2 Ha3 Ag™=&T (Conditional Probability)

e 3T wint fan wesT & AgT=aT U3 996 3 9997 a3t I | 7dd wAt fai =ait AT
(sample space) €t € west=t fe3t I 37, af fan ffq wesT € wfes d= &t pusrgdt

S =

WeSTat AgTesT I g=arm ?

g fen yrs © €39 st ffa 393 (fair) ysiar 3 fegmg Jaie fame a3+

M-It I |

418



Hg=ar 419
g ge 35 faaty (fair) fifont § e € yGiar 3 feu adie | fem ywar e
&It AHT 3
S={HHH, HHT, HTH, THH, HTT, THT, TTH, TTT}
NP . . . . 1, X
ﬁ%mmm,msﬁmﬁmnﬁgmmf&géw§%m

Tt | He B8 EwesT “We-ue € f[gg mBs” M3 FwesT “ufgd fiad 3 ue e &
foye ot

3t E = {HHH, HHT, HTH, THH}

ES F={THH, THT, TTH, TTT}

fem wet P(E) =P ({HHH}) + P{HHT}) + P{HTH}) + P({THH})

11111 )

“5'8'8's 2 ™

ES P(F)=P{THH}) + P{THT}) + P{TTH}) + P{TTT})
_i1111
888 8 2

% at EnF={THH}

few &t P(E N F) = P{THH}) = %

e " 38 g foar 9 fa ufad fifar 3 ue mr@er I 7= wesT F wfes g8t T, 37
weaT ETt Ag=aTdt I 7 F & wfels I €t gusT 3 feu fanfezs I fa Et Ag=sr uzr
3 Bet GuaT Taait ffent 3 fegrg adt gz w=ar fagsT i ufed e 3 ue aat
J1weaT E Bet fen gt 3 fad AWT S 3 wer d ferer GU-AT F < fapu 3199
maer &9, fen gat guaT & Ay »ns &9 89 S T fa o3 § T feg fadt s=
39319 Y@ar 3 gy <9 migeT gdter I faneT S=ait Ayo a=® Gust a3t er
AT J fAgs fa weasT F € 35 95|
g Fer @U <591t fde fAusT E &t »igas I, THH 7| fem et

- s 1

F & S&dit AHY Hae I8 weaT E & AgesT = 2

- o - . 1
A Femfzgaa‘gEe’rHW:Z
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weaT E € AgesT § a3 AgTesT afde 6 | Ae fd usT I fa weasT Fufez 7
g4t I M3 fen & P (E|F) 3ot faue ot
= FER) = 4

3CadfaF QU3 fMud wes™ E € a3 f<e s, E w3 F €AY 33 d¢
5, g En FE 241t fdg 9s |

fer et wiAt weasT E € 913 AgesT, Ae fa u3T 32 fa wesT F wfeg I 9t J,
& Jo feut 397 U3T g9 AEE T :
(ENF) € nigas =adn fdent et Afenr

P(EIF) =

_Nn(ENF)
n(F)
g WH ™3 79 § T&41T AHT € 33T €1 3% fare 3t 3° g1 q9 3 At fue I fa P (E|F)
Jot fe3 yarg 3 fafam A Aaer 3

NENF)
PEIF) = Eg =P(E(%F) (1)
n(S)

deadfa (1) tTdHas@arTae fa P(F) #03=F = ¢ (fa€ ?)

fenset At aHI3 Ag=aT & 95 &y a7 ufag s gae a7 |

Ufgg™T 1: 399 Em3 F fai §39318 y@ar € Sait ayg 3 7é8fug € wes=t 35, 3t
Fe wfez I €t puaT 3, E€t Ag=sT J6 fay 39 3 YUz gt J:

P(EF) = P(E((;)F) 7 fa P(F) 091

13.2.1 9HII AZTEST @ feRH3™=T (Properties of conditional probability)
H& 88 fa Em3 F fart <a4it Avg SEt € wea=t g&:
fermsT1 PSP =P(FF) =1
AN P(S~F) _ P(F)
A& u3Td fa P = = =1
: N TG
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P(F P
few wet P(SIF) = P(FIF) = 1

fERH3T 2 a9 A w3 B Eadit ayg S & d€t € wear=t ga w3 F ffq Jo wesT fen
yag I fa P(F) =0, 37,
PI(A w B)IF)] =P(A|F) + P(B|F) — P[(A N B)IF]
YN 39 3, Had A M3 B WUH &T- g3 wesT=t g 3T,
PI(AUB)IF)] = P(AIF) + P(BIF)

A e I fa
PlAVB)NH

P(F)

_ P[(AnF) U (BNF)]
) P(F)

(MUt €t de 3 AW € =7 faud aat)

PI(AUB)IF)] =

PANF)+PBNF-P(ANB N F)

P()
B P(AmF)+P(BmF)_P[(AmB) N F
- P P(F) P(F)

P(AF) + P(B|F) — P(ANB|F)
e A w3 B wWurfeg a-a3 d= 3t
PI(AnB)IF] =0
= PI(A U B)|F)] = P(A|F) + P(BIF)
fen st 7" A w3 B mrun f&9 &7 g3t westet 3= 37, P(A U B) = P(A|F) + P(B|F)
da< 3 P(EF) =1-PEF)

e 1 IFASUSIfa P(SF) =1

= PIEUB)F] =1 fa@fa S=EEUFE
= P(EF) + P(E|F) =1 fa@fa Em3 E mrum &9 3™ g3t wes=t &
fewr wet P(EF) =1-P(EF

WG g g% Bergdet BEIT |



422  afes Ho=&T
- 7 9 4 -
@E"UEI?LFIHHP(A)=E,P(B)=E’HS’ P(AmB)zE,s'T P(AB) u3T&7J |

P(ANB) _1

it e 3t fa P(AIB) =~

_4
9

5\©|w\4>

Evage 2. i ufaerg feT @ 59 I | Aa9 feg uzT 3= fa Sfomt fes wie- e fea gar
B3 T, 3T e SfoT & BIIT IS ST AT AFT=ST T ?
75 He B8 bB3d § W3 ¢ B3t § TINQT I6 | YWl € <&diT AHT J:
S={(bb), (g.b), (b9), (9.9)}
H& B8 Em3 FaHea: 36 fadt wes=t § gan@e I
E: €2 99 839 I&
F : gfout fe9 we-ue ffa g3ar T

3 E={(bb)} »= F={(bb), (9,0), (b,9)}
I EnF={(bb)}
fewr et P(F):gméf P(EmF)=%
1
_ P(EF\F)_E_E
e
4

Gegge 3: g gan ST EF a9 13 10 3T 3 AYTS Aftpret fay 3 T¥ I8 g5 i
ST & Jait 37 e fE3 farrr I | few gam 3* g aras g393Tet &7 dfen famrm |
Hag feg u3T < fa o2 ¢ a9 I Jftmr 3 32U T, 3T fon Afv € faRaz J= <t &t
A=ETd?

I HE B8 fa Awes ‘€ € 93 3 fAAg Aftr T 7 w3 BwesT‘ o 38 95 3
Aftm 3 3 SS9 & Ton@ T 95 | g P(A|B) UST J96T J |

fer yGar er fsat mu d:S={1, 2,3,4,5,6, 7, 8,9, 10}

3F A={24,6_810}, B={4,56,7,89 10}

-~

M3 AnB={4,6,8,10}
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I p(A)—E P(B)_EmsrP(AmB)_iO
4
P(ANB 4

10

Eegge 4: aAg® f&9 1000 fefenradt 0, fAgst f&9° 430 Bzt o5 IfeguzsTJ
fa 430 &9 10% FFtHt T3 X|| fE9 UFEet 95 |5t AgTesT J fa feq g3a3tat s
gl Jfenr fefenmmadt mira X|| {9 uger 3, Aag feg uz I fa gfem fenr fefemadt
BIATT?

% Ha B8 EwesT ‘939319 5% gfen fefenragt mirg XII fSguger 9’ w3 FuesT
‘T3t 7% gien fefenradt szt §° & fenmas dae 95 177& P (EF) USTa8aT I |

430 43

= P(F)—m—043 P(EmF)—%—O.MS (fa )
‘ PENF) 0043
¥ PER= "5 o4 "

Gemge 5: fea uw § 35 Tt Hee € ywar g wes™ A w3 B & s fou 397
ufggrfing atgr Jfemr 3
A St 88 3 Afrr 4 wrBer
B:‘ufost €= 3 Aftnr 6 w3 gt 3 Aftenr 5 orGer
Had B srwfega J=Tfa3T T, 3T weaT A St Ag=aTu3Tdq |
J%: T&dit AT 9 216 ufdeH I |
7=, B ={(651),(652),(653),(654),(655),(656)}
1149 (1,24)..(1,64) (21,4 (224) ... (26,4
(3.14) (3.24)..(364) (414) (424) ..(464)
(5.1,4) (52,4)...(5,6,4) (6,1,4) (6,2,4) ...(6,6,4)

e A N B={(654)}
6
e P(B)—EWP(AmB) 16
L
- PAB) = PANB) 216 _1

PB) 6 6
216



24  afez Ag=ar
Geae 6: ffq Uy § € =dt Hfew faprr 3 mrBT =&t Afwr &7 /3 6 yuz ai3r
fapuT | Aferr 4 € WE- We ffq =/dt B € IHI3 AgT=aT U3T T |

9% W& &8 fa Ewfea ‘ Afomr 4 o7 Wie- We feqg edt @’ w3 Fwes ‘ €<
yfint 3 et Afemret 87 73 6 97’ S Ean 8T U5 |

3 E={(41),42),43),(44),(45),(406), (14,24, (34), (54, (64}
NES F={(15),(24),(33),(42), (5.1)}
i F T it P(E) = % P = 3—2
mI EnF={(24), 42}
I PENF) = 3_26
fen set B3tat Ag=aT O
2
P(E 2% 2
P(EIF) (P(E)F) =z
36

g< 9wt st yar 3 fege a1 T fAgsT € A9 &3H AW- ATt At | feast
YHaT e mit aTHeS AgTesT § Ufggrfag atar T |ae fa sHas AgmesT & feg ufggm,
fenmua gu 3, 87 53 <9 =t ferans d13t A7 Aaet 7, Ae Hisa wesT=t ad-AgT=t
T IS 1Ag=ET P(E N F) w3 P (F) T Udtass O8 migaa digr AfeT 71

g 5 foy et &% feng mEle
Cegee 7: fEq g § €58 A< € ydar 3 feu a9 | 79 fia 3 fog e 3t fifar
& gu9r Qe 72 ug Aa9 fid 3 ue »ie 3T g U §e | Aiag wesT ‘ue-ufe

fea e mer er wieg Jer fégr faprr T 3+ wear ffzg (H,H)
UH T 4 F I ffeort T Qe S aHGS frereer paCY <

U3T 9 | (H,T)
J%: y&ar € a3t 939 13.1 &9 anferr A AaeT I | g’g
fen yarg € 939 § gu-aur 939 afde o5 | ue(T) g,i;
T & Ewatt M T (T3)

2 (T,6)
S={(HH), (HT), (T.1), (T2). (T3, (T4), (T5), (T o0 121



fAg (H,H) saw@er T fa €< et 3 fog mrfemr .

T, w3 (T,i) ewger I fa ufost €= 3 ue mrfenr y {EE51(3)) <

w3 U & Hes 3 Afemt | mret| y Ya
GAAAR Wfsawest=r (H,H), (H,T), (T,1), (T,2),

111 1
(T.3) (T4), (T,5), (T.6) & TH=T 3,701 .
111 1., L An e
E1E1E|E HITEST T&IUTTII AT3T HT HAL| U,f?l%'-
fafd3g 132 I A= T 939 131

W& B2 F wesT fagufag ‘we-ule ffq ye mrier
W3 E wWea™ ‘UH I 4 3 ISt Afer oG’ § wamEE T |

gt F={(H,T),(T.2),(T.2),(T,3),(T4),(T.5),(T6)}
E={(T5), T8)}»& EnF={(T,5),(T.6)}
gs P(F) =P{(H,T)}) + PH{(T.1)}) + P{(T.2)}) + P{(T,3)}) +

P4} + PA(T.9)}) + P(T.6)})

11 1 1 1 1 1 3

= ottt —t——t—F—=—

4 12 12 12 12 12 12 4
- 1 1 1
W PENP=PUTHN+PATON= 15 +1,=6

feradt  PEP) = P(FE,(SF) -

N wlolk
©IN

| mfenm™ 13.1 |
1. #ad Em3 F few g+ &t wes=t g5 fa P (E) = 0.6, P (F) = 0.3 W3
P(ENnF) =02, 3,3 P(EF) 3 P(FIE) u3Taqd |
2. P(AB) u3T&d, Had P(B) = 05%3 P(A N B)=0.323<
3. @93 P(A) = 0.8, P(B) = 0.5%3 P (BJA) = 0.4 U3T &7 |
(i) P(A N B) (i) P(A|B) (i) P(A U B)

- - S .
4. PAUB)USTSE, 7 2 PA) = P(B) = 2 3 P(A|B):§
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10.

11.

12.

13.

afez

; _6 5 T e
. Had P(A)—l—l,P(B)— llmg P(AuB)—llsTusTaa'.
(i) P(ANB) (i) P(A|B) (i) P(BJA)
Jo fea yas 6 379 Sa feg PEF) u3T a3 |
fea fAa & f3s =t Garfen fapum

() E:Steew3fd3, F:ufestees Gesr 3o

(i) E: ufeufe & 93, F:<u3 Jufea oz

(i) E:<uI Su< ue, F:udufe € ue
< fifamt & & =vat Qe famrr

() E:fea fiad 3 ue m@eT F : fea fia 3 foz »rGer

(i) E: d€tye 37 m@er Fael g svwr@er
feq un & f3= Tt Gefonr Aer 3
E: 3+t &% 3 Aftmr 4 arGer
F:ufgst e €&t 3 quea 6 w3 5 WBer
fea ufgerg € 939 &g war, fuz™ w3 U39 §393tEt 5% 43 7&:
E: U9 fdafAag 3 uy=T 3, F: fugr fegagusrJ|
feq & 3 €a &% un & Gefenm famr T
@)yt 3 YUz Aftet 73 9 I € ITHI3 HI™=6T USTdd Had feg 3T

IR faa@ Ui 3 5 mfemT J |
(b) Uit 3 yruz Aftmiet 87 A3 § I ©F Hd3 HT=&T UST A4 Hdd feg 3™
< fa &%y 3 Aferm 4 I uwle T

féx fagitty umir & Hfewr AreT T west=t E = {135}, F={23}, W3 G=
{2,3,4,5) et Jo fsg uzrag

() P(EF) w3 P (FE) (i) P(E|G)™= P(G[E)

(i) P(EU FIG) ™3 P(E N F|G)
HE B8 fa AoH &= & 99 €T 3T A I3t I AH- AgT<t J | 73 fan ufgea feg
¥ 99 7%, 3T €< gfomT € g3t I It a3 AgT=aT ot 7, Aad feg fear 3= fa (i)
A9 3 ST dUT IS T (i) we-ule feq g9 g3t 7|
e mifrua € 3% 300 H9/83 3§ € MAS YAS, 200 HE/56 3¢ € HAIGS YRS,
500 g9- fea®y ya@ & mAE YHE M3 400 §9- feasy yaa € HRfas yas 95|
Ha9 YrsT &9 ffa yns §393tet 578 gfenr Aier 3, 37 fd mins yrs <F 99-
feamit g St at AgreaT I ?
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14. feg fear Ifenr I fa € ufmnt § Hee 3 yruz Aftret Y- S g5 | 82 At
cAUG 4 JeEtAg=aTU3TaT |

15. T uh & Hee € yiar 3 feura a9 | Add U 3 »iet fAfvnt 3 St gren I 3T umw
& g9t He W3 "o J8t 99 Afem e 37 e g & @8 | wesT Ufe- ufe fea
U 3 Aftr 3 wr@er’ f&3T Jfemm T 3t weaT ‘i 3 Ue wrEer &t a3
HITETUSTAS |

J5 fou yast S5 gda fRe Aaqt €39 5 |

16. FagP(A) = % P(B) =03 P(AB) T

1
(A) 0 ®) 3 (C) ufssfrg st (D) 1

17. 798 Am3 BE wes=r feryae g5 fa P(A|B) = P(BJA) = 03T
(A) AcB (B) A=B (C) AnB=¢
(D) P(A)=PF(B)
13.3 rg=sr e greT fsmn (Multiplication Theorem on Probability)
Hs &8 fa E w3 F feq E=ait Ayg S €t € wes™=t g5 | /e 39 3 AT
ENnF S wese En3 F e ufegde dean@erdIgamae fdg ENF wea=t
Em3 FE T nn ffgwfeg T §eanm@erJiwess ENnFE EFS fafumraer i
WIHT WA A3 WeaT EF € AgaT U3T 995 €t Agd3 det J |8egae &et, ffa
T ¥fE g4 U3 § dee € YU <9 il HRfazs wesT ‘ffq gema w2 ffq gt &
Ag™=aT U3 96 © fegd T Aae IF | WeaT EF € AgT=aT U3 dd6 BT WAt ITHIS
FeesT e fenans goe ot fae fa Iat feurfemT famrr 31
AT Aee IF fqd weasT FE &3 AT 3 wesr E € 903 Ag=ar §
P(EF) gt ean@E g5 3 fend J5 fay 397 U3 Jae 75 |

P(E
PER) =~ P20
€3 fe3 537 3 nit fgy rae ot fa

PENF) =P (F).P(EF
- (D
At feg St Aaee ot fa
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P(FNE)

P(FIE) = P ,P(E)=0
a P(F|E)=% (fe@fs ENF=FUE)
few 38t P(EN F) = P(E) . P(FE) (2

(1) M3 (2) § BT IS YUz Jer d fa,

P(E N F) = P(E) P(FIE) = P(F). P(E|F) #<" fa P(E) = 03 P(F) = 0
€3 &3 3w & Agesr v gies fawn * afde g5 | § fa Gergas Svte |
Gegge g: feq a&H &9 10 TBMHT M3 5 ASE die I& | € Jief ffa € gmie &
It FEMT 98 M3 ufast e gt € dee 3 ufgst v3 st ut AEt 9 1 Hs 58 fa
e fI9° I3 Ire @7 =T AN-AIT=T T, 3T &< TBIHT Iret e o ot AgT=aT I ?
J%: e fa E ‘ufgst gt gie € faases’ €t wes™ I w3 F ‘gt @t dre faase’
Tt weaT I | At P(ENF) A7 P (EF) U3T dda7 J |
7= P(E) = P= (uﬁwf‘rée’rsnﬁaﬁ'—e)%

&% qt fagrater T fa ufost ot ST st ST det T = wesT E wfez 38t T, 7
gen &9 9 TEt gret M3 5 AeT dref os | fon set, gt dre ast e S figresT Ae”
faufost e TR T IT TI ot 3<H F ST gHIg AT s dAe E erwfeg JeTuaTd|

9
g= PFIE) = 1

g Ag=sT € geT fsuH ot g yruz dev J,
P(ENF) = P(E) P(FIE) = P(E) . P(FIE), P(G|EF)
_10,9 3

15 14 7
€ 3 Sowea= BE AgesT e geT foud: Had E, Fwi3 G feq S &ait AT &t weat=t
J&5 3T,

P(ENFNG) = P(E) P(FIE) P(GIENF) = P(E) P(FIE) P(G|EF)

fen 39t FreresT € g7 fau T fenag 979 7 S0 wes=t BEt S A3t AT AaeT 7 136
fot @ergae 3 weaT= et AgTeaT @ greT fau e AURdlads fder J|
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Geraaw 9: 52 Ufamt &t g3t ¢ Iet It &9 ffa & gmie fEq 35 U3 530 58
e e | Ufg® & Ufamt e gerg »3 39 e fear g &t &t Ag=sT J|
% He 38 fa K wesr ‘dfenr Jfemm U3 gemg 37 § W3 A wes ‘dfemr gfemr
U3r g fear 3 § ean@E 95 | e 39 3 Ag P (KKA) u3T JasT 3¢
_ 4
g PK) =
5% 3t P(KK) feg uzr 3= 3 fq ‘ufgsT dfenm U3 gemg 37 ug g+ U3 €7 geng
JT EHigesT § EReT T Ige gl i[9 (52— 1) =51 U3 95 fagsT <5 f3s semg a5 |

3
fer wet PKIK) = =

[ N NV N

fen m&t P(AKKK) St ade 98 U3 € ffa I et gmes AgesT d Ae fa g usr &
fa € gemg ufgst gt de AT g9 96 | IS drel iR 50 U3 Tt as |
for adt PAIKK) = PAIK K)= -
FeresT € greT femd gt g yug e 9 fa:
P(KKA) = P(K) P(K|K) P(AIKK)
4 3 4 2

= —X—X—=——

52 51 50 5525
13.4 mae weas=r (Independent Events)
52 Ufamt €t gt &9 fear U3 oee © ytiar 3 fegrg a9 fan feg 99 iifesa wesT & Av-
A=t Hfemr Jfenm J Aad EM3 F gu=Ta: west=t ‘dfemr Jfemr darfaster I ma
‘Afgmr Ifemm U3 fea fear 37 § sam@e os, 37

13 1>7-|3f 4 1
= —=— T P(F)=—=—
ME) 52 4 q ® 52 13
a5 It ‘E W3 F ‘dfenr Ifenr U3 fost e ffar 97 § sanr@e 9,
1
1
_ P(EmF)_i_l
fer wet PER = "p@ ~1 2
1 13
faQfa P(E)=Z=P(E|F),€‘Mm°r'6rﬁrﬂa—é’a+1%(m2?§r F e ufeg e &t gesT &

wesT E O AgTesT I JF AT &1 utfemT |
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1
. - _ P(EmF)_i_i_
g feg St yuz I far P(F|E)——P(E) —1—13—P(F)
1 4
ggar P(F) = 3 = P(FIE) ean@eT J fa weaT E € wfe3l I & guaT 3 wesT F &t
HI™R&T 3 A8 MAg &9t utfenT |

fen &€t En3 F fen 397 &t wea=t 95 fa fan ffq wesT € wies d= < guar gt
WeaT & AgT<aT 3 U AT sat e et I |
fen yamg €t weas=t & nime wesTet afde 95 |

ufgsmar 2: T Wes=RT E w3 F § miae wea=t afde 96 Add
P(F| E) = P(F) w& fa P(E) =0
P(E| F) = P(E) w& fr P(F) =0

few yarg ufggmr f&g P(E) = 0wz P(F) = 0 3= et T |

ge Ag=sTE gIeT feoH 3

P(E N F) = P(E) P(FIE) . (D)
FAd EMI Frme weas=i e 3t (1) I g wserd fa

P(E A F) = P(E) P(F) - (2

fem et (2) © femaws 3wt € wear=t € maret § I fout 397 ufssfag a9
A I |
ufggmr 3: H& & Em3 Ffan 939319 y&ar € <&t AHT €t € wes™=t 95, 37 E
MI FoiaTe WeaT=t gt 96 Hdd
PENF) =PE) P(F)
feust
1. Suwes=et Ew3d F»mfaad (dependent) afde at, A9 §o mAe a7 = o<
F99 P(EF) % PE) . P(F) T
2. IE-JC MHAE WS MI MR ST fe2ast wesTeT € fegad gaH Uer der J |
‘e wesTe g ufggr ‘westet € AgesT € gy S st ot 9 A fa
‘mrun ST fasaat weas=t €t ufggmr ‘wes=t’ € gu feg At ot I i fen 3
fewrer, mirun ST fa2awt weaT=T fE9 aet <t a3 AeT BT &dt I AdeT J Ud
e WesTe ST 53 AET &T1 T <t Ade 765, Hdd I9d WesT &T-4&T T | ATE
39 T wAE W=t W3 Wrun 9 fa2ast weas=t s &at 35 |
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g+ Heet &9, A9 € fed mifaah nime weatet weehit s fagsT et AigreaT
319 fARad 7, 37 QU nun 9 fa2a®t aat T Aot 96 188 39 '3 Add < 319 fiAed
AgT=aT BT wrur 39 faeast weatet weehdt 05, 3T €9 miae &at T
AFEt 75 |
3. € 93939 YW miAe QT 95, Add 99d WesT A3 E w3 F 3¢, fig E
ufa® y@iar 3 »3 F g1 y&iar 3 mafus gs, wea=t Ew3 F e s s ufeg de <t
HI=&T, Ad €= YWdr Y3 a3 7', Hg™=aT P(E) 3 P(F) € 3e5es € 9989
It g5, fAgst e ufgass €2 yuar € Mug 3 Y-y Ji3T 7T J, I
P(ENF) = P(E), P(F)
4. f3swes=t A, B m3 C § viae faur AfeT I 7d9 M3 a8 Add
P(AnB) = P(A) P(B)
P(ANC) = P(A) P(C)
P(BNC) = P(B) P(C)

-~

LI ES P(ANBNC) = P(A) P(B) P(C)
Hag €73 &3 &9 ufe- ufe fEq <t mez /o a4t gt T 37 &3t It wes=t &
WHE &It fagr Arer |

Gemae 10: €T uw & fEq Tt Hfen Afer T |wes™ ‘UH 3 YUz Afenm 3 evgred J7,
& E 33 Ui I Y3 Afterr fAmz 97, & F 3 fagfuz digr e 3 &R at west=t E
M3 F HAe I5?

J&: wAt Aree gt fq few year er fsait miw 9, S={1,2, 3, 4,5, 6}

a= E={3,6},F={2 4,6} m3 ENF={6}

; 2.1 _3_ 1.3 1
3t PE) = £=7, P(A= =23 PEN A=
re3ed P(E ~ F) = P(E) . P(F)

fen &€t E 73 F niAe Wea=r 35 |
Gegme 11: feq fsauy (unbiased) U™ § € =at Hfewm famrm I e 32 A wesT
‘Ufgst & 3 efa Aftm yuz 7 w3 B wesT ‘ght 8% 3 i After yruz
IS Sem 9T s | weas=t A w3 B € vime T fadhue a9 |
J%: 79 AT 36 NiST wes™=t & AH- Ag™=T Hfenr A< 37

18 1 18 1

P(A)=—o=> wJ P(B)="o==
(A) %2 (B) %2

&% It P(A N B) = P(8< Gt f[<T i Aftmm yruzr g<m)
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< P(A) . P(B) = 55=

P(A N B) =P(A) . P(B)

fern st A 73 B viae wes=t 75 |
Geraaw 12: 3w fifamt & Hfew fapnr T 1 s 38 Ewes* f3w fog At f3s ue yuz
JeV M3 F weasT‘ ufe-we € ff3 yuz v M3 Guwes™  FU 3 U ye YUz i
& Teng¥ 95173 (EF), (EG) W3 (FG) <9 fava-fags »ae 35 ¢ faus-faus
feggg g5 ?
J%: YT € S&d1T AHT I

S={HHH, HHT, HTH, THH, HTT, THT, TTH, TTT}

g 393, E={HHH, TTT}, F={HHH, HHT, HTH, THH}
KES G={HHT, HTH, THH, HTT, THT, TTH, TTT}
&% E ~ F={HHH}, EmG={TTT} FmG={ HHT, HTH, THH}
2 1
few wet PE) = 5= P = g—‘ P(G) = g
1 1 3
PENF) =5 PENG) =2, PFNO) = ¢
111 1.7 7 7 7
awdt PE) . PF) = ;=5 PE)- P(G)_—x§_§m3 P(F)- F>(c;)__x§_E
ferr &t PE N F) = P(E) . P(F)
P(E N G) # P(E) . P(G)
3 P(F N G) = P(F) . P(G)

fen et wes=t (Em3 F) mae 7& A fa weas=t (Fm3 G) M3 (EW3 G) mmwfas
T |
Qegae 13: (AU g9 fa Add EM3 F & miae Wes'= 76 3T E w3 F miwe Jait |
Iw: fa@fa EmI Frme s, fer®&st PENF) = PE).PE .. (1)
fg39 13.3 S5y fogg I feo mume T fa En Fma E N F wrun &9 fasast
Wes= I& M3 &S It

E=EnRPUENF)
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fa@fa En Fw3 E N F wrur {39 fasast 75,

fR®et  PE)=PENF)+PENF) TN S
7  PENF)=PE) -PENF N uF
=P(E) - P(E) . P(F) (1) &
= P(E) [1- P(F
=P(E) . P(F) (ENF") (ERF)  (E'NF)

fen ®et E M3 F A Wea'=t 75,

fem yarg feg gantfen A7 AaeT I fa

(@Q E w3 Foaed
(b) EE w3 F miaed

fg3913. 3

Eergas 14: 799 AMT B wae Wes'= I& 3T, A AF B fI9 we- ufe fifg € d= <t
Hg=ar = 1- P(A') P(B)
% P(A A7 B f&5 ufe- ufe feg er g=m) =P(A U B)

=P(A) + P(B) - P(A n B)

=P(A) + P(B) — P(A) P(B)

=P(A) + P(B) [1-P(A)]

=P(A) + P(B) . PA"

=1- P(A") + P(B) P(A")

=1- P(A") [1- P(B)]

=1- P(A") P(B)

| e 13.2 |

1. 7gg P(A) =z P(B) =c M3 AM3 Brae wes =t 5 3T P(A NB) u3Tad |

2. 52 Ufamt &t fex aret fE9° 93931t &% faast au8 e U de Y |82 UfamT e &
JIT T IS T AT=FTUITES |

3. A3font © 83" gan e fadtus O@n ST §3d3idt s said sed fSs AT ae a ai3T
e d 1799 {38 de I€ A39 9d1 IS 3T 990 & T9< BT ALlATd 13T Aer g &4t 3
WA<IITd a9 fde 95 | fieq gan, fan 9 15 #39 96 fAust fiS9° 12 99T wia 3 4y
39 75, ot feadl et Aeiad I et Ag=aT u3T a4 |
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4.

10.

11.

12.

13.

afez

feq faquy fifar w3 fEq fagdy R § Hfen faprm 1 Yis 58 A wes™ ‘g 3
f@3»@er M3 B wesT ‘U 3 Aftrr 3 mEer’ & TanE e 9% | fadtue a9 fa
wes=t A M3 B wEE IS A &1 ?

. RBqur 31,23 38T EEMI 4,5, 673 JaT 55 feuae g5 I femn uw &

Hfew fardm 1 Vis &6 A weaT ¢ Afgur fanag 3 w3 B wesT  Aftod™ 7% Ja1 7%
fout 98t 37, & com@e U5 1dt Am3 B oiae 95 7

s 58 En3 F & weaet for 53+ 75 i P(E) =g,P(F) =% W3 P(EAP

1 -
= —3ITAEMIT Fruae 95?7

5
A wF B feT fradt wearer fidh T P(A)=%,P(AUB) =g’ -
P(B) =pdJ!| p € NS U3Tdd 7a9 (i) wesr=r nun &9 fasammt a& (ii)
WIS e I& |

"o 38 A w3 B wiae wea=r 35 M3 P(A) = 0.3 W3 P(B) =04. J,3F
() P(A N B) (i) P(A U B)
(i) P(A[B) (V) P(B|A)uSTad|
st Tt wearer A w3 B fed fdbo 7, B PA) =7, P(B)= 5
p(AmB)=%s+P(A-m=rm@rB-m=r'> y3r 5T
Vo B8 Awd B feT frdhr weaer a5 fx P(A) = % w3 P(B) = % s
PA-mt w3 B-adt) =% ot AmS B W weEE 37
AnMI Bwae wese &gt gs fig P(A) =0.3, M3 P(B) = 0.6 3t
() P(A "3 B) (i) P(A W3 B-adt)
(iii) P(A 7 B) (V) P(A w3 B &5 gt &dt ) = ifs ugr a9 |
fea ui & 35 =t Hfewm Aier 9 37 Ufe Wz feq Tdt efa Aftrr yruz J< &t
AI=ETUITIS |
€ greT fea 39 &9 fas™ 9e® ae AeT & IST fS9 10 Isma § &%
et gs ITAFEETUITIS [T (i) e e B I, (i) ufastasT I eat &%
g (iii) g ast I et s& T



Hg=ar 435
Y . . - . ¥ . , 1 .
14. feg ym i § Am3 B Idt wiael 378 I8 96 € HIes'= gHEd PRl

51 8, e s o s ot < i o s, 3 e o
fa:
(i) mifdr I J=ait|
(i) s iS5 a=s fev ffa I gaar|
15. Im T 52 Ufanwt &t fea 2t Jet gret fEe° i U3T §393tet &% afenT Arer &
Jo forbnt iS5 faost gwat iR wea=t Ema Fuae 7
() E: ‘dfemr Jfemr O3 ga e J|
F : ‘afemr gfemr U3r fear T
(i) E: ‘dfemr Ifemm dar & garev T
F : ‘dfemr Jfemr U3 gena T |
(iii) E: ‘dfemr Jfemr U3 genrg A §a I
F : ‘dfemr Jfemm U3 e AT & H T |
16. fea IHes ST 60% fefenmaat fdet v, 40% »iargdt v w3 20% €< IH'="
T 0yEd UFT 95 | B fefenradt § §393tat 5% gfenm A I
() FgT=aT Uz A fa €U a7 3T fJ€t w3 &7 Tt »igewt € Muygg ugeT I
(b) w9 € fJ<t & g9 uger I 3T GRE iagwt € »yg9 <t ugs T T IS
SHT =T U3TAT |
(c) a9 U igeHt € myeg uger g 3T Gre It v niyw9 <t ugs @ T, I
Cik:cieragicatc ol
17. w9 yrft g7 & 73T Hfewm AteT § 37 99d W 3 fAns wigma Afadr yruzs
J< <t Ag=aT Jo fafipt feg st I 2

1 1 1
(A) 0 B) 3 © 3 (D) o
18. Twes=t A M3 B & »un &9 »iae Ifde I8, Ad9
(A) Am3 Bwmun i fadaehnias (B)P(A'B') = [1-P(A)][1-P(B)]
(C) P(A) = P(B) (D)P(A) + P(B) = 1

13.5 gud-yHa (Bayes Theorem)

= a = [V

Ho s faead M3 |l F3ITI5 188 1S9 2 ARe w3 3 % deds 188 || fET



436  Jfez

4 ARE MT 5 B Jie 35 | fan fea 8 9 e e 939314t &% o=t Afet 7 | mAt

~ N AN o o 1 -~ . . ~ AN o 2 N .
fan fa 88 § goe St Ag=ar Ewwmwwﬁnww(%s@w ) f&s
ffgym dar (s B8 AeE) die & de< € Hg'=aT =t U3T J9 Agw J7 | I3 Auet &9
AT fai yT dar1 €1 3T dee € Hg'=aT UST Jd A Jf, Add ATg e 3T Ifenm 9= fa
Jie faux 88 <5 o=t Iret 1 Ug ot WAl fer 3T® €t Ag'=aT U3T a9 A< Jf fa are
fom v 88 (= 36 &5-11) &5 o<t aret T Ada A o<t gret are evdar usT 9 ? ey

WAT 8% || € g5 °f €8¢ AgTesT U3T ddat T A< o fere aoe I I3t weaT er
A& U3 J | YfHT Iife3ar A6 90 & 8% Ag™=aT U3™ dd6 ©F AN 87 9% IHa3

Ae=aT € fermaH® ot a3 9 1 §ust € H39 §6d YW &F 3 Afenm arer I fagsT
Sust & W3 € e 1763 €. <9 ygarfaz Jet At | 89w € d8& w3 g3 3 ufost
g fEq ufggmr m3 g¥ Hewrst &3ttt 3 feeg aqd |
13.5.1 f&q <=ait AHT & fegws (Partition of a sample space)
WS E |, E, ... E, € MY & Fad AT S T fegs garfenT AteT I Adq:
(@ ENE=¢,i#ji,j=123 .n
(b) E,UE,U.UE=S"3
(c) P(E)>0,3dx i=1,2 .., NS I<I
e mget fS9, Wea=TE , E,, ... E a9t iyT S© fegmrs & son@ et 95 Aad
Gv Afant @ 39 3 319 AUT3 I8, Ad=aiT 96 M3 BuaT €f Ag=aT Jia-fARd 95 |
Gegae € 39 3, At Tue If fa det wesT En3 GAEt yaq weaT E' &3t AT
Serfegms s fa@fa ENE =¢mM3 EUE =S.
T&-3ur 939 13.3, 3wl miArst 3 Ufuz o9 Ao ot fd Agg Em3 F fan <&ait
AT S € A8 deT € wea=t 95,37 {ENF EnF} AT Eer féq fegms 71
T {ENFRENFEnNF} Adg Eu F e €7 fegws § W3 Ay
{(ENF,ENFE NnF E NF} Ayds miT Ser g fegms &
g WAt AYTs Ag=aT & yiw § g Jafar|

13.5.2 HYI& AT € YHW (Theorem of Total Probability)
H& B89 {E  E,...E} saditmyg S, e fox fegms I w3 e 88 fx sdq wes E,,
E, ....E, € Ag=ar do-fHead I s 88 A Faait mye € A9 feq wear 3,

P(A) =P(E) PAE) + PE,) P(AJE) + ... + P(E) P(AIE)
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= ZP(Ej)P(A | Ej)
j=1

Gaust: fesrdfewrdfa ELE, ... E Taat mu Serfea fesms d (f63913.4) few
BeE,

S=E,UEU..VE, ...(
e ENnE=¢Vi#ji,j=12..,n
S U3t J fa fam wesr A, gt
A=ANS 2
=An(E,UE,..E) fg93913. 4

=(AnE)UANE)VU.U(ANE)
sEITANE, M3 ANE, W= AydT E w3 E € Qumyu a5 fAg | # 3, &8t
grras Isfen et i#j, 0,j=1,2..,n8E A NE "3 ANE a3 I8 |
fem et P(A) =P(ANE)U(ANE)U...U(ANE)]
=P(ANE)+PANE)+..+PANE)
= P(A N E)=P(E) P(AE) faGfs P(E)=0vi=12..n
AgTesT @ greT faud aat At Aree of fa
fem et P(A) = P(E) P(AIE) + P(E,) P(AIE) + ... + P(E) P(AIE)

At P(A) = X P(E))P(A|E))
j=1

Gegae 15: fan femagt & fEa faans aad e &7 fon T 1 933 J< o Ag=ar
0.65 J 133 &7 IS € M3 IIIH J< & IB3T fT9 fsare Iam € AMT MEA™g yar
JT S AgRS=T gHEE: 0.80 M3 0.32 I& | f&aH™= J9H AN WgH™E YaT 9 € Ag=aT
U3Tdq |
i%: He 88 fa ‘fearre gam &7 AN #igHd Yar 97 & weaT™ & A 3 ‘T335 97
g weasT & B a7t fafumr Ater I I g P(A) UST J96T I I U3T J fa
P(B) = 0.65, P(@33™® adt) =P(B) = 1 - P(B) = 1 — 0.65=0.35
P(A | B) = 0.32, P(A | B) = 0.80

fa@fa wes=t B W3 B’ A3 AYT & fegs J fenset Ayds AgresT yiw ardt

=P(B) . P(A | B) + P(B") P(A | B)

=0.65x%x0.32+0.35%x0.8
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=0.208 +0.28 = 0.488
fen Bet fagH= arad AN WgHE YT 9 & Ag=aT 0.488 T
< vl §Wa-YHY ©F Jus fsuiar M3 fend fiu aatar |
¥-YNT (Bayes Theorem) #ad E, E, ..., E ™48t wea=t g5 fAst fa <aait
AHT S¥ feges e feane qeett s 972 E | E, ..., E Afedr fSe ™83 96 »3
EUEU,.., UE,=ST»3 Ade wear I fanet Ag=aT gig-figa 7, 3°
PEJA) = nP(E‘)P(AlE‘) ,i=1,2,3,..,n
Z;P(E,-)P(AIE,-)
=

Gaust Az I fa

P(ANE)

PEIA) = T PA)
_ P(E)PAIE) . S
= —P(A) (Ag=sTEaeT 3
P(E)PAIE) gz = s T)

> PE)PAIE))
j=1

feuet sum-yw € feraws <9 Jot faut meer=s! =gt Aet &: wes=t E,E,, ...E,
& ufga®usT (hypotheses) afde I& |
P(E) & ufsasuaT E €t ya=ars &t fgr=sT (apriori )afde 95 | aHag Ag=aT
P(E A) & ufsasuaT E &t §°39a® &t (aposteriori) Agr=ar afde 75|
SOH-YNT § Jaet € AgT=aT €T 539 & faur Ater I | faffa E Sxait mig S€
fea fegmrs e faanre q9e I5 fen Bt wea=t E {9 fifa mi fiSe feq w3 a=8
fea It weet I (I= E, &9 a=w ffa ot wear weet I »3 ffq 3 Su aat wfes T
Aaet 75) fen et §3 fearp3a g fan v E, (3= ffx age )&t ig=ar fder &
e fa west A e wfes ger faagr gfenmr 31
TH-YN &t SY-2Y 83T fF9 293 Gar T | fevsT S5 a3 & Jo-fatn Gergaet
feo mime stz fapur T
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Geuac 16: €88 | M3 || E3 75| 88 | ST 3 T&MI 4 IBMT I T& A
fa &8 1l ff95 T MI 6 TS Iret g6 | fan Ex 88 fe< gz3adist o fea aie
aEt aret faost fa &% Jar &t 7 | few of® &t ot igesr T fa feg gie &3 || fI5° =t
et I ?

7% 6B WesTE, @13 88 | §, WesTE, S I &8 || I3 A ZB die ddee

& Tanrget J1

+ PE) =PE) = 5

sEd PAIE) = PES | R s o e ) =
"3 P(A|E2)=P(€r§s||%—€*wéme°raﬁ'—ea?esr)=l—51

IcEg |l feg diecdes dtiges, Ac fafeouar I faGuswm darat T =
P(E,IA),

1 5
o P(E,)P(A | E,) __2u B
FoE-yw T PEJA) = PE)P(AIE)+PE)PAIE,) 1 3,1 5 68

277 211

Gergas 17: f3sf&a fag gaw |, || M3 1| f€3 o fAE g9 feu € fAa o5 1gar | feT
o< g A& € 95, 9o || ffg €< fifa 9iet & 95 w3 gan ||| e ffa id w3 ffa giet
o fiar 3 | foq feasas 939314t 5% fea ganT geer I W3 67 fe9 g393iyt o i
ffar deerJ | 7ad fiar i €7 7, 37 fen ol €t ot figresT d fa gan e gar fifar St /g
arg?

% : He B9 E, E,»3 E,qu=<: 5o |, l| M3 |l € 9= § Tan@< 75 |

. 1
3T P(E) =P(E) =P(E) = 3
5% e 38 A wesT ‘dfenr Jfenr fiar Ag a7 3’ & sanr@e 71
3t P(A|E1)=P(aaﬁl?ﬁ%?fﬁw§€3‘r):%=1

—

P(AIE,) = P(gaw |l 3'R& & fiar aeer) =0

P(AIE,) = P(ga Il 3* A& =T fHar o=ear) =

N[
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g< gan &9 gar fifar &t Ad €7 d< & Ag=ar
= ofew fHar 7s € gan | 9" 3= <t Agr=sr

=P(E,|A)
HE ) = P(E) PAIE,)
' P(E,) PAIE,) +P(E,) P(A[E,) + P(E;) P(A[E;)
1
.3t 2
1><1+1x0+1x1 3
3 3 2

Gemaw 18: Ha B8 fa fda ma. wmret. . yifuwie &t femem Garsr 36 fed yaa I
g, oret. . ufafes femadtnt set ytfume 90% usT Sare ffg w3 10% U3 5T
BIIE € WaT J 1T, mret. . 3 mimre fema gt 3T, yifvmie 99% Adt usT sar@er
FE Y. mret. St Saitfew eneT I Ae fa 1% yifums femaatmt set Uetee SAe T
feq T3T A% Afeenr fam fE9° 0.1% femaast Wi, wret. <t . e faag 95, &9 foa fenast
393t gfewr aier T Mz Gver Yifune a3 7re 3 31 fefamst #g. nret. <t e
faarg ¥reT T | ot AgresT T fa €9 fonast wins ffe wie. wret. &t v faga 377
75 V& 38 fa E9S fonadt € »iAg feg g wet. St Udlee Je dtwesTImad A
fenagt & wig. wret. St yifume 99 Ustee I <t wea I wirt P(EJA) U™ daat 7|
5% It E' g fonast € #g. mret. <. Ueitee 57 9 St weaT § gan@er J |
AuRe 39 3 {E, E'} A& Afenr &9 Ad fenadtit € S=ait ayo e ffa
fesAs TIAg usT J !

0.1
= 0.1% =——=0.001
P(E) = 0.1% =7

P(E") = 1—P (E) = 0.999
P(A| E) = P (fena3t e yifume f&g #e. »iret. <. Usdtee mrEer Ae” fa »ins

~ 2 —_ EN 9
feg nignret. S Udle= 7) = 90% = E=0.9
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M3 PAE) = P (femast e yifume f&g . niet. &t Ueftee mr@e A< fa »ins
fSgwg. wret. &t Uete= 391 T) = 1% =0.01
< §UE-YNH gdt

B P(E) P(A|E)
P(EIA) = P(E)P(A|E)+P(E)P(A |E)
0.001x 0.9 0

0.001x0.9+0.999<0.0L 1089 0.083 (®argdr)

fen wet fea g393tat o7% g 9¢ fonast & vins feg wie . wret. <t Udftee I <t
FoesT, Ae fa uzT I fa G er yifume Uste= 9, 0.083 T |
Gugge 19: fEq §%c g € Toys fE9 Witas™ A, B w3 Cg® Ue'=d @ gHed
25%, 35% T 40% §B< a=@ T 05 | fegaT HilaT € Ueed €T gHe™a 5, 4, M3 2
U3 gaTHaTE I | §%et € g% Uered 95 o i §393tat o dfemr arer g miz
yag yrfem Afer 7 | fenet ot fgresT I fa €T §%e Hits B gt gerfemT gfemr 3 ?
75 Vs 58 fa wea=t B, B,, B, J5 fau 3§t 75
B, : §8<¢ Wrls A gt sfenr T
B, : §8¢ Wrls B grat sfewr 31
B, : §8¢ WHls Carat sfenm 31

Ag 39 3 wes=t B, B,, B, mun fS9 fs2ast m3 ufsuse 95 15 86 fa wear
E Jo f&t 3g7 T ES®ec uag T |
wesT E, weat=t B, A B, AT B, 578 wfeg 3et 71fd3r ¢

P(B,) = 25% = 0.25, P (B,) =0.35%3 P(B,) = 0.40
gu¥9r P(EB)) =8¢ yag I € Ag=aT Ae fe3T 3= fa Gu vits B aat sfewr |
=5%=0.05
fer 33t P(EB, =0.04, P(EB,) = 0.02
FAH-YNH JIt
P(B,) P(EIB,)

P(B,) P(EIB,) + P(B,) P(EIB,) + P(B;) P(E+[B;)

P(B,IE)

0.35x0.04 - 0.0140 28
0.25%0.05+0.35x0.04 + 0.40x0.02  0.0345 69
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Eemae 20: BT 37aeg & & Iait § fue M@ J | ufost € Imefent 3 feguzr I
NV e - . e . 311 -2

fa €ne ¢, 97 7 Ageg A fan 39 T9s 3 Mg et Aigesr=t E,E,E’%’g

5| 7ad €T ¢, §° 7 Aged 3 meET I 3T EAT €9 &% weT €t AgesT=t
1 1 1

23 WET& U9 fam Jg =96 I M 3 Eng S9 adt &t T IAag o ea

5% nirfenT, 3T QAT S5 3 MET St AgTEsT U3T A9 |
i%: Ve 8 fa ‘Fdeg € Jait d® €9 57& e’ & wes™ ET | Add 39T € 5,
ﬁ,w#ﬁﬁ%waﬁw@ze’hﬁWwT T, T,n3 T,33F
P(T)‘ F’(T) P(Ts)— »BP( 4)— ({EE)|
1

P(E[T,) =m@%ﬁw§3§%wuﬁwe’rﬁm =3

fer yams P(E[T,) = % P(E[T,) = % PE[T,) =0, fa€fa g =os st mr@= 3 W&
o9 &dt J=ait |

< SEH-YHT It

P(T,|E) = 379ed It €9 5% MG I ¢& It Mg &t ig=ar

_ P(T) PEIT)
P(T,) P(EITy) + P(T,) P(E[T,) + P(T3) P(E[T5)+ P(T,)P(E[T,)
3 1
_ 10”4 _8,10_1
S8.1.11.1 1.2 . 4 18 2

S+ =X =x0
10 4 5 3 10 12 5
1

fen wet F3<t Ag=aT 2:r|

Gegee 21: e ferat e g uzr I fa v 4 &9 3 =dtAv g T 18T ffauw
& Heer I mz ener I fa @< =t fifanr 6 T feret AgresT ugr a9 fa uw 3 wgs
TSt Afeorr ww ff9 6 T

i Vs 88 fa E, fenast gt uw § He a feu one & fa 8w 3 »r@s ==t i
6 I’ ueasr I Vs B fa S, u 3 Afterm 6 wrET T wesT I S, uH I Afeur
6 &It mET Tt weaT J|

P(S) = A 6 #rET &t wesT & Agr=aT = 5
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oo

P(S,) = Afinr 6 »m@= &t weaT € Ag=aT =
P(E|S) = fenast ardt feg €xe 3 fa u &t After 6 I 7e fg ui 3 @ ==t
Afew v &9 6 T <t fgrear

Mlw

= fona3t © H9 §%< T Ag=ar =
P(E[S,) = fenast ardt feg €re 3 uw 3 Afunr 6 T A€ fa ui 3 wr@e =5t
At wins f@9 6 aat T €F Ag<aT

~ PR o 3
=hnﬁ3}mﬁwarme?w=l—z—

D

< §WE-YHH gdt
P(SE) = fenast gt feg ene & Agr=ar fa Afunr 6 I, Ae wAs fR9 6

=

24

P(S) PEIS) ¥
8

_ _ 6
- P(S)PEIS)+PS,)PES,) 1 3
4

®©| =
ol w

3
4 =
5 1
5.1
6 4

o |

few 52t el e - 31
feq 93931 9% €u eus Jer J faner yi3 fan §393te Yue e Saait AHo der J |
Gergaes € wet, G fEq ffa & € ¥9 Bars Geae € Yus Gus fegg ag |
y&raT @ €&ait AYT I S={HH, HT, TH, TT}
#ag X yru3 o3t &t farest & ean@er 3 37 X ffq 939319 9% I M3 99 ufge™
€ &gl fen v ¥ J& nignmg fe3m famr 3
XHH)=2,XHT) =1, X(TH)=1, X (TT)=0
fea 7t T=ait AyT 3 ffq 3° Tu 939319 98 ufge ez i3 A7 Aae 75 |
Gegge € Bt is BE fa Y, <591t AHT S € 339 ufae™ € Bet 93t €t arfest
feg’ uet €t farest € we§ § sawfer g, 3t
Y (HH)=2,Y (HT)=0,Y (TH)=0,Y (TT) =2
fer &€t X3 Y, <a9it myg ST € f9s 9393ty 9 ufsefag a3 ae 5|
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| niferrmr 13.3 |

1. AT amr g5 FBEMI 5 TBMT IreT 75 | §39314t &% fed are aet Al J,
fAveT 391 &< 996 € ge TEaT auN &9 uT fia 3t ATt T | I 38 Jar bt 2
J9 dret g &9 ur &3t Aieh 95 M3 Ion feu' fea are d<t Atet I 1 gt
Tt T I A ATSTATT?

2. R Es S04 TTMI 4 TBATIC 6 M3 88 T 2 3B MI 6 TBAT
dret g5 | €< &fen (99" feq & §393tet a7% gfenr Arer I w3 € &9 fea
die o<t 7t 7 faost fa & T | fon dts &t &t fgesr J fa gre ufod &8 f<
agt 7

3. fegyzraq fa fea arow € fefenmmaatt fS5° 60% dres fET afde a5 W3 40%
Ines f9 adt 3fde oa | ufgst € Arst € &30 Afes Jov U6 fq dnes e
Ifas =8 fefemraghit f&5° 30% w3 Tres T & Ifacs =& fefenmaatmt
29 20% fefenragtnt & A-I0F fonm | s & i3 I aren € foa fefenmagt
& §393tet 7% gfewT fapur w3 feg urfen faprr fa @ng A-a9s fufemT T 1 few
1% &t at AgresT I fa € fefenradt drew feg sfas = a7

4. feq gg-feamit yas e €39 e< < fea fefenradt At 3t yrs ev€3g Areer
T Qe B i o @ @w e e, o e

sarge et Ag=sT iﬁl%@ﬁhﬁﬂﬁ@%@@%ﬁ?ﬂww@?

3wt Qe e e @ 3 few b @ oft e 3 fr e fefemadt
yAs T €39 Areer I #Ha9 feg uzT I fa §na mat €39 fesr a7

5. fai ym 3a1 € Aat Yifuwie et ¥ € A9 99% MAged 7, A W% fEg 3ait 67
31 3 Wifa3 I 1ug 0.5% =<t fan st fenast € ¥y €t At d9s 3 Ulftmie s
falige féer T = fomaat § Jar 3 uifas ener I | Ad9 fam wiaret <9 0.1% Sar
€W Jar 3 Wif33 95 3 &t fAgTeaT T fa aet §393tet 578 gfeom Jfem fenaat
€W 3a1 3 Wtfa3 I=ar Ad9 67e ys et e ffe S ater 9 fa Gng feg dara ?

6. fasfia fea os Ifed ffa & < um foa T 1ga ffar Tyt I far fee o 75%
Tt W@ et T wF Far e foaty T | f3at fe< T fifar §393ist o8 gfenr
faruT wig QerfenT fapur | fag fifar 3 f9g m@er §, 3t ot AgresT I fa B &<
feg =@ ffad g5 ?




7.

10.

11.

12.

13.
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féa g Ut 2000 AgeT I7&dT, 4000 I THBAT HI 6000 ST T §HT Jet
T | gowes = et AgreaTer gH=Ta: 0.01, 0.03 W3 0.15 J I fHT Jd=8< =&
gt f&9 € gowesT 3 Wifa3 § 7T 7 | BF femast € Aged o7&a d< &t
AgeaTat I ?

feaq araud feg A3 B HAtaT & | Ufo® feeds 3 3T &aeT J fa 9% tereg
T 60% HHtS AmT 40% HHTES B It Uer a3t Atet T | fen 3 feser vits A
T 2% M HHIS B ET1% UeTed 499 J | Hdd o & UeTeTd &F f¥q €9 g7 fomT
AeT I M3 O €9 3§39t 57 et aret @Rg uaty 9=, 3T fen @ng € HHts
ATdt € T Et ot AgeaT I ?

g Bt feq faam & foera Ha® <9 ue yu3 ads &et Haed f9 75|
ufast 3 gat 8t € fAge et Ag=a=r gHEa 0.6 »3 0.4 I& | fen 3 fewrer
Hag ufgst 2wt friget I 3t fiq 52 €3ue € vy 9< € Ag=aT 0.7 I W3 Add
gHt &8t figet 9 37 fen ot & Aae AT 0.3 7| fer &t fig=asT usTad fa
=t §3ue gH €% It By 13T fapdT I |

He 58 fa aet g3t ffq umr Heet I 1 7ae 0 5 7 6 At yruz gt 9 3t
€1 fea fifar f3s =dt Gt T w3 93 W< &t fares3t &< a9t 71 7d9
ev& 1, 2, 3 7 4 Afwr yruz gt 7 37 €9 fea fifa »rBer fea =<t Geaet
T w3 feg &< goet T fa Enz o3 7 Ue mrer | vag §ng ota fea f93
Y3 gerd, tEae et e ¥ U 3 1, 2, 3 A 4 T S Ag=sT At 97
ffa faaaT e d% A, B W3 CHHlE MUded I& | UfasT mruded A 1% yard
ATt se8TT T M3 MTUded B M3 C qH=d 5% M 7% Hd™S ANTIET 58T
I& 1 T9H T AI® 50% AT BIrQET I, B & AHT @ 30% M3 C I& AHT &
20% Barger I | Aad ffa yag miaret gt 9 3T g A It s G =t
Ag=aTat I ?

52 Ufamit &t 3w €t It f*9° i uzT aremg Aier 7 | grat Ufant feg' @ U3 aw
AT s fAas ffe e s Igew U3 e ffe e Je S at AgeaT J7?

A it st e S e« 31 B Qe e 33 A e d
93 wifemT T | mins &9 feg wife &t AgesT T

4 1 1 2
(A) 5 (B) > © = (D) 5
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14. 7Agd A w3 B feg fadhdt wes=t g5 fa A B I w3 P(B) = 0J 3t J&F
fafimt f<9° faost sta o
P(B)

(A) P(AIB)=m (B) P(AB) < P(A)
(C) P(A[B) > P(A) (D) feust &S a¢t st
geds feae
EGergge 22. 99 Sfat f&9 Jaits aret I& &t Agst MeAe 75 -
Ex:u gar
BT Aee S atsr
| 3 4 5 6
I 2 2 2 2
[l 1 2 3 1
v 4 3 1 5
fea i35 § 9393t 5% gfen fapur w3z 9 Gw IS ST Jet aret Ivag diw e

Jar T I 3 feret At Ag=aT I fa e § 39 11| ff9 dfemr J |

75 Ma 88 A, E, E, E,»3 E, 35 €3 377 58 ufeeig wes=t 75 :

A g astaedeeT E :39-1§tS<
E,: Sa-1l €t E,: 8-l &t 9=
E,: S¥-IVatse
fa@fa sfamt & g3a3tdt 575 gfenm T
1
femsdt  PE)=PE)=PE)=PE) =,

3 2 1 R 4
swd  PAE) =15 PAE) = 5, P(AIE) = - "3 P(AIE) = 3

PEE- Ill etse A fauzrd faaztare a€ta)
= P(E|A) 55H YN Jrat
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e PE).PAIE)
=AY = P(E,)P(A|E,) +P(E,) P(A|E,) + P(E;) P(A|E;) + P(E, ) P(A|E,)

X +—X

4 18 4 4 4 7 4 13
Gemgw 23. An3 B Tt fAg fea U & Hew g8 Ae 34 fa §uat &9 agt fda uw
T EYUI I 43 fAz a0t e I7dd A 3 U3 HY e 37 8uat & fize et grea
HI=RETUITHT |
7% e B8 SHe®3T™ (UR T 6 MEer) §m3 F miAes3™ (URI 6 avmEeT) &
TIQT IS |

o el P(S):é, P(F)=§

P(A & ufist @t Few i fifge) = P(S) = %

A% It G e ar 3T fuser d A A§ ufost G fRe M3 B grt €=
feg nmes3T fuset I | fen wet

2
P(A T 3t e &9 fAgeT) = P(FFS) = P(F)P(F)P(S)zgxgx% :[gj x%
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() €< dfomt T W3 It Ag=sT U3 d9 Had feg uaT J fa &< gfomt &5
we-uwe fea iz i
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1 1[3x+1) . _1[x+3)
—tan +C sn—| —|+C
11. 6 > 12. 2

3 > [ZX 3]
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